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Q.1

Select the correct mirror image of the given figure when the mirror is placed at MIN as shown below.

M
hiEraRchY|
N

- YraAs13id
<= yrlafAs13in
<> YHoAsAin

<+ yHafls13in

Ans

Question ID : 26433085560
Status : Answered
Chosen Option : 1

Q.2 In a certain code language, ‘heart games’ is coded as ‘alarm coffee’, ‘wrap’ is coded as

‘bottle’, and ‘wrap games’ is coded as ‘bottle coffee’. What is the code word for
‘heart’?

Ans 7 1. alarm
X 2. wrap
5 3. bottle
&< 4. coffee

Question ID : 26433079365
Status : Answered
Chosen Option : 1
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Q.3 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
15:4::21:6::42:7

Ans X 1.8
X 2.12
o 3.13
X 4.1

Question ID : 26433069416
Status : Answered
Chosen Option : 3

Q.4 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Argentina : Peso :: Japan : ?

Ans  # 1.Yen
< 2.Rial
X 3. Krona
< 4. Guilder

Question ID : 26433067369
Status : Answered
Chosen Option : 1

Q.5 Select the option figure which is embedded in the given figure. (Rotation is NOT
allowed)

Question ID : 26433069334
Status : Answered
Chosen Option : 4
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Q.6 Which letter-cluster will replace the question mark (?) to complete the given series?
CJEZ, ?, WFYV, TDVT, QBSR

Ans X 1.AGCX
o 2. ZHBX
X 3.BGAW
X 4. BHAY

Question ID : 26433068039
Status : Answered
Chosen Option : 2

Q.7 Which of the numbers(not digits) should be interchanged in the below equation to
make it mathematically correct?
108 +9x 16 + 12 - 27 =126

Ans X 1.12and 27
o 2.9and 12
< 3.16and 9
X 4.27and 9

Question ID : 264330117492
Status : Answered
Chosen Option : 2

Q.8 Which two signs should be interchanged to make the below equation mathematically
correct?
44 -96 x4 +3 +58=30

Ans X 1.-and =+
K 2.xand +
K 3.+and-
o 4. +and x

Question ID : 264330114195
Status : Answered
Chosen Option : 4

Q.9 In a certain code language, '"ARGUE’ is written as '22620926' and 'BEACH' is written as
'1924262225'.How will '"ACCEL' be written in that language?

Ans X 1.1522226426
X 2.1524242426
75 3.1252242426
o 4. 15622242426

Question ID : 26433069553
Status : Answered
Chosen Option : 4
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Q.10 Six friends M, N, O, P, Q and R are sitting in a straight row facing north. Exactly three
people are sitting to the left of N. O is sitting immediately to the right of N. M and P are
immediate neighbours of Q such that M is the fourth to the left of O. Where is R
seated?

Ans X 1.Second to the left of N
&" 2. Third to the right of P
< 3. Immediate right of M
75 4. Third to the left of O

Question ID : 26433074526
Status : Answered
Chosen Option : 2

Q.11 Which letter-cluster will replace the question mark (?) to complete the given series?
ACEG, BDFH, ? , DFHJ, EGIK

Ans X 1.CDEF
« 2. CEGI
X 3.CFHJ
X 4.CEHI

Question ID : 26433067710
Status : Answered
Chosen Option : 2

Q.12 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 power
2 pour
3 powder
4 pointed
5 polite

Ans X 1.4253/1
o 2.4523,1
X 3.4352,1
X 4.42315

Question ID : 26433069283
Status : Answered
Chosen Option : 2
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Q13 Which figure should replace the question mark (?) if the series were to be

Ans

continued?
C

4
S

4
< 1.

B

/
X 2.

4

7
3

S

&
x4

A

Question ID : 26433076635
Status : Answered
Chosen Option : 2

Q.14 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of

Ans

consonants/vowels in the word.)
Goldsmith : Ornaments :: Sculptor : ?

2 1.Sand

25 2. Museum

< 3. Stone
¥ 4. Bust

Question ID : 26433069582
Status : Answered
Chosen Option : 3
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Q.15 Six people J, K, L, M, N and O are sitting around a circular table facing the centre. J
sits second to the right of N. O is an immediate neighbour of M and J. K sits second to
the left of L. Who sits to the immediate right of 0?

Ans X 1.K
X 2.N

o 3. M
X 4L

Question ID : 26433069479
Status : Answered
Chosen Option : 3

Q.16 Two different positions of the same dice are shown having numbers 1 to 6 represented as dots. Find the

number on the face opposite the face showing *5°.

Ans 1.4
X 26
K32
X 4.1

Question ID : 26433085524
Status : Answered
Chosen Option : 1

Q.17 Three statements are given followed by two conclusions. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow(s) from the statements.

Statements:

All tables are woods.

All woods are paints.

No paint is a steel.
Conclusions:

1. All steels can be woods.
2. Some paints are steels.

Ans X 1. Both conclusions 1 and 2 follow.
«” 2. Neither conclusion 1 nor 2 follows.
#< 3. Only conclusion 1 follows.

#5 4. Only conclusion 2 follows.

Question ID : 26433089422
Status : Answered
Chosen Option : 2
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Q.18 Which number will replace the question mark (?) in the following series?
1,5, 7, 25,41, 61

Ans X 1.10
o 2. 13
X 3.8
X 4.12

Question ID : 26433067842
Status : Answered
Chosen Option : 2

Q.19 Which of the following numbers will replace the question mark (?) in the given series?
16, 23, 34, 47, 64, ? , 106

Ans  # 1.83
2 2.9
< 3.98
< 4.86

Question ID : 26433070216
Status : Answered
Chosen Option : 1

Q.20 ‘A + B’ means ‘B is the father of A’
‘A — B’ means ‘B is the mother of A’
‘A @ B’ means ‘B is the brother of A’
‘A* B’ means ‘B is the son of A’
IfA*B+ C @D -E, then how is E related to A?

Ans X 1. Sister
75 2. Mother
" 3. Mother-in-law
#< 4. Brother’s wife

Question ID : 26433068532
Status : Answered
Chosen Option : 3

Section : Part-B-General Knowledge and General awareness

Q.1 An instrument that can detect the presence of a current in a circuit is known as

Ans X 1.odometer
75 2. speedometer
< 3. hygrometer

o 4. ammeter

Question ID : 26433089647
Status : Answered
Chosen Option : 4
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Q.2 Who has sworn in as 50th Chief Justice of India?
Ans X 1.Uday Umesh Lalit

%" 2. Dhananjaya Yashwant Chandrachud
#< 3. Sharad Arvind Bobde
75 4. Nuthalapati Venkata Ramana

Question ID : 264330114982
Status : Answered
Chosen Option : 2

Q.3 Radha Sridhar won the Sangeet Natak Akademi Award in 2018 in
Ans X 1.Kathak

X 2. Odissi
& 3. Bharatnatyam
5 4. Manipuri

Question ID : 264330115876
Status : Not Answered
Chosen Option : --

Q.4 Powers, authority and responsibilities of Municipalities are dealt under which
schedule?

Ans X 1.11th
X 2.13th
75 3.10th
o 4. 12th

Question ID : 264330115614
Status : Answered
Chosen Option : 1

Q.5 Which political leader quit Indian National Congress following differences with party
leadership in May 20227

Ans X 1. Sonia Gandhi
X 2. Mallikarjun Kharge
& 3. Kapil Sibal
75 4. Shashi Tharoor

Question ID : 264330114914
Status : Answered
Chosen Option : 3

Download from www.MsEducationTv.com




Q.6 How many types of Bihu festival are celebrated in Assam?

Ans

X 1.6
2.3
X 3.5
X 4.2

Question ID : 264330106203
Status : Answered
Chosen Option : 2

Q.7 The concepts of Dhamma was popularized by which of the following Mauryan kings?

Ans

" 1. Ashoka

< 2. Bindusara

/5 3. Dasaratha

X 4. Chandragupta

Question ID : 264330115452
Status : Answered
Chosen Option : 1

Q.8 The Dronacharya Sports Award is given to the

Ans

75 1. Captain of the Team

X 2. Best player of The team
< 3. President of the team
" 4. Coach of the Team

Question ID : 264330116290
Status : Answered
Chosen Option : 4

Q.9 Planning Commission was established under

Ans

< 1. APJ Abdul Kalam

#< 2. Indira Gandhi

75 3. Subhash Chandra Bose
& 4. Jawahar Lal Nehru

on March 15, 1950

Question ID : 264330115380
Status : Answered
Chosen Option : 4

Q.10 Availability of

Ans

helps in the success of rabi crops.
X 1. frost
&" 2. precipitation
X 3.fog
X 4. wind

during winter months due to the western temperate cyclones

Question ID : 264330115526
Status : Answered
Chosen Option : 1
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Q.11 On September 1948 the Indian army intervened and took control of which princely
state?

Ans X 1.Assam
75 2. Uttar Pradesh
& 3. Hyderabad
/5 4. Tripura

Question ID : 264330115688
Status : Answered
Chosen Option : 3

Q.12 Which Indian organisation is responsible for collecting data on poverty in the country?
Ans X 1.NITI Aayog

X 2. National Organisation for Social Empowerment
&" 3. National Sample Survey Organisation

#< 4. Office of Registrar General and Census Commissioner of India

Question ID : 264330116076
Status : Answered
Chosen Option : 1

Q.13 The council of ministers is collectively responsible to the
Ans X 1.people

" 2. lok sabha
75 3. chief minister

< 4. governor

Question ID : 26433086672
Status : Answered
Chosen Option : 3

Q.14 The classical text, Hasthalakshana Deepika, is associated with which Indian classical
dance form?

Ans X 1. Sattriya
X 2. Kuchipudi
Z< 3. Bharatanatyam
¥ 4. Kathakali

Question ID : 26433069902
Status : Not Answered
Chosen Option : --
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Q.15 Government goods and services that aren't sold directly to the consumers, for
example defence goods, roads are categorised under:

Ans X 1. private goods
< 2. international goods
&" 3. public goods

X 4. expensive goods

Question ID : 264330115279
Status : Answered
Chosen Option : 3

Q.16 What is an area of dry land that lies on the leeward side of a mountain called?

Ans  # 1. Rainshadow area
X 2. Windward Side
< 3. Leeward Side

75 4. Mountainous areas

Question ID : 264330115981
Status : Not Answered
Chosen Option : --

Q.17 The national level cricket championship, Ranji Trophy, began in
Ans o 1.1934-1935

X 2.1953-1954
X 3.1950-1951
X 4.1944-1945

Question ID : 26433089922
Status : Not Answered
Chosen Option : --

Q.18 The National Food and Security Act of 2013 (NFSA2013) provides subsidised food
grains to of India's rural population.

Ans X 1.95%
& 2.75%
% 3.65%
X 4.85%

Question ID : 264330116156
Status : Answered
Chosen Option : 2
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Q.19 Select the second step of decomposition.

Ans

" 1. leaching

< 2. fragmentation
< 3. catabolism
75 4. humification

Question ID : 264330115252
Status : Not Answered
Chosen Option : --

Q.20 Any person in-charge of or employed in a child care institution, who subjects a child

Ans

to corporal punishment shall be liable under
< 1. Indian Advocate's Act

Z5 2. Hindu succession act
«” 3. Juvenile Justice Act
< 4. Hindu adoption act

Question ID : 264330116222
Status : Answered
Chosen Option : 4

Section : Part-C-Elementary Mathematics

Q.1 The LCM of 192 and 480 is 60 more than the 100 times of X. What is the value of X?

Ans

X 16
X 2.12
o 3.9
X 4.18

Question ID : 264330116631
Status : Answered
Chosen Option : 3

Q.2 Divide Rs.500 among A, B, C and D so that A and B together get thrice as much as C
and D together, B gets 4 times what C gets and C gets 1.5 times as much as D. The

Ans

value of B’s share is:
< 1.Rs.250

o 2. Rs.300
X 3.Rs.125
X 4.Rs.75

Question ID : 26433076038
Status : Answered
Chosen Option : 2
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Q.3 A’s speed is 30% more than that of B. If A and B run a race on a 117 m length race,
what part of the length of the race should A give B as a head start, so that the race
ends in a dead heat?

Ans X 1.90m
X 2.117m
o 3.27Tm
X 4.36m

Question ID : 26433080051
Status : Answered
Chosen Option : 3

Q.4 Asingle discount equivalent to two successive discounts 15% and 25% is:
1

3

X2 26-%
4

Ans

X 3. 3819
4

74 36&%

Question ID : 26433061070
Status : Answered
Chosen Option : 4

Q.5 A certain sum of money fetches simple interest of Rs.4,016.25 at the rate of 7% per
annum in 5 years. What is the sum?

Ans X 1.Rs.10,475
% 2.Rs.9,475
< 3.Rs.11,400
& 4.Rs.11,475

Question ID : 26433075237
Status : Answered
Chosen Option : 4

Q.6 A person drives for 320 kms in 8 hours, cycles for 40 kms in 5 hours and then walks
for 40 kms in 7 hours. Find the average speed of the driver.

Ans o 1.20 kmph
5 2.18 kmph
75 3.22 kmph
X 4.22.22 kmph

Question ID : 264330116686
Status : Answered
Chosen Option : 1
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Q.7

12620212223___
Find the remainder of p
Ans X 1.4
X 20
o 3.1
X 4.2

Question ID : 26433080385
Status : Answered
Chosen Option : 3

Q.8 Two years ago, the population of a town was 66000. The population increased by 5% in

the first year and decreased by 5% in the second year. Find the present population of
the town.

Ans X 1.68553
X 2.63855
o 3.65835
X 4.65583

Question ID : 26433075196
Status : Answered
Chosen Option : 3

Q.9 The radius of the base of a conical vessel is 5 cm and its height is 24 cm. The vessel is
full of water. This water is poured into a cylindrical vessel having the base radius 10
cm. The depth of the water in the cylindrical vessel is:

Ans X 1. 1cm
X 2.4cm
o 3. 2cm
X 4. 3cm

Question ID : 26433075213
Status : Answered
Chosen Option : 3

Q.10 Three partners A, B and C started a business and decided to share the profit in the

ratio 2 : 3 : 5, respectively. If the share of B is Rs.7,50,000, then calculate the total
profit.

Ans X 1.Rs.24,00,000
2. Rs.20,00,000
& 3. Rs.25,00,000
% 4. Rs.27,00,000

Question ID : 26433075976
Status : Answered
Chosen Option : 3
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Q.11 P can do as much work as Q and R together can do. P and Q can together do a piece
of work in 8 hours and 24 minutes and R can do it in 42 hours. Find the time (in hours)
that Q needs to do the work alone.

Ans X 1.22hours
/5 2.24 hours
" 3. 21 hours
< 4.20 hours

Question ID : 264330116906
Status : Answered
Chosen Option : 3

Q.12 Salary of a person is first decreased by 40 percent and then increased by 40 percent.
What will be the percentage decrease in the salary ?

Ans X 1.18 percent
X 2.12 percent
¥ 3. 16 percent
75 4. 15 percent

Question ID : 26433079854
Status : Answered
Chosen Option : 3

Q.13 Find the total surface area of a cylinder whose height is 8.5 mm and the base diameter
is 10 mm.

Ans  » 1 1351 mm?
X 2.85.5m mm?
X 3.67.5m mm?
X 4.120m mm?

Question ID : 26433080249
Status : Answered
Chosen Option : 1

Q.14 Excluding the stoppages, the speed of a truck is 90 km/h and including the stoppages,
the speed of the truck is 36 km/h in a journey. For how many minutes does the truck
stop per hour?

Ans X 1.54 minutes
& 2. 36 minutes
75 3. 40 minutes
X 4. 42 minutes

Question ID : 26433074939
Status : Answered
Chosen Option : 2

Download from www.MsEducationTv.com




Q.15 A dealer offers 20% discount on all dolls. He offers a further discount of 5% on the
reduced price to those customers who pay in cash. How much will a customer pay in
cash for a doll worth Rs.1,8007

Ans X 1.Rs.800
o 2.Rs.1,368
X 3.Rs.1,225
% 4.Rs.1,532

Question ID : 26433083041
Status : Answered
Chosen Option : 2

Q.16 In a storm 243 trees were left standing out of 300 trees in a garden. What is the
percentage decrease in number of trees?

Ans ¥ 1.19 percent
X 2. 22 percent
X 3. 24 percent
75 4. 21 percent

Question ID : 264330116826
Status : Answered
Chosen Option : 1

Q.17 A shopkeeper sells his goods at 10 percent loss on cost price but uses 30 percent less
weight. What is his profit?

Ans

4
VL 28; percent
4
X 2. 21; percent
5
x 3. 25; percent

X 4 2(}; percent

Question ID : 26433079864
Status : Answered
Chosen Option : 1

Q.18 If 6 men or 8 women can reap a field in 21.5 days. How long will 14 men and 10 women
take to reap it?

Ans X 1.9days
X 2.8 days

" 3.6 days
X 4.12 days

Question ID : 26433076209
Status : Answered
Chosen Option : 3
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Q.19 The average of the cube of the first 4 natural numbers is:
Ans 7 1.25

< 2.100

X 3.75

X 4.50

Question ID : 26433075718
Status : Answered
Chosen Option : 1

Q.20 Rita buys a toy car for Rs.12,000 and sells it for Rs.14,500. What is her gain percent?
(rounded off to two digits after decimal)

Ans  # 1.20.83%
X 2.18%
X 3.22%
X 4.14.50%

Question ID : 26433074920
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

Too much bureacracy suppresses creativity.
Ans ¥ 1. Bureaucracy

75 2. Burocracy

75 3. Bureaukracy

75 4. Burreaukracy

Question ID : 26433073555
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
The mob broke up the norms of the country.

Ans 1. violated
X 2.invade
75 3. disturb
< 4. damaged

Question ID : 26433086464
Status : Answered
Chosen Option : 1

Download from www.MsEducationTv.com




Q.3 Select the most appropriate option to fill in the blank.

The skeleton of an unknown person has been hanging on the tree last
Wednesday.

Ans X 1.through
" 2. since
< 3. about

75 4. for

Question ID : 26433074364
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate synonym of the given word.

Hesitation
Ans X 1.Readiness

" 2. Reluctance
< 3. Prudence
75 4. Creativity

Question ID : 26433073465
Status : Answered
Chosen Option : 2

Q.5 Select the correct word for the blanks in the given sentence.

There is a provision of delivery in every courier service whereas a child can
his feelings at the age of 2 years or so.

Ans X 1.normal
X 2. fast
X 3. slow

o¥ 4. express

Question ID : 26433060536
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate meaning of the underlined idiom in the given sentence.

The second wave of the pandemic left everyone in the doldrums.
Ans X 1.In confusion

< 2. In deep sympathy
#< 3. In need of help

" 4. In low spirits and despair

Question ID : 26433073759
Status : Answered
Chosen Option : 4
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Q.7 Select the most appropriate word to complete the meaning of the sentence.
The new owners of the newspaper had changed the completely.

Ans 4 1. layout

X 2. outlay

X 3. outlook

X 4. outlet

Question ID : 26433088875
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.

Dream
Ans X 1. Delusion
X 2. Fancy
Z< 3. Imagination

" 4. Reality

Question ID : 26433072208
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate synonym of the given word.
Colossal
Ans  # 1. Immense
X 2. Joyous
7% 3. Entertaining
75 4. Fantastic

Question ID : 26433088997
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

His ancestors are native to this place.
Ans X 1.Innate

5 2. Community
75 3.Enemy

& 4. Foreign

Question ID : 26433072240
Status : Answered
Chosen Option : 4
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Q.11 Select the most appropriate meaning of the given idiom.

Where the shoe pinches
Ans X 1. Tight fitting shoes

75 2. Expensive shoes
X 3. Where the comfort is more
" 4. Where the difficulty lies

Question ID : 26433072221
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She couldn’t get over with Thomas due to his addiction to alcohol.
Ans X 1.get at with Thomas due to
" 2. get along with Thomas due to
75 3. get off with Thomas due to
X 4. get rid with Thomas due to

Question ID : 264330100989
Status : Answered
Chosen Option : 2

Q.13 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

For the last three years, / Sunita had been running / private hostels near this
university.

Ans ¥ 1. Sunita had been running
< 2. No error
75 3. private hostels near this university

75 4. For the last three years

Question ID : 26433073763
Status : Answered
Chosen Option : 3

Q.14 Select the INCORRECTLY spelt word.
Ans X 1. Powerful

& 2. Willfull
X 3. Grateful
X 4. Doubtful

Question ID : 26433072458
Status : Answered
Chosen Option : 2
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Q.15 Identify from the following options the word which is OPPOSITE in meaning to the
given word.
Opaque

Ans X 1.lIntangible
Z5 2. Shadowy
& 3. Transparent
< 4. Reflector

Question ID : 26433088816
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the
ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1.span

< 2. story

" 3. cycle
X 4. time

Question ID : 26433072056
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. differ

< 2. correspond
< 3. tamper
o¥ 4. react

Question ID : 26433072057
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1.seed

< 2. flesh
75 3. fibre
o 4. hue

Question ID : 26433072058
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1.over

5 2. from
K 3.by
& 4. with

Question ID : 26433072059
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans  # 1. broken up

< 2. brought to
75 3. fallen into
< 4. turned down

Question ID : 26433072060
Status : Answered
Chosen Option : 3

Section : Part-D-Hindi

Q1 3 RT TR ) $H Agd ad g
TR | e’ & d&d 3ATY DI AT UG TART Hr?

Ans X 1. 37ed
X 2. gt
X 3.9gH
o 4.

Question ID : 26433062689
Status : Not Answered
Chosen Option : --

Q.2 “Yorg IYd P} T )
SWITd IR H PR TIa! (e Tgama: Huferad § d [ a1 T 999 S|

Ans X 1. gorg A U4 BT JxP Tl
o 2. I A T9d DI gD 41|
X 3. gorI Tud B g e
X 4. oG 99 B GD 4|

Question ID : 26433066964
Status : Not Answered
Chosen Option : --

Download from www.MsEducationTv.com




Q.3 fPufifld e & Rie ve ardfe e a1 g
S goT P AT

Ans X 1. iR
X 2. 3mrd
X 3. SR
o 4. U®

Question ID : 26433069987
Status : Not Answered
Chosen Option : --

Q4 fFgfafad oo 8 Yaifed terdf wrsg g o1 3ugad o aamg|
TR 7q & fiud & q-uw IS 7

Ans g 1 3O
X 2. QY-
X 3. Aifud-=md
X 4. QIR 9IG-91d

Question ID : 26433091331
Status : Not Answered
Chosen Option : --

Q.5 fmfifead w<i # 9 S 91 e sMeTd T 82
Ans X 18RI

X 2. T
o 3.7
X 4.Hew

Question ID : 26433091317
Status : Not Answered
Chosen Option : --

Q.6 frufafea are # Yw@ifed g & fadi g o1 T F3a Reawi= 31 gfid Fifem-
e ¥ qul P EHTGET HH 1 Bidl 8, WIE dicd aul & = g

Ans X' 1. ®OH
o 2. 90g
X 3. 3feRT
X 4.1l

Question ID : 26433091346
Status : Not Answered
Chosen Option : --
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Q.7 A9 @HET@™En”
IWRIE a1y BT 30T TAATHSBTA § FYAROT T FRI?

Ans 2 1. SRR G @G R
X 2. SO A G @R g |
X 3. ST A WA W IET SN
X 4. XIS SRR G QT @7 8T

Question ID : 26433066977
Status : Not Answered
Chosen Option : --

Q.8 or it & g iR ufyy 7 g Aty & fore 3 A Ol wsg w2
Ans X' 1.9Ydl

X 2. fayar

X 3. FaART

o 4. AR

Question ID : 26433092245
Status : Not Answered
Chosen Option : --

Q9 HH A faweu ¥ uwr: pHb-aHHS fhar w1 gt 3w faar mar 81
Ans X 1. @M, fora

X 2. %, I

o 3. e &

X 4. 96T, AT

Question ID : 26433063046
Status : Not Answered
Chosen Option : --

Q.10 fEfifed o & fra @S A arfg 32
TeTedt auf i Sfida wafafy |

Ans X 1. Sidd
X 2.9
X 3. o
o 4. PAA

Question ID : 26433066750
Status : Not Answered
Chosen Option : --
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Q11 Fafafea & J g area @-

Ans

2 1. Hie- T 1 30 Ry g
& 2. Fie- T ) 30 Ry 71
X 3. Hie Ty & e Ry g1
X 4. 7T M BT 3em R B

Question ID : 26433066840
Status : Not Answered
Chosen Option : --
Q.12 g arey # Yw@ifed siw & forg Sfera gerart fau e fawedt 9 @ gfa
T 3D 3P A URT 81 74T, AT & T Bl ifa frett
Ans o 1. DS ST T
X 2. Bl @A
X 3. Hag de
X 4. Ha Rga
Question ID : 26433062302
Status : Not Answered
Chosen Option : --
Q.13 et F forg waly wsg A & @« ghme
Ans X' 1. YT
o 2. garH
X 3. afar
X 4.
Question ID : 26433069943
Status : Not Answered
Chosen Option : --
Q.14 TRATT & IR T IR & forg arde reg 3-
Ans X' 1. IRANI
o 2. AN
5 3. SRGHNT
X 4. 94
Question ID : 26433062227
Status : Not Answered

Chosen Option : --
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Q.15 a1 TR S WG S TR A ) 919 B 2, T I WE B
ST a1 B Raa w9 gff Sfd gere’ g1 S|

Ans X 1. TR

5 2. 3118
X 3.9R%
o 4. 9198

Question ID : 26433062616
Status : Not Answered
Chosen Option : --

Comprehension:
fafafad Taw & o sl & ger faar man 71 fou T fawment ot g @ Raa =i &t gfd
FIT | Ydeh HBAT & oI Tad Iugad fdawed &1 T Hiforg|

HRA P UL 1. 81 TgT B ST ST 2. TR 31 P & 3T
ST BT T1eM B 3R T6) Fau g1 HUF 3 off 3. T Ed 81 Tl 6 =B I
75 s & @1 ] b WRd 1 5 o1 s Sisas 4. @1 3R U T 31 bR
ff TR 3R 7Tl & g o Yy TR 3t oft 5. B

SubQuestion No : 16
Q.16 Y = 1 & gl & fore wad Suged e &1 9 Fifvrg)
Ans g 129

X 283

X 3.3

X 4.TR

Question ID : 264330110981
Status : Not Answered
Chosen Option : --

Comprehension:
fafafed maw ¥ $o wsal @ el foar mar §1 3T e e ot weraar @ fiad it @t gfd
FIT | U e & fore Ga) ISugad faeed &1 9a4 Hiforg|

YR Y YL 1. 31 TgT B YT ST 2. TR 31 PR & 3T
ST BT A1 7 SR T8} T B 1 U 31 ot 3. A B 7| T 5B ! 9
Tg famrs ¢ 31 R o YR &7 b U1 a9 Bisa 4. BT 3R YT ETB 1 R
ff TR 3R 7ITal & g ot Yy TR 3t oft 5. Bt B

SubQuestion No : 17
Q.17 Y wIH 2 & gl & fore wat Suge fawen &1 9+ Fifve)
Ans 1. Wl
X 2.9q
X 3. a9l
X 4.dCH

Question ID : 264330110982
Status : Not Answered
Chosen Option : --
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Comprehension:

Fafaed T ¥ $2 wsal & el foar mar 81 3T e st ot weraar & Rad it @t gfd
FIT | T B & forT Ta Iugad fdewed &1 9a4 Siforg|

HYRA S Y 1. B TeT Y AMYHT ST 2. Fat 31 P & ST
e o7 T § SR T8) U § 1 e ot oft 3. o G 7| T T e 9
75 s 3 361 3 b WRd 1 5 ST 0w Sl 4. @1 SR YT XET 31 R
1t TR 3R 7iTa & o BT ufiy W 311t ot 5. I

SubQuestion No : 18
Q.18 f¥ad w1 3 F1 gfd & firg Tad Iugad fAwer &1 9g+ i)
Ans X 1. &3
o 2. 71al
X 3.fay
X 4.3

Question ID : 264330110983
Status : Not Answered
Chosen Option : --

Comprehension:

Frmfefed mei § $o gl &1 ger fgan M 81 fou MU fawedt @t weradr 9 Rad vt ot g
FIT | Y HBT & foIT Tad Iugad fdawed &1 Tg- Siforg|

HRA P UL 1. 21 geT I BT e 2. IR &1 P & ST
SfifaeeT 1 AT 7 3R €t SIaur ¥ b 31T ot 3. o g 7| T 56 axa! 9
g g < X1 § b WIRA &1 fopT SfUT e Bisas 4. FI 3R U B R
1t TR 3R TiTa & T B ufiy o 37t oft 5. I

SubQuestion No : 19
Q.19 Ry ®IH 4 B gl & fore wad Suged fawen &1 9= Fifve)
Ans X 1. Wql
o 2. T
X 3. g R
X 4.

Question ID : 264330110984
Status : Not Answered
Chosen Option : --
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Comprehension:

Foafafed T § $© wsal & el foar mar 81 3T e st ot weraar 3 Rad it @t gfd
FIT | T B & oIt Ga Iugad fdewed &1 9a4 Siforg|

HYRA S Y 1. B TeT Y AMYHT ST 2. Hat 81 P & ST
et o7 A1 § SR T8) U § 1 e ot oft 3. o G 7| T 5B a1 9
75 s 3 361 3 b WRd 1 e ST o0aum Sl 4. PI 3R WM RT3 | R
1t TR 3R 7iTa & o BT ufiy IR 311t ot 5. I

SubQuestion No : 20

Q.20 f¥ad T 5 F gfd & g we Iuge fawew &1 7= S|

Ans

F SR IRCICIP]
X 2. TEvE
X 3. UBde
o 4.9

Question ID : 264330110985

Status : Not Answered

Chosen Option : --
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Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

[Roll Number examstocks.com

Candidate Name examstocks.com

Venue Name iON Digital Zone iDZ Jamshedpur
Exam Date 01/02/2023

Exam Time 9:00 AM - 10:00 AM

Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

M
GRO3BVEL

Ans 21 t3VaE0aD

X2 t3IVEEOdD
X3 tEVOEOAROD

X4 t3IVaEQORD

Question ID : 26433089460
Status : Answered
Chosen Option : 1

Q.2 Select the option that is related to the fourth term in the same way as the first term is
related to the second term and the fifth term is related to the sixth term.
104:13::7?:37::168: 21

Ans X 1.304
X 2.248
o 3. 296
2 4.280

Question ID : 26433074548
Status : Answered
Chosen Option : 3

Q.3 Which of the following numbers will replace the question mark (?) in the given series?
2880, 480, 96, ?, 8, 4

Ans o 1.24
* 2.76
X 3.46
X 4.56

Question ID : 26433076748
Status : Answered
Chosen Option : 1
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Q.4 In a certain code language, ‘DANCE’ is written as ‘AECDN’, ‘MUSIC’ is written as
‘lUCMS’, how will ‘SONG’ be written as in that language?

Ans X 1.GNSO
< 2. OSNG
o 3. OGNS
X 4.SNGO

Question ID : 26433069654
Status : Answered
Chosen Option : 3

Q.5 Three statements are given, followed by three conclusions numbered I, Il and IIl.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

Some paints are brushes.
All brushes are easels.
Some easels are tables.
Conclusions:

|. Some brushes are tables.
Il. Some paints are easels.
lll. Some easels are brushes.

Ans X 1. Only conclusions | and Il follow
25 2. All conclusions follow
< 3. Only conclusion Il follows

& 4. Only conclusions Il and Ill follow

Question ID : 26433090996
Status : Answered
Chosen Option : 2

Q.6 Which of the mathematical signs should be interchanged in the below equation to
make it mathematically correct?
72-6+2x216+24 =420

Ans X 1.xand+

X 2.-and x
& 3.-and +
@ 4. -and +

Question ID : 264330117561
Status : Answered
Chosen Option : 4

Q.7 Which letter cluster will replace the question mark (?) to complete the given series?
DKBN, ENWS, ?, GTMC, HWHH

Ans X 1.QRFG
X 2. RQFX
X 3.GQFR
o 4. FQRX

Question ID : 26433079424
Status : Answered
Chosen Option : 4
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Q.8 Which option will replace the question mark (?) to complete the given figure series?

ypd ]

Ans

S

7

T

Question ID : 26433078967

Status : Answered

Chosen Option : 3
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Q9 gselect the option figure which is embedded in the given figure. {Rotation is Not
allowed)

£
5

AW

Ans
<1 >

2\
LY

X 4.

Question ID : 26433085744
Status : Answered
Chosen Option : 2

Q.10 Which two signs should be interchanged to make the given equation correct?
790 + 5+ 58 x 596 = 352

Ans 1. +and =

K 2.+and -
X 3. +and -
X 4. +and x

Question ID : 26433082666
Status : Answered
Chosen Option : 1
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Q.11 Which letter-cluster will replace the question mark (?) to complete the given series?
AZME, CYOG, ?, GWSK, IVUM

Ans X 1.FYRJ
X 2.FXRJ
o 3.EXQl
X 4.FXQJ

Question ID : 26433067939
Status : Answered
Chosen Option : 3

Q.12 Which of the following options will replace the question mark (?) in the given series?
103, 110, 105, ?, 107, 114, 109

Ans X 1.110
X 2.108
X 3. 111
o 4. 112

Question ID : 26433089445
Status : Answered
Chosen Option : 4

Q.13 Select the option that is related to the fifth term in the same way as the second term is
related to the first term and the fourth term is related to the third term.
QUEST : VUGWS :: REACH : JECGT :: SOLVE : ?

Ans X 1.GXNOV
& 2. GXNQU
X 3.VONXG
X 4. UQNXG

Question ID : 26433087192
Status : Answered
Chosen Option : 2

Q14 Tyo different positions of the same dice, with the symbols $, @. 1. *, oo, =, are
shown. Find the symbol on the face opposite the face showing ‘.

Ans X 1.@
X 2.1
o 3.7
X4

Question ID : 26433089512
Status : Answered
Chosen Option : 3
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Q.15 ‘P % Q’ means ‘P is the brother of Q’.
‘P + Q' means ‘P is the daughter of Q’.
‘P = Q' means ‘P is the son of Q’.
‘P # Q’ means ‘P is the wife of Q.
IfL+M%N=0#P, howis P related to L?

Ans # 1. Father’s father
75 2. Father’s brother
5 3. Mother’s brother
/5 4. Sister’s husband

Question ID : 26433087004
Status : Answered
Chosen Option : 1

Q.16 In a certain code language, ‘MARINE’ is coded as ‘100’ and ‘NORMAL’ is coded as
“126’. How will ‘REALM’ be coded in that language?

Ans X 1.98
X 2.88
o 3.78
X 4.70

Question ID : 26433081514

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 pointed
2 pollen
3 populate
4 popular
5 podium

Ans X 1.53421
X 2.5423/1
o 3.51243
X 4.5314.2

Question ID : 26433069298
Status : Answered
Chosen Option : 3
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Q.18 Select the option that is related to the third word in the same way as the second word
is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)
Friend : Foe :: Die : ?

Ans X 1.End
o 2. Live
X 3. Life
K 4.Cry

Question ID : 26433067976
Status : Answered
Chosen Option : 2

Q.19 Six friends M, N, O, P, Q and R, are sitting in a row facing South. N is exactly in
between P and Q. O is to the immediate left of R. M is to the immediate right of P. If Q is
at the extreme left of the row, then who is sitting to the immediate left to O?

Ans X 1.Q
o 2. M
X 3.N
X 4P

Question ID : 26433079062
Status : Answered
Chosen Option : 2

Q.20 Eight people, D, E, G, H, M, N, Y and Z are sitting in a straight line, facing north.
Y sits at one of the extreme ends of the line. Only three people sit between Y and Z. E
sits second to the right of Z. Only three people sit between E and D. G sits at one of
the positions to the left of D but not at an extreme end of the line. M is not an
immediate neighbour of Z. N sits second to the right of H. How many people sit to the
left of H?

Ans  # 1. Three
< 2. None
X 3. Two
< 4. 0ne

Question ID : 26433092424
Status : Answered
Chosen Option : 1

Section : Part-B-General Knowledge and General awareness

Q.1 Base changes the colour of the red litmus to
Ans o 1. Dblue

X 2. purple
< 3. pink
X 4. yellow

Question ID : 264330115264
Status : Answered
Chosen Option : 1

Download from www.MsEducationTv.com




Q.2 In 1873, he founded the Satya-Shodhak Samaj. Who is referred to as 'he' here?
Ans X 1. Govindrao Phule

#< 2. Gopal Hari Deshmukh
#< 3. Savitribai Phule
& 4. Jyotiba Phule

Question ID : 264330115725
Status : Answered
Chosen Option : 4

Q.3 At Devaprayag the Bhagirathi is Joined by .
Ans " 1. The Alaknanda

< 2. The Ghaghra
25 3. The Kosi
/5 4. The Yamuna

Question ID : 26433087891
Status : Answered
Chosen Option : 1

Q.4 Who took over as the Chief of Army Staff on April 30, 20227
Ans X 1. Manoj Mukund Naravane

X 2. Vineet Joshi
Z< 3. Nitin Paranjape
" 4. Manoj Pande

Question ID : 264330115051
Status : Answered
Chosen Option : 4

Q.5 Who looks after the development, maintenance and management of inland water ways
in India?

Ans X 1. Steel Authority of India
& 2. Inland Waterways Authority of India
75 3. National Highway Authority of India
X 4. Airport Authority of India

Question ID : 264330115595
Status : Answered
Chosen Option : 2

Q.6 Who among the following politicians became the President of India in July 20227
Ans X 1.Jai Ram Thakur

X 2. Ram Nath Kovind
&" 3. Droupadi Murmu
5 4. Smriti Irani

Question ID : 264330114887
Status : Answered
Chosen Option : 3
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Q.7 Personal Disposable income is money that is available for household
consumption, and spending after accounting for income tax.

Ans X 1. Goods and Service Tax
X 2. sales tax
< 3. interest

o 4. savings

Question ID : 264330115348
Status : Answered
Chosen Option : 4

Q.8 Which of the following Articles of the Constitution of India provides for 'protection
against arrest and detention in certain cases’?

Ans X 1.Article 10
X 2. Article 47
75 3. Article 35
" 4. Article 22

Question ID : 26433086806
Status : Answered
Chosen Option : 3

Q.9 Disadvantage of the industrial development is
Ans X 1.sustainable development

& 2. pollution
75 3. high revenue collection

X 4. economic growth

Question ID : 264330115393
Status : Answered
Chosen Option : 2

Q.10 As of November 2022, who is the Union Minister of Information & Broadcasting and
Youth Affairs & Sports in India?

Ans & 1. Anurag Singh Thakur
X 2. Kiren Rijiju
75 3. Narayan Rane
5 4. Ashwini Vaishnav

Question ID : 264330114929
Status : Answered
Chosen Option : 1
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Q.11 If there is need for four labourers and seven are working, then what kind of
unemployment are the extra three labourers suffering from?

Ans X 1. Cyclic unemployment
25 2. Frictional unemployment
< 3. Structural unemployment

&" 4. Disguised unemployment

Question ID : 264330116091
Status : Answered
Chosen Option : 4

Q.12 Which of the following is an example of indirect tax?
Ans X 1. Gift tax

X 2. Corporation tax for firms
75 3. Property tax
o 4.GS.T.

Question ID : 26433054802
Status : Answered
Chosen Option : 4

Q.13 Limestone, chalk and marble are different forms of
Ans X 1. Calcium oxide

«# 2. Calcium carbonate
75 3. Calcium hydroxide
#< 4. Calcium phosphate

Question ID : 264330115164
Status : Answered
Chosen Option : 2

Q.14 The annual festival of Gangaur, celebrated by the married women of Rajasthan, is
observed in the Hindu month of

Ans X 1.Phalguna
X 2. Ashvina
< 3. Kartika
o 4. Chaitra

Question ID : 264330115105
Status : Answered
Chosen Option : 3
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Q.15 Which country won the maximum gold medal in the 2020 Summer Paralympics?
Ans X 1. United States of America

< 2. Great Britain
" 3. China
X 4. Russia

Question ID : 264330115924
Status : Marked For Review

Chosen Option : 3

Q.16 ‘Arthashastra’ was written by:
Ans 1. Kautilya

< 2. Vishakhadutta

75 3. Megasthenes

X 4. Vasudeva

Question ID : 26433090572
Status : Answered
Chosen Option : 1

Q.17 Alarmel Valli is an exponent of which of the following classical dance forms?
Ans  # 1. Bharatanatyam

X 2. Kathak

< 3. Kathakali

< 4. Odissi

Question ID : 26433071666
Status : Answered
Chosen Option : 3

ate In which sport is the field often oval with a rectangular area in the middle, that is 22
yards (20.12 metres) by 10 feet (3.04 metres) wide?
Ans  # 1. Cricket

X 2. Lawn Tennis

< 3. Basketball

75 4. Volleyball

Question ID : 26433089937
Status : Answered
Chosen Option : 1

Download from www.MsEducationTv.com




Q.19 The is the sole link of communication between the Cabinet and the
Governor.

Ans X 1.Advocate General
o 2. Chief Minister
#< 3. Chief Election Commissioner

75 4. Chairman of State Public Service Commission

Question ID : 26433089186
Status : Answered
Chosen Option : 2

Q.20 C. V. Chandrasekhar was awarded the Padma Bhushan for his contribution in

Ans X 1. Kuchipudi
X 2. Kathak
« 3. Bharatnatyam
75 4. Manipuri

Question ID : 264330115893
Status : Answered
Chosen Option : 3

Section : Part-C-Elementary Mathematics

Q.1 Find the absolute difference between the greatest 3-digit number and the smallest 4-
digit number divisible by 12, 25 and 18.

Ans  # 1.900
X 2.300
X 3.600
X 4.1200

Question ID : 264330116646
Status : Answered
Chosen Option : 1

Q.2 A shopkeeper announces the following three discount schemes on the purchase of an
article. Which of these schemes is the best scheme for a customer?
A. Two successive discounts of 15% and 18%
B. Buy 6 articles and get 2 free
C. A flat discount of 30%

Ans X 1.Both schemes A and C give the same discount
" 2. Scheme A
< 3.Scheme B
75 4.Scheme C

Question ID : 26433075762
Status : Answered
Chosen Option : 2
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Q.3 If 12 men or 9 women can do a piece of work in 36 days, then how many days will 16
men and 18 women take to finish the same work?

X1.131
5

Ans

x2 122
5

x3 1432

5

4
v 103

Question ID : 26433082929
Status : Answered
Chosen Option : 4

Q.4 The current birth rate per ten thousand is 450, whereas the corresponding death rate
is 120 per ten thousand. Find the net growth rate in terms of the population increase in
percentage.

Ans X 1. 2.3%
X2 2%
X3 3%
4 3.3%

Question ID : 26433080127

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 On mixing two classes A and B of students having average marks 50 and 80,
respectively, the average marks obtained is 60. Find the respective ratio of the
students in the classes A and B.

Ans X 1.3:2
K 22:3
& 3.2:1
X 41:2

Question ID : 26433081009
Status : Answered
Chosen Option : 3

Q.6 A can paint 5 chairs in an hour and B can paint 3 chairs in an hour. Determine how
much time they will require to paint 40 chairs when they work together.

Ans X 1.12hours
25 2.10 hours
5 3.8 hours
«¥ 4.5 hours

Question ID : 26433071340
Status : Answered
Chosen Option : 4
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Q.7 The weights of two persons A and B are in ratio of 5 : 3 respectively. If the weight of A
increases by 5% and the total weight of A and B becomes 92 kg with an increase of
15%, then find the percentage increase in the weight of B. (Correct to 2 decimal

places)
Ans  # 1.31.67 Percent

75 2.30.66 Percent
75 3.32.66 Percent
75 4.36.66 Percent

Question ID : 26433080162
Status : Marked For Review
Chosen Option : 3

Q38 |fa right circular cone of height 24 cm has a volume of 392 cm?, then the curved
surface area is:

Ans X" 1163 mcm?
X 2.191 wem?
o 3.175 mcm?
X 4.185mcm?

Question ID : 26433076088
Status : Answered
Chosen Option : 3

" The simplified value Ofi ofg X6+15—10 is:

Ans 425
o1 —
64

X 2 850
64

425
X3 =
128

525
x4 2=
64

Question ID : 26433081002
Status : Answered
Chosen Option : 1
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Q10 _. :
Find the mean proportional of squares of E and %

Ans b4 3;2

o -

Z

X

x2 |2

A

X

¢35 =

A
2

Question ID : 26433079938
Status : Answered
Chosen Option : 3

Q.11 If you are buying one jacket at ¥2,500 and buying two similar jackets at ¥4,500, then
find the discount percentage. (Marked price of one jacket is ¥2500)

Ans X 1.12 Percent
75 2. 15 Percent
¥ 3. 10 Percent
X 4. 18 Percent

Question ID : 26433080173
Status : Answered
Chosen Option : 3

Q.12 A police officer follows a thief who is at a distance of 800 m from him. If they run at a
speed of 8 km/h and 7 km/h, respectively, how long does the police officer have to run
to catch up with the thief?

Ans X 1.4000 m
 2.4800 m
X 3.5600 m
& 4.6400m

Question ID : 26433073133
Status : Answered
Chosen Option : 4
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Q.13 In a college, there are two courses. In M.Com. 450 students passed out of 500, while in
M.A. 1500 students passed the exam out of 2000 students. What is the combined pass
percentage of the college?

Ans 21 T8%
X 2. 79%
X 3. 75.5%

X4 76.75%

Question ID : 26433082497
Status : Answered
Chosen Option : 1

Q.14 A sum of money amounts to ¥14,112 at the rate of 20% per annum compounded
annually for 3 years. Find the sum of money.

Ans X 1.%8,099.60
< 2.%7,167.70
< 3.%9,166.87
o 4.38,166.67

Question ID : 26433082722
Status : Answered
Chosen Option : 4

Q.15 A thief started running at a speed of 15 m/s, after running for 12 sec a policeman
started running to catch the thief in the same direction at a speed of 20 m/s. How many
metre will the policeman run to catch the thief?

Ans X 1.740m
X 2.754m
& 3.720m
X 4.744m

Question ID : 26433075694
Status : Answered
Chosen Option : 3

Q.16 If the radius of a sphere is increased by 5%, what percentage increase takes place in
the surface area of the sphere?

Ans X 1.18%
X 2.25%
o 3.10.25%
X 4.15.25%

Question ID : 26433083059
Status : Answered
Chosen Option : 3
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Q.17 The price of a mobile first successively decreases by 5%, 2% and after that the price is
increased successively by 10%, 20%, respectively. What is the final change in the price
of the mobile?

Ans 153
X1 17—0
25{};{1

113
X2 g1
25(}'?{]I

123
X 3. e |
2225[} Yo

Y zzgw
250 "

Question ID : 26433076073
Status : Answered
Chosen Option : 4

Q.18 A house worth Rs.1,00,000 is sold by A to B at a profit of 6%. B sells house back to A at
3% loss. What is the gain/loss of A in the entire transaction?

Ans X 1. Loss of Rs.3,280
5 2. Gain of Rs.2,802
5 3. Loss of Rs.2,280
" 4. Gain of Rs.2,820

Question ID : 26433076373
Status : Answered
Chosen Option : 4

Q.19 Soni sold a mobile phone to Raju at a profit of 10%, Raju sold it to Alok at a loss of 5%
and Alok sold it to Sohan at a profit of 20%. If Sohan bought it for ¥ 6,270, what is the
cost price (in ¥ ) of the mobile for Soni?

« 1. 35,000
X 2. 35,500

Ans

x 3.34,500
x 4. 24,650

Question ID : 26433075546
Status : Answered
Chosen Option : 2
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Q.20 Price of 3 CTs is ¥3,300.What would be the price (in %) of 10 CTs?

Ans »1.%11,000
x 2. 312,000
x 3. 10,000
x 4 33,000

Question ID : 26433076010
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 Select the most appropriate homonym to fill in the blank.

This nation is to each of its citizens.
Ans X 1.feel

X 2. fur

o” 3. fair
X 4. fare

Question ID : 26433088790
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate ANTONYM of the given word.

Truth
Ans o 1. Falsity

X 2. Lay
X 3. Loyalty
X 4. Reality

Question ID : 26433072859
Status : Answered
Chosen Option : 1

Q.3 Select the option with the correct spelling of the underlined word in the given
sentence.

They waited for him in the adjcent room.
Ans X 1.adjacentt

< 2. adgencent
o 3. adjacent
< 4. addjacent

Question ID : 26433073610
Status : Answered
Chosen Option : 3
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Q.4 Select the most appropriate synonym of the given word.
Blend

Ans X 1. Disunity

X 2. Scatter

" 3. Fusion

< 4. Destruction

Question ID : 26433072072
Status : Answered
Chosen Option : 3

Q.5 Select the correct spelling of the word to fill in the blank in the given sentence.

Shyam an letter from his employer.

Ans  # 1. received; acknowledgment
X 2. reseived; knowledgement
75 3. recievid; acknowledment

X 4. recieved; aknowlegdement

Question ID : 26433084767
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

It is quite comprehensible that now young people's minds are constantly being
reshaped by the media's constant meddling of certain unfathomable ideas and moral
standards.

Ans X 1. Constantly
" 2. Comprehensible
< 3. Meddling
< 4. Reshape

Question ID : 26433092863
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate synonym of the underlined word.

A leading actor has said in a new interview that nepotism does not matter, and she is
the best example of that.

Ans 1. favouritism
X 2. neutrality
75 3. unbiasedness

X 4. objectivity

Question ID : 26433088839
Status : Answered
Chosen Option : 1
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Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The teacher asked me to tell him what is his name?
Ans X 1.what name is he?
< 2. what the name is.
" 3. what his name was.

75 4. what he is called is.

Question ID : 264330102392
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option to fill in the blank.

He seized a thief by his and forced him to answer.
Ans X 1. colour
< 2. choler
< 3. caller
o 4. collar

Question ID : 26433087942
Status : Answered
Chosen Option : 4

Q.10 Select the correct idiom that can substitute the italicised group of words in the given
sentence.

Prof. Ram Prasad was an environmental activist, and apparently, he became annoying
and irritating to leather factories over the years.

Ans X 1.avexed question
& 2. a thorn in the flesh
X 3. aslow coach

25 4. an uphill task

Question ID : 26433084762
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate synonym for the underlined word in the given sentence.

The moral failure was the result of his lassitude.
Ans X 1.derision

5 2. luxury

" 3. weariness

< 4. indulgence

Question ID : 26433073752
Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate option to fill in the blank.
The child not guilty of shoplifting.

Ans X 1. questioned
< 2. nagged
< 3. said
¥ 4. pleaded

Question ID : 26433085599
Status : Answered
Chosen Option : 4

Q.13 Select the correct option to substitute the underlined segment in the given sentence. If
no substitution is required, select ‘No substitution’.

Slow and steady wins the race.
Ans ¥ 1. No substitution
25 2. had won the race
X 3. won the race

2 4. will win the race

Question ID : 26433090808
Status : Answered
Chosen Option : 1

Q.14 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The shield used by the / warrior have been one / made of strong iron.

Ans X 1. No error
" 2. warrior have been one
75 3. made of strong iron

< 4. The shield used by the

Question ID : 26433099906
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

The robber showed a clean pair of heels when the policeman came nearer.
Ans X 1.stole and ran away with heels

/5 2. stood so as to show the heels
/< 3. showed how clean the heels were

¥ 4. ran away

Question ID : 26433072234
Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)
changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.
SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.

Ans  # 1.changing
< 2.to change
/< 3. of change
/5 4.change

Question ID : 26433088564
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)
changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.
SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.

Ans o 1.its
< 2. their
75 3. her
X 4. his

Question ID : 26433088565
Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)

changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1.in

K 2. at
& 3.0on
o 4. of

Question ID : 26433088566
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)

changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1.but

o 2. 0r
X 3. yet
X 4.s0

Question ID : 26433088567
Status : Answered
Chosen Option : 2
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Q.20
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence

without changing (2) meaning. Such changes can be in the form (3)
changes from negative sentences into assertive, interrogative or exclamatory

sentences and vice versa (4) change in narration or change in voice or changes

from simple to (5) or complex sentences.

SubQuestion No : 20

Select the most appropriate option to fill in blank number 5.

" 1. compound
X 2. negative
< 3. positive
5 4. assertive

Question ID : 26433088568
Status : Answered
Chosen Option : 2

Section : Part-D-Hindi

Q1

Ans

fFrafafad v & 98 waigar 2 &1 994 el # | Fifvm)

o 1. SR
< 2. 9mH
X 3. U=
X 4. 3rpar

Question ID : 26433066940
Status : Not Answered
Chosen Option : --

Q.2

Ans

BO THY W gURT Ao STDITE FT AT’
SRS AT F e W & Suga Xeg ST Y4 fovar 7t 37

X 1@
X 2.5ERT
o 3. TS THg IR
X 4. g S=DIfe

Question ID : 26433062804
Status : Not Answered
Chosen Option : --

Download from www.MsEducationTv.com




Q3 iR d A g I HTaTe?
Ans X 1.3 33 ASHI B

X 2. YT 3B ASHT B

o 3. T 3B ASH! B

X 4.1 3BT TASHI 3|

Question ID : 26433080931
Status : Not Answered
Chosen Option : --

Q4 eawERg__ I
S aTe § o I & g Sugad fawey e & & wam g

Ans X 1.9 3fimmg faarg yd fru oM ard fa-Ras 3 g
X 2.3 3iftura IuT TPR Y Eiar e
X 3.9 ot T T & forg fop o aret fa-fare @ 7
o 4.9 3T e & JHOH W fHT I a1 RER A §

Question ID : 26433067049
Status : Not Answered
Chosen Option : --

Q5 g I & R Iuge U Wsg &1 994 fawe & S
<t g A RR g

Ans X 1. 7Nd

X 2999

X 3. s

o 4. TRIMR

Question ID : 26433070092
Status : Not Answered
Chosen Option : --

Q.6 M H

mﬁggwﬁﬁmwmml
Ans X 1.qd
o 2.8
X 3.
X 4. 9%

Question ID : 26433069689
Status : Not Answered
Chosen Option : --
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Q.7 Ry fawed ¥ | H19 A1 2 Frafaf@a area & Yaifed s o1 yafgarh 98 22
YRS S0 & o 9rar SR ST dar $ S5 F 98 g §

Ans X' 1. TRal

X 2. fauen
o 3. e
X 4. g aie
Question ID : 26433091339
Status : Not Answered
Chosen Option : --
Q.8 4y a1 | Y@ifd e & I W Haitd fawed gl
7% R g W N Agp A’
Ans X 1.g3@l
o 2. g8l
X 3.anh
X 4. 7offea
Question ID : 26433084962
Status : Not Answered
Chosen Option : --
Q9 fmfafad geray & fore Suga arde g &1 g2
ST WR T
Ans o 1. SMUAF B
X 2. SR
X 3. 9gd AR 81T
X 4.38d T
Question ID : 26433065769
Status : Not Answered
Chosen Option : --
Q.10 Fgfifae A } wrar o1 g W T8 2-
Ans 1. 9l
X 2. 3@
X 3.7
X 4. S
Question ID : 26433085081
Status : Not Answered

Chosen Option : --
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Q.11 fafafee o & g te e e gl

i 3o 8
Ans X 1. fagfa
o 2. faudw
X 3. fawiuf
X 4. faggay
Question ID : 26433062739
Status : Not Answered
Chosen Option : --
Q.12 FgRifead e § | {5 e areq § gdam & wanT e argfS 87
Ans X 1. QIS | I MU ggd ATe 3 B
X 2. 77 3o B R e
X 3.1 7 TN A Pel, H R Tel F & T 9IS S
o 4. 39F 1Y | Sl HaH 8, T8 W 7
Question ID : 26433062975
Status : Not Answered
Chosen Option : --
Q.13 HgTeHT Mt BT [T At
IR a1 § 3refifrd Wsg & THTdf 2reg | arery guf Fifvrw)
Ans 1. SRR
X 2. 3r7yd
X 3. 3y
X 4. 3Eg
Question 1D : 26433079241
Status : Not Answered
Chosen Option : --
Q.14 FTR I TS 21 39 I ® frad v 9 ¢ g 2reg gRT Hifvie)
Ans X 1. e
X 2. A
o 3.9
X 4. g
Question ID : 26433080906
Status : Not Answered

Chosen Option : --
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Q.15 '3/ 9gd Y ASDI 21"

Ans

SWRITd 919 | Y@ifhd g T 572
X 1. fagmm
X 2. foparfamur
X 3. favey
o 4. VAR
Question ID :
Status :

26433063053
Not Answered

Chosen Option : --

Q.16
Ans

Comprehension:

fafafed ma § $© sl & el foar mar g1 AU U fawent ot weraar @ fad it @t gfd
HIOTY | TP e & oL T8 IUGad fadhed o1 99+ Sifor|

fomm enamg ¥ 1. Eﬁ?ﬁ%lw@fﬁaﬂs‘wﬁrmmﬁz Tel BT 3T
b GRS §f T eafad ol 31fd 3. S 81 S U5 e § o 2 8, awma%
3R 31 4. FA e, NS I P A U B oA &1 S B 5.

o7 & 76 afen o7 g1

SubQuestion No : 16
feaa w1 91 gfd & R T Iugad fawew &1 994 Fifvm|
X1R
X 2.999
o 3.1
X 4. 9%d

Question ID :
Status :
Chosen Option : --

264330111071
Not Answered

Q.17

Ans

Comprehension:

Fafafad maw ¥ $o wsal @ el foar w71 3T e e ot weraar 3 fad it @t gfd

FIT | T T & fore qa Iugad faswed &1 9a4 Hiforg|

faem enamg I 1. ﬁ%lwﬁﬁmmﬁ%@mﬁz Tl i 3Ty
& gR1 o8 g a1 oafad gor efufd 3. SO ¥ S U § g I amma%
3R e 4. a:n%aT% ESREEE R T CIE e S

Arar & =72 STer S gobdi 21

SubQuestion No : 17

feaa T 2 91 gfd & e e Sugea faweu &1 994 Fifvm|
o 1. T
X 2.3R
X 3.9
X 4.394
Question ID :
Status :

264330111072
Not Answered

Chosen Option : --
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Comprehension:
Foafafed T § $© wsal & el foar mar 81 3T e st ot weraar 3 Rad it @t gfd
FIT | T B & forT Ga Iugad fdewed &1 9a- Siforg|
fa=m snarg 9 1. s\?ﬁ%lﬁ%@ﬁﬁé‘ﬁ&ﬁd%@ﬂmﬁz T8 BYaT| 3rarg
& GRI OIS §fg Tl oafad ol 31Yfd 3. S ST &1 S U8 @ ol Bi ©, SN I
3R 3fep 4. EHTé‘cn% AP AU g oA &l S H15. @t
A o Y STer off Tehan 81
SubQuestion No : 18
Q.18 fYad T 3 F gfd & e we Iuged faswew &1 7= S|
Ans X 1. 309
X 2. FUNR
o 3. ST

X 49

Question ID : 264330111073
Status : Not Answered
Chosen Option : --

Comprehension:

Fafafed T § $© sl @ el foar mar 81 3T U st ot weraar & Rad it @t gfd
DI | UAD TS &b oI T IuGerd fadhed b1 I9- BHifoi|

fo=m g 1. Bl 81 9 A § S il et v A 2. BRI
& GRIS1S §f a1 ot Goi 3 3. ST SN UEA Y GIH A ¢, a{'wrma%
3R 3ife 4. wé‘cn% R I e AU B S 8| S Bl 5,

e & 1Y offer o Geban1 1

SubQuestion No : 19
Q.19 Ry ®IH 4 B g & fore wad Suged fawen &1 9= Fifvre)
Ans X 1. 3P
X 2. 9oIgd
o 3. DA
X 4. T

Question ID : 264330111074
Status : Not Answered
Chosen Option : --
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Q.20
Ans

Comprehension:

Fufaed mar § $2 wsal & el foar mar 81 3T e st ot weraar & Rad it @t i
FIT | T B & fort Gad Iugad fdeed &1 9a- Siforg|
e enar 9 1. B 31 97 9 €t Pis e [t pr o 2. TSIl 3Ny
F RIS T AT o Ford 31 3, T 91 | O U5 | GOl 2 B, 3nar 3
3R S1fp 4. 1 < &, o 3 Pl # IR 81 ST © 1 ST b 5. il
e 7 7Y sfen o1 b B
SubQuestion No : 20
fraa = 5 91 gfd & g Tad Iugad fAwer &1 9g+ Fifs)

X 1. Horh

o 2. 97

X 3. 9E

X 4. fRen

Question ID : 264330111075

Status : Not Answered

Chosen Option : --
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Section : Part-A-General Intelligence and Reasoning

Q.1 Select the figure from among the given options that can replace the question mark

(?) in the following series.

e | I° |2

o ®
Ans
F O
O
X2
o
X 3.
®
o 4.
®

Question ID : 26433080503
Status : Answered
Chosen Option : 4

Q.2 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 riddle
2 river
3 rightful
4 ring
5 risk

Ans 7 1.13452
X 212345
X 3.13245
X 412453

Question ID : 26433069325
Status : Answered
Chosen Option : 1
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Q.3 In a certain code language, ‘EXAM’ is written as ‘625214’ and ‘TEST’ is written as
2162021°. How will ‘ASSESSMENT’ be written in that language?

Ans X 1.22020620201465121
< 2.22020620201461512
/5 3.22020602201461521
o 4.22020620201461521

Question ID : 26433087254
Status : Answered
Chosen Option : 4

Q.4 Six family members Viraaj, Deepu, Noor, Prince, Suman and Taran are sitting around a
circular table facing the centre. Viraaj is sitting to the immediate right of Noor. Prince
is an immediate neighbour of both Viraaj and Deepu. Suman is sitting third to the right
of Viraaj. Noor is sitting second to the left of Prince. Who is the immediate neighbour
of Deepu and Viraaj?

Ans X 1.Suman
o 2. Prince
/< 3. Taran
< 4. Noor

Question ID : 26433068866
Status : Answered
Chosen Option : 2

Q.5 In acertain code language, FATHER is written as ‘IFWMHW’, and SISTER is written as
‘VNVYHW’. How will ‘UNCLE’ be written in the same code language?

Ans X 1.XSHQl
X 2. XTGRH
" 3. XSFQH
X 4. XSGQH

Question ID : 26433067989
Status : Answered
Chosen Option : 4

Q.6 Six students are sitting around a circular table facing the centre. Brianna is sitting
second to the right of Mark. Felix is sitting second to the left of Mark. Ann is the
immediate neighbour of Brianna and Felix. James is sitting third to the left of Brianna.
Afreen is sitting second to the right of James. Who is sitting between Afreen and Ann?

Ans X 1.Mark
& 2. James
«” 3. Brianna
< 4. Felix

Question ID : 26433081782
Status : Answered
Chosen Option : 3
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Q.7 Which two numbers(not digits) should be interchanged in the following equation to
make it correct?
56 + 16 x 8 + 45 x 13 = 697

Ans X 1.8and 13
& 2.16and 8
/< 3.16and 45
75 4.8and 45

Question ID : 26433090136
Status : Answered
Chosen Option : 2

Q8 select the option figure in which the given figure is embedded as its part (rotation

is not allowed).

<

Ans

OO

Y
AN

Question ID : 26433069535
Status : Answered
Chosen Option : 2

Download fapamanveMskeidsationTv.com




Q.9 Which two signs should be interchanged to make the below equation mathematically
correct?
24-36x5+108+18=18

Ans X 1.+and -

K 2. —and +

¢ 3. +and x
X 4. +and +

Question ID : 264330117523
Status : Answered
Chosen Option : 3

Q10 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

X 2.

X 3.

P

q

q)

p

ip

{p

ql

q)

iy

1)

[0

iy

iy

Cl)

0

q)

p

Question ID : 26433089787
Status : Answered
Chosen Option : 4
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Q.11 Which of the following numbers will replace the question mark and complete the given
number series?
125, 88, 63, 46, ?

Ans X 1.35
& 2.33
< 3.38
X 4.37

Question ID : 26433069595
Status : Not Answered
Chosen Option : --

Q.12 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
GSLC, AMOF, UGRI, ?, IUXO

Ans X 1.0ULC
& 2. DPGE
/< 3.DSTN
« 4. OAUL

Question ID : 26433074751
Status : Answered
Chosen Option : 4

Q.13 Which of the following terms will replace the question mark (?) in the given series?
?, LSEO, NRDN, PQCM, RPBL

Ans X 1.PFJO
X 2.FPJI
X 3.TFPJ
o 4. JTFP

Question ID : 26433068983
Status : Answered
Chosen Option : 4

Q.14 Select the correct mirror image of the given figure when the mirror is placed at MIN

as shown below.

6ZkBMVd

M N

™ < @ZABWAC
:@SABINAY
x>bVM8NSI
v @SKBWWACY

Question ID : 26433080798
Status : Answered
Chosen Option : 4
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Q.15

Ans

In a certain code language,

‘A + B’ means ‘A is the sister of B’,

‘A — B’ means ‘A is the father of B’ and

‘A x B’ means ‘A is the brother of B’.

How is Rrelatedto Sif Q+ R—-P x N -S?

/5 1. Father
o 2. Father’s father
/5 3. Father’s brother
/< 4. Brother

Question ID : 26433070370
Status : Answered
Chosen Option : 2

Q.16

Ans

In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follows/follow from
the statements.

Statements:

All mobiles are computers.

Some computers are furniture.

Some furniture are tables.

Conclusions:

I. Some tables are computers.

Il. Some mobiles are furniture.

75 1. Both conclusions | and Il follow.
< 2. Only conclusion | follows.
«” 3. Neither conclusion I nor Il follows.

25 4. Only conclusion Il follows.

Question ID : 26433070387
Status : Answered
Chosen Option : 4

Q.17

Ans

Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

TIDE: RRAU :: REST : PVPF :: GAME : ?

1. EZJU
< 2. HBNF
X 3.1COG
2 4. TZNN

Question ID : 26433057485
Status : Answered
Chosen Option : 1

Q.18

Ans

Select the option that is related to the third word in the same way as the second word
is related to the first word.

(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)

Education : Teacher :: Treatment : ?

25 1. Hospital
2< 2. Labour
25 3. Medicine
«” 4. Doctor

Question ID : 26433079472
Status : Answered
Chosen Option : 4
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Q.19 Which of the following numbers will replace the question mark (?) in the given series?
5,31,161,811,?

Ans X 1.4500
X 2.4825
X 3. 4444
o 4. 4061

Question ID : 26433082010
Status : Not Answered
Chosen Option : --

Q.20 Select the set in which the numbers are related in the same way as are the numbers of
the following set.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(25, 280, 45)
(18, 192, 30)

Ans X 1.(12, 156, 24)
X 2.(14, 192, 24)
« 3.(12, 148, 25)
X 4.(13, 168, 54)

Question ID : 26433076481
Status : Not Answered
Chosen Option : --

Section : Part-B-General Knowledge and General awareness

Q.1 "to defend the country and render national service when called upon to do so" is
stated under

Ans X 1.Preamble of the Constitution
/< 2. Directive Principles
«” 3. Fundamental Duties
/< 4. Fundamental Rights

Question ID : 264330115628
Status : Not Answered
Chosen Option : --

Q.2 On the banks of which river was the war between Harshavardhana and Pulakeshin Il
fought?

Ans & 1. Narmada
#< 2. Krishna
< 3. Godavari
X 4.Ganga

Question ID : 26433089128
Status : Not Answered
Chosen Option : --
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Q.3 In shot put, the shot which is a metal ball weighs how many kg for men and women?
Ans X 1. Men-7.5 kg Women-4.5kg

25 2. Men-7.3 kg Women-4.5kg

5 3. Men-7kg Women-4kg

«” 4. Men-7.26 kg Women-4kg

Question ID : 264330115942
Status : Not Answered
Chosen Option : --

Q.4 How many pathways are constructed as independently organized conducting tubes in
plants?

Ans 7 1.two
< 2. four
& 3. five
X 4.0ne

Question ID : 264330115204
Status : Not Answered
Chosen Option : --

Q.5 The tenure of the UPSC members is .
Ans 1.6 years or age of 65 whichever is earlier

5 2.6 years or age of 62 years
/< 3.5 years or age of 65 years
25 4. 4 years or age of 62 years

Question ID : 26433089963
Status : Not Answered
Chosen Option : --

Q.6 The ultimate goal of Mission Indradhanush is to ensure full immunization with all
available vaccines for children up to years of age.

Ans X 1.three
« 2. two
< 3. eight
X 4. five

Question ID : 264330116167
Status : Not Answered
Chosen Option : --

Q.7 What was the term of 10th Five Year Plan?
Ans 7 1.2002-2007

< 2.2007-2012
#< 3.2005-2010
< 4.2004-2009

Question ID : 264330116120
Status : Answered
Chosen Option : 1
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Q.8 Who among the following inaugurated 2-day PM Kisan Samman Sammelan of India in

Ans

5 1. National People Register

/< 2. National Population Record
«” 3. National Population Register
/< 4. National People Record

October 20227
Ans X 1. Nirmala Sitharaman
< 2. Amit Shah
«” 3. Narendra Modi
< 4. Rajnath Singh
Question ID : 264330114956
Status : Not Answered
Chosen Option : --
Q.9 InIndia, in relation to Census, what is the full form of NPR?

Question ID : 264330116030
Status : Not Answered
Chosen Option : --

Ans

Q.10 Which sector runs nearly 60 percent of dispensaries in India?

# 1. Cooperative sector
«” 2. Private Sector

< 3. Joint Sector

Z5 4. Public Sector

Question ID : 264330115557
Status : Not Answered
Chosen Option : --

Ans

Sikkim?
X 1. Sikhs

2 2. Hindus
« 3. Buddhists
& 4. Jains

Q.11 Saga Dawa is primarily celebrated by which of the following communities of India in

Question ID : 264330105968
Status : Answered
Chosen Option : 3

Ans

Q.12 Microfinance is a service.

«” 1. financial
< 2. production
/< 3. software production

< 4. waste management

Question ID : 264330115310
Status : Not Answered
Chosen Option : --
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Q.13 Bihu is the popular dance form of which of the following states?
Ans X 1. Tamil Nadu

< 2. Telangana

5 3. Kerala
o 4. Assam
Question ID : 26433071420
Status : Answered
Chosen Option : 4
Q.14 The Hindustan Socialist Republican Association (HSRA) was founded at in
Delhi.

Ans 1. Ferozeshah Kotla
< 2. Mughal Garden
< 3. Red Fort
/< 4. Safdarjung Tomb

Question ID : 26433089888
Status : Not Answered
Chosen Option : --

Q.15 Who is the new Managing Director of the National Bank for Financing Infrastructure
and Development (NaBFID) effective August 8, 20227

Ans X 1. Sumita Dawra
«” 2. Rajkiran Rai
< 3. Arun Kumar Singh
< 4. Pankaj Jain

Question ID : 264330115013
Status : Not Answered
Chosen Option : --

Q.16 In India, the Green Revolution increased the production of which of the following?
Ans X 1.Eggs

o 2. Wheat

/< 3. Cotton

5 4. Coal

Question ID : 264330115418
Status : Answered
Chosen Option : 2

Q.17 Which among the following elements behaves like alkali metals as well as halogens in
its properties?

Ans X 1.Neon
2 2. Helium
o 3. Hydrogen
25 4. Lithium

Question ID : 264330115175
Status : Not Answered
Chosen Option : --
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Q.18 In which year the Asian Games were held for the second time in India?
Ans X 1.1941

X 2.2015
 3.1982
X 4.1978

Question ID : 264330116249
Status : Not Answered
Chosen Option : --

Q.19 What is used to measure the magnitude of an earthquake?
Ans X 1. Anemometer

5 2. Pressure sensors
< 3. Gravimeter
«” 4. Richter Scale

Question ID : 264330115993
Status : Answered
Chosen Option : 4

Q.20 Who won the Sangeet Natak Akademi Award in Manipuri in 2018?
Ans X 1. Radha Sridhar

< 2. Pasumurthy Ramalinga Sastry
< 3. Madambi Subramanian Namboodiri

«” 4. Akham Lakshmi Devi

Question ID : 264330115821
Status : Not Answered
Chosen Option : --

Section : Part-C-Elementary Mathematics

Q.1 The ratio of two numbers is 4 : 5 and their HCF is 6. Their LCM is:
Ans 7 1.120

X 2.88
X 3.168

X 4.72

Question ID : 26433091517
Status : Answered
Chosen Option : 1

Q.2 A toy is bought for Rs.950 and sold at Rs.1140. Find the gain percentage.
Ans X 1.16%

X 2.21%
 3.20%
X 4.19%

Question ID : 26433075144
Status : Answered
Chosen Option : 3
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Q.3 ¥x were borrowed at the compound interest rate of 5% per annum, 3 years back, where
interest were compounding annually. If the present value of the money borrowed is ¥

18,522, what is the value of x?

Ans 1 216,000
X 2. 215,500
X 3. 215,000
X 4. 16,500

Question ID : 26433075562
Status : Not Answered
Chosen Option : --

The total surface area of a hemisphere of diameter 14 cm is (Use = ?)

Ans X 1308 cm?

2 462 cm?
X 31232 cm?
X 4. 2156 cm?>

Question ID : 26433075747
Status : Answered
Chosen Option : 2

Q.5 Reeta can do a piece of work in 14 days and Geeta can do the same work in 21 days.
How many days Reeta and Geeta take together to complete the same work?

Ans 7 1.84
<264
< 3.88
< 4.6.8

Question ID : 26433075700
Status : Answered
Chosen Option : 1

Q.6 Find the greatest number which on dividing 1780 and 2452 leaves the remainder 4 in
each case.

Ans 7 1.48
K 2.52
< 3.16
K 4.24

Question ID : 26433081468
Status : Answered
Chosen Option : 4
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a7 The mean proportional between 4 +21J§ and & —31f§ is:

Ans ‘,1'1#{‘6
X2 4/18
X3 412
X4 4/8

Question ID : 26433081026
Status : Answered
Chosen Option : 1

Q.8 If the price of petrol is increased by 40%, by what percentage (rounded off to 1 decimal
place) should its consumption be decreased so that the expenditure on petrol remains
the same?

X1 257%
v 2. 28.6%
X3 40.5%
x4 355%

Ans

Question ID : 26433082780
Status : Not Answered
Chosen Option : --

Q.9 The total surface area of a cuboid is 4200 cm? . If the length and breadth of the cuboid
are 15 cm and16 cm, then find the height of the cuboid.

Ans X 1.3720 cm
X 2.62cm
« 3.60cm
25 4.70 cm

Question ID : 26433085494
Status : Answered
Chosen Option : 3

Q.10 Sumati travelled from point A to point B at 475 m/min. The moment that Sumati
reached point B, Rachna set off from point B, at a speed 1.6 times the speed at which
Sumati travelled and reached point C. If the total distance covered from A to C through
B was 45.6 km and the time taken from when Sumati started from point A to when
Rachna reached point C was 75 minutes, what is the distance between A and B?

Ans 7 1.19km
< 2.20 km
5 3.18 km
& 4.17 km

Question ID : 26433075295
Status : Not Answered
Chosen Option : --
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Q.11 Two numbers P and Q are such that the sum of 8% of P and 4% of Q is two-third of the
sum of 5% of P and 7% of Q. Find the ratio P : Q.

Ans 1. 711
2 2:5
w3 1:7
X4 4:9

Question ID : 26433081573
Status : Not Answered
Chosen Option : --

Q.12 In a golf club, 90% of members are men and the remaining are women. The average
height of men is 170 cm and the average height of women is 165 cm. Find the average
height of the club members.

Ans X 1. 168.5
X 21675
< 3.1705
& 4. 1695

Question ID : 26433075905
Status : Answered
Chosen Option : 4

Q.13 A can do a piece of work in 18 days. B can do this work in 24 days. A started the work
alone. After how many days should B join him, so that the work is finished in 15 days?

Ans o 1.11days
< 2.19 days
25 3.13 days
< 4.14 days

Question ID : 264330116851
Status : Not Answered
Chosen Option : --

Q.14 Find the distance covered by a car moving at a speed of 48 km/h for 3 hours 15
minutes.

Ans 7 1.156 km
< 2.165km
< 3.145km
< 4.154 km

Question ID : 26433076199
Status : Not Answered
Chosen Option : --
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Q.15 Successive discounts of 10%, 15% and 4% on ¥12,500 are equal to:
Al
@1 33320

X 2. ¥4,150
X 3. 35,240
X 4. 34,520

Question ID : 26433080221
Status : Not Answered
Chosen Option : --

Q.16 After giving a discount of 25 percent, selling price of an article becomes Rs. 9510.
What is the marked price of the article?

Ans X 1.Rs. 11640
< 2. Rs. 10200
«” 3. Rs. 12680
/< 4.Rs. 10850

Question ID : 264330116736
Status : Answered
Chosen Option : 3

Q.17 By selling a commodity for Rs.15,000, Subir loses Rs.2,000. What is his percentage
loss?

o1 11309
17

Ans

X2 11%
X3 10%

x4 102320
AF

Question ID : 26433080305
Status : Answered
Chosen Option : 1

Q.18 The average marks in geography exam of a class of 25 students are 64. If the marks of
three students were misread as 44, 46 and 61 in lieu of the actual marks 54, 64 and 67
respectively, then find the correct average.

Ans X 1.65.45
& 2.65.36
X 3.64.55
X 4.64.54

Question ID : 26433076220
Status : Answered
Chosen Option : 2

Download fapamanveMskeidsationTv.com




Q.19 What will be the difference in the compound interest if a sum of Rs.12,000 is
compounded annually and half-yearly at an annual rate of 10% for a period of 2 years?
Note :Round off the decimal to the nearest number.

Ans ' 1.Rs.66
< 2.Rs.196
/< 3.Rs.166
< 4.Rs.46

Question ID : 26433075075
Status : Not Answered
Chosen Option : --

Q.20 Teena spends 30% of her salary on food, 30% of the rest on fuel and saves the
remaining Rs.4,900. What is Teena’s salary?

Ans X 1.Rs.6,000
5 2.Rs.12,000
/< 3.Rs.8,000
4. Rs.10,000

Question ID : 26433076033
Status : Answered
Chosen Option : 4

Section : Part-D-English

Q.1 Select the most appropriate ANTONYM of the word given in brackets to fill in the
blank.

The company of friends made her feel (cranky), as she was all alone in her
apartment.

Ans X 1. awful
25 2. wishful
«” 3. cheerful
< 4. fearful

Question ID : 26433089747
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate synonym of the given word.
Fascinating
Ans & 1. Interesting
5 2. Dominating
25 3. Revolting
< 4. Intimidating

Question ID : 26433073982
Status : Not Answered
Chosen Option : --
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Q.3 Select the most appropriate ANTONYM of the given word.
Symbolise

Ans 7 1. Hide
X 2. Link
X 3. Slide
< 4. Align

Question ID : 26433066088
Status : Answered
Chosen Option : 1

Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Coherent

«” 2. Frekquent
5 3. Collide
/< 4. Ferocious

Question ID : 26433073731
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate meaning of the given idiom.
Silver tongue
Ans X 1. Speaking to annoy people
/< 2. Speaking to bore people
«” 3. Speaking with an eloquent expression to convince people

/< 4. Speaking to discourage people

Question ID : 26433074442
Status : Answered
Chosen Option : 3

Q.6 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

She have / left by the time / | reach home.
Ans X 1.lreach home
25 2. left by the time
«” 3. She have
2 4. No error

Question ID : 26433071860
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate synonym of the given word.
Splendid
Ans X 1. Stationary
5 2. Authentic
«” 3. Spectacular
/5 4. Enticing

Question ID : 26433087913
Status : Not Answered
Chosen Option : --
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Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Enterprising

«” 2. Maticulous
5 3. Erroneous
< 4. Potable

Question ID : 26433073507
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate meaning of the given idiom.

Public enemy number one

Ans X 1. A person who always smiles

«” 2. Someone who is the greatest threat to a group or community
/% 3. The opposition party leader

< 4. One who helps the poor

Question ID : 26433072573
Status : Answered
Chosen Option : 2

Q.10 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully:
Shakespeare was both a dramatist (better than) a poet.

Ans X 1.when not
X 2. as well as
X 3.or

«” 4. and

Question ID : 26433088798
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
| am been working_here for the past ten years.

Ans & 1. have been working here

5 2. is been working here
2 3. was been working here

5 4. having been working here

Question ID : 26433091372
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.
Dignify
Ans & 1. Condemn
& 2. Adorn
X 3. Oblige
& 4. Cure

Question ID : 26433090781
Status : Not Answered
Chosen Option : --
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Q.13 Select the most appropriate homophone to substitute the underlined word in the given
sentence.

These ornaments are coated with gold.
Ans X 1. gilled

& 2. gel
« 3. gild
& 4. guild

Question ID : 26433074013
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence to make it a meaningful sentence. If no substitution is required, select ‘No
substitution’.

One must not only have the ability to read voraciously but have the nec y training
in comprehending and remembering all the relevant details.

Ans X 1. not only have the ability for read voraciously but also have
5 2. not only have the ability to read voraciously but also had
25 3. No substitution

«” 4. not only have the ability to read voraciously but also have

Question ID : 26433092045
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Scientists are able to quickly the outbreak through a new immunisation.
Ans X 1.quench
< 2. scatter
< 3. quest
«” 4. quash

Question ID : 26433060336
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank no. 1.

Ans ¢ 1. audience
< 2. adult
25 3. accomplice

25 4. association

Question ID : 26433091359
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank no. 2.
Ans o 1. hindrance
/X 2. briefing
/5 3. catch
25 4. choice

Question ID : 26433091360
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans o 1. experience

/< 2. accorded
< 3. keened
X 4. saved

Question ID : 26433091361
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans X 1. merit

& 2. profit
< 3. money
«” 4. confidence

Question ID : 26433091362
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.
Ans X 1. childishness

< 2. happiness
«” 3. nervousness

X 4. trick

Question ID : 26433091363
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi

Q.1 gof-hra sr=pfgat =1 vg= arar are gl
Ans 1. T T U FT <) |@al

X 2. 3 SREA A 9gd AR &

X 3. Yaiil BT T BT B

X 4. 9=, B aral gl

Question ID : 26433063065
Status : Not Answered
Chosen Option : --
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Q.2 fafifed ¥ F o ard $19-91 82
Ans 1 IRWRFURI

X 2. 33U yfafes gra S g1
X 3. AT S gra) TR ¢
X 4. Fa 1 feR uer @i

Question ID : 26433085138
Status : Not Answered
Chosen Option : --

Q.3 fgfafad aein & e Suge aide v 8-
o ¥ fAyr B aren

Ans ¢1.3rﬂ%1$
X 2.3
7 3.39H
< 4. HITa|

Question ID : 26433065750
Status : Not Answered
Chosen Option : --

Q4 g P Bl gARN IR AT g IR @@ ST g gl
Tuda ¥ faein 2reg @ arer gof w91
Ans X 1. 3ud
X 2. 3rgHe™
« 3. Ry
X 4. 3TN

Question ID : 26433080875
Status : Not Answered
Chosen Option : --

Q.5 fFrafifad aea & Rad @ & gad Suged GeTa’T &1 ghn?
T 91 8 oY F S iy 9 i

Ans }(1_@521:[:{
X203
X 3.a
4. AREd

Question ID : 26433066736
Status : Not Answered
Chosen Option : --

Q.6 T A YWiTPd Mg P AT ¢ 3r=d] A IR g A 2|
FATETEIG & AT & MY IR IHAT Tt WR g g1 f&am |
Ans X 1. faet
& 2. 38
X 3. A
X 4. MR

Question ID : 26433074411
Status : Not Answered
Chosen Option : --
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Q7 3 fpdbe F Ba A aifiea R ferm
e T @t gf S TTes GRT HRS HeTaR B T P

Ans X' 1. 79
X 2.3
& 3.9
X 4. Afeadr

Question ID : 26433062612
Status : Not Answered
Chosen Option : --

Q.8 g Meg P fAwy A R}y ¢ arey F Raa W= Ft yfd siferw)
FHAM TR IR B 3G HIAT A1
Ans X' 1.4d
o 2.3
X 3. TR
X 4. Fg

Question ID : 26433063088
Status : Not Answered
Chosen Option : --

Q9 Foufifed e § @ 919 91 ve are frar-Ratvo & g @ 272

Ans X 1. SIfdar SaT 8N I
2. RRITET AT B
< 3. 81 gar & Sifeh s
X 4. Ty BT HATF

Question ID : 26433062955
Status : Not Answered
Chosen Option : --

Q.10 R 3 2req & fere SR arwaiwr fRw v fawet # @ gfw)
3difres

Ans X 1. SSHAD PIEl
o 2. 3D PTAEN
X 3. e i sieyeTd db W@
< 4. Sl HH ST 81

Question ID : 26433062391
Status : Not Answered
Chosen Option : --

Q.11 fFrafifEd o 3 YEifed Weg & R R Iuged Taigar e $1H-91 g2

i & A1y & QIR THe wi
Ans X 1. 3fisft

2. dfed
X 3. 3far
X 49

Question ID : 26433066901
Status : Not Answered
Chosen Option : --
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Q.12 weley g ¥ Ry Shra s 2-
Ans X 1. f®T YR TaT B

X 2. @1 g dar gl

3. @ SR dar g

X 4. R T et |

Question ID : 26433065870
Status : Not Answered
Chosen Option : --

Q.13 a1 § ¥@ifrd eg & I W T g BT 797 PRI
A BT AR D1 Hb W Ia@1 8
Ans X' 1.73
X 2. guadt
X 3.@H
& 4 UR

Question ID : 26433065696
Status : Not Answered
Chosen Option : --

Q.14 F Y ey & Rivor § 99 UigaTas W A=) A FfE 32
Ans X 1. T, UG, Fdbed

X 2. ISHUA, e, gerar

o 3. 99, wie, gefer

X 4. e, wdlf, Ff

Question ID : 26433063030
Status : Not Answered
Chosen Option : --

Q.15 sft Fwr A A =M A Ve & e [utex ot fRaa & = & wrm)
19 W YT eq fUTHR &1 yaigard e 3-
Ans X' 1.qd
X 2.9
X 3.Re
o 4. Tl

Question ID : 26433080858
Status : Not Answered
Chosen Option : --
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Q.16

Ans

Comprehension:

Frafafed meme & 9 3o eg g fat MU 71 Ay Y s @t weraar § fead R 3 g
BT | Tdeh WA o 1Y SUGeHRT fadhed &1 9T Hiford|

PR H o 1, BT 2. BY GBI ¢ | TARI Gich I BUH & | TRE-TRE
3. R A g R dTerE W A 4, _ OHER-UF §Ud YEd 81 39 996 ga A
5, , MER|

SubQuestion No : 16
o T 1 &Y gl & fore walftie Suged fawer o1 7= Fifvel
& 1.TF
X 2.9
X 3.99
X 4. %9

Question ID : 26433079597
Status : Not Answered
Chosen Option : --

Q.17

Ans

Comprehension:

faffed e 9 3o v et iU e §1 faw g o ot e & Red v @1 gfd
BT | U WS o AT SUGH] fddbey 1 9T Hiforg|

gﬁmﬁw1 PRSI 2, BUGH! §| BRI T I DU & | ARG-aRE
. NN P dRR BN 4, SHER-UA 893 6d ¢ 37 9% ue 7
5. , 3ER |

SubQuestion No : 17
e =i 2 A g & fore walfie Suge fawey &1 999 Fifvm|
X 1.118
X 2. iy
X 3. gl
o 4. T€F

Question ID : 26433079598
Status : Not Answered
Chosen Option : --

Q.18
Ans

Comprehension:

Frafafed e 9 39 Yea ge1 fat e B T T fiwed ot weradr @ Red i 3 gfd
P YA BT & e1T IUYH] fddhed BT 70 S|

gﬁmﬁm1 PRSI 2. BUGH! | TR QIS A B 8| TRE-IRE
3. MR AGIRI B AR A4, GHHER-TA BU 36 &1 37 99 qe
5, , JIER |

SubQuestion No : 18

feaa i 3 &) gfd & fore watfre Sugea fawen =1 9= Fifse)
K 1P
F2.F
X 3.9
X ad
Question ID : 26433079599
Status : Not Answered

Chosen Option : --
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Comprehension:

Frafafed meme & 9 3o eg g fat MU 71 Ay Y s @t weraar § fead R 3 g
BT | Tdeh WA o 1Y SUGeHRT fadhed &1 9T Hiford|

PR H o 1, BT 2. BY GBI ¢ | TARI Gich I BUH & | TRE-TRE
3. R A g R dTerE W A 4, _ OHER-UF §Ud YEd 81 39 996 ga A
5, , MER|

SubQuestion No : 19
Q.19 e W 4 F gfd & e Taifte suged fawe o1 997 Hifvm|
Ans s 1 @l
K 2.
X 3.d®
X 4R

Question ID : 26433079600
Status : Not Answered
Chosen Option : --

Comprehension:

faffed e 9 3o v et iU e §1 faw g o ot e & Red v @1 gfd
BT | U WS o AT SUGH] fddbey 1 9T Hiforg|

gﬁmﬁm1 PRSI 2, BUGH! §| BRI T I DU & | ARG-aRE
_ weRiAgIRI P ARG A4 GHMER-UA BUd Ied &1 57 Gadb e A
5. , &R

SubQuestion No : 20
Q.20 Yo R 5 B I & fore walfie Suged fawed &1 997 Fifvm|
Ans 1.
X 2.8
X 3@
X 4. 7w

Question ID : 26433079601
Status : Not Answered
Chosen Option : --
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\Venue Name iON Digital Zone iDZ 2 Sector 62
Exam Date 01/02/2023

|[Exam Time 11:45 AM - 12:45 PM

[Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 Eight people are sitting in two parallel rows with 4 people each in such a way that
there is equal distance between adjacent persons.
In row | - A, B, C and D are seated and all of them are facing south.
Inrow -V, X, Y and Z are seated and all of them are facing north.
B is the only neighbour of A and A sits exactly opposite Y. V sits at the extreme left
end of their row and is exactly opposite C. D sits to the immediate left of C and exactly
opposite X.
Who sits at the immediate left of Y?

Ans X 1.X
22
X3V
X 4.A

Question ID : 26433068746
Status : Answered
Chosen Option : 1

Q.2 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 universe
2 unicorn
3 understood
4 unhappy
5 uniform

Ans 1.3425/1
X 2.34512
X 3.32154
X 4.32145

Question ID : 26433069323
Status : Answered
Chosen Option : 1
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Q.3 Select the option figure which is embedded in the given figure. (Rotation is NOT

Ans

allowed)

A

& 2.

DN

Question ID : 26433069351
Status : Answered
Chosen Option : 2

Q.4 Three Statements are given followed by Three conclusions numbered I, Il and Ill.
Assuming the statements to be true, even if they seem to be at variance with

Ans

commonly known facts, decide which of the conclusions logically follow(s) from the

statements.

Statements:

Some tapes are glue.

Some glue are paints.

All paints are computers.
Conclusions:

I. Some tapes are paints.

Il. All glue are paints.

lll. Some glue are computers.

< 1. Only conclusion Il follows.

/< 2. Only conclusion | follows.

2< 3. None of the conclusions follow.

«” 4. Only conclusion lll follows.

Question ID : 26433081793
Status : Answered
Chosen Option : 4
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Q.5 Which of the following terms will replace the question mark (?) in the given series?
BSWG, CTXE, DUYC, ?, FWAY

Ans X 1.AAZV
 2.EVZA
& 3.VEAZ
& 4. ZVEA

Question ID : 26433068981
Status : Answered
Chosen Option : 2

Q.6 Which number will replace the question mark (?) in the following series?
63, 60, 66, 57, ?

Ans 7 1.69
K 2.70
X 3.55
X 4.65

Question ID : 26433068473
Status : Answered
Chosen Option : 1

Q.7 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.
KBT : PEU :: UQA: ZTB:: FJR: ?

Ans X 1.LNT
& 2. KMQ
< 3.JMU
4. KMS

Question ID : 26433057746
Status : Answered
Chosen Option : 1

Q.8 Which two signs should be interchanged to make the below equation mathematically

correct?
112-14+40+4x 18 =40

Ans 7 1.+and-
X 2. +and +
< 3. +and x
< 4.-and +

Question ID : 264330117507
Status : Answered
Chosen Option : 1

Q.9 In acode language, ‘our son’s car’ is coded as ‘fu da be’, ‘son’s birthday today’ is
coded as ‘la fu ja’, ‘today our match’ is coded as ‘he da la’. What is the code for the
words ‘car match’?

Ans X 1. dahe
X 2. fube
5 3. lahe
o 4. he be

Question ID : 26433086986
Status : Answered
Chosen Option : 4

Download fapamanveMskeidsationTv.com




Q.10 Which of the following numbers will replace the question mark (?) in the given series?
1,5,17,53,?

Ans X 1.157
< 2.145
3. 161
X 4.178

Question ID : 26433082008
Status : Answered
Chosen Option : 3

Q.11 Select the figure from among the given options that can replace the question mark

(?) in the following series.

T 7] [T [0
®

(o] [ (o] ol °
Ans
o 1. —
[ ]
K2 | —
L
~ 3 t
L]
x4 —
O

Question ID : 26433080501
Status : Answered
Chosen Option : 1

Q.12 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.
45*15* 13 * 52 * 26 * 37

Ans X 1.= - + = +
2.+, %, =, 5 %
v3_+’x’=,+’+
KA = %+ - —

Question ID : 26433087191
Status : Answered
Chosen Option : 3
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Q.13 A @ B means ‘A is the husband of B’.
A & B means ‘A is the mother of B’.
A # B means ‘A is the daughter of B’.
A % B means ‘A is the sibling of B’.
IfR#P @W % F & K, then how is R related to K?

Ans  ” 1. Mother’s sister’s daughter
< 2. Brother
5 3. Brother-in-law
2 4. Nephew

Question ID : 26433069616
Status : Answered
Chosen Option : 1

Q14 up o &l A Rwd T =y I Higr @R ST S 81 Gl W 98 9 el S

——
O

Ans

x 1.

4.

0%0][0dod O] [OIC-
Qe || Qe O | T2 U9 |0 Oe

Question ID : 26433089785
Status : Answered
Chosen Option : 4
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Q.15 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(40, 175, 15)
(30, 133, 11)

Ans X 1.(29, 110, 13)
o 2.(25,91,12)
< 3.(17,45,10)
X 4.(25,108, 10)

Question ID : 26433076547
Status : Answered
Chosen Option : 4

Q.16 Select the correct mirror image of the given figure when the mirror is placed at MN

as shown below.
M

mwrtfnhkl
N

vilAdAdntriswm

21 ddulrtrswm
xzlddnittirwm

X4alddntrtimw

Ans

Question ID : 26433082332
Status : Answered
Chosen Option : 1

Q.17 39 farey &1 aa ST il TR Teg & I UPR Fefia 8 R TR goRT s uga
Teg A el B (st B Srdqul Tregt & =0 A AT ST AR 3R Weg F srerireert
Rl B WS P STYR W T gk § Haifera el fovan s =y
W:Sﬂﬁfﬁf::w:

Ans X 1. TR

K 2. TR
& 3. a1
X 498

Question ID : 26433078825
Status : Answered
Chosen Option : 3

Q.18 Six people A, B, C, D, E and F are sitting around a circular table, facing the centre. E is
sitting second to the right of B. F is the immediate neighbour of B and A. D is sitting
second to the left of F. Who is sitting to the immediate right of C?

Ans X 1.D
& 2.E
X 3B
K 4A

Question ID : 26433081515
Status : Answered
Chosen Option : 2
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Q.19 In a certain code language, ‘PEOPLE’ is written as ‘QEOQME’ and ‘MONKEY’ is written
as ‘NOOLEZ’. How will ‘SILVER’ be written in that language?

Ans X 1. TJWMES
« 2. TIMWES
X 3. TWJMSE
< 4. TIWMSE

Question ID : 26433068890
Status : Answered
Chosen Option : 2

Q.20 Which of the following terms will replace the question mark (?) in the given series?
ZLJI, XJHG, VHFE, ?, RDBA

Ans 7 1. TFDC
X 2. TFEC
X 3.RFDC
X 4.TFDE

Question ID : 26433068633
Status : Answered
Chosen Option : 1

Section : Part-B-General Knowledge and General awareness

Q.1 Who among the following was the court poet of Harshavardhana and the author of
‘Harshacharita’?

Ans X 1. Rajashekhara
X 2. Kalidas

/< 3. Aryabhatta
¢ 4. Banabhatta

Question ID : 26433089126
Status : Answered
Chosen Option : 4

Q.2 UEHIGEAT B P! b Turie # srazamar gl
Ans 1 TEIEMd

X 2. gt

X 3. gARM IRt

X 4. i Bt

Question ID : 264330115294
Status : Not Answered
Chosen Option : --

Q.3 IR-gdl o+ Fei & I gl &2

Ans X 1. afeof e & Iwr Sicddia 3= g Siedy
2. IR e F Suwmedtiy 3= ad Biesy
X 3. TR ars & I piead g g wiedy
X 4. <feroh e & Suwres sy 3w g9 wiedy

Question ID : 26433087883
Status : Answered
Chosen Option : 3
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Q.4 Who was recognized as the Global Peace Ambassador at the India International
Conclave 2022?

Ans X 1. Aadesh Gindodiya
< 2. Ankita Sharma
/< 3. Anchal Kumar Srivastava

«” 4. Babita Singh

Question ID : 264330114997
Status : Not Answered
Chosen Option : --

Q.5 How many points advantage must a freestyle wrestler must have against his/ her
opponent for the bout to be declared over?

Ans 7 1.10
X 2.14
X 3.12
X 4.8

Question ID : 264330115934
Status : Not Answered
Chosen Option : --

Q.6 In India Green Revolution was led by :
Ans X 1. Norman Borlaug

«” 2. M.S. Swaminathan
/< 3. Jawahar Lal Nehru
< 4. Mahatma Gandhi

Question ID : 264330115416
Status : Answered
Chosen Option : 2

Q.7 Which of the following is known as the Flying Sikh of India?
Ans X 1. Mohinder Singh

< 2. Ajit Pal Singh
< 3. Joginder Singh
«” 4. Milkha Singh

Question ID : 264330116259
Status : Answered
Chosen Option : 4

Q.8 Skill India Mission was launched under the flagship of
Ans & 1. Ministry of Skill Development and Entrepreneurship

/< 2. Ministry of Information and Broadcasting
/< 3. Ministry of Labour and Employment
< 4. Ministry of Commerce and Industry

Question ID : 264330116191
Status : Answered
Chosen Option : 3
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Q.9 What was the approximate percentage contribution of the industrial sector to GDP in

1950-51?
Ans 7 1.118

X 2.152
X 3.224

X 4.62

Question ID : 264330116140
Status : Not Answered
Chosen Option : --

Q.10 The Sattriya Dance in Assam is inspired by

Ans X 1. Shakti Movement
«” 2. Bhakti Movement
25 3. Tantrism
< 4. Sufi Movement

Question ID : 26433086564
Status : Answered
Chosen Option : 3

Q.11 What is the atomic mass of Nitrogen?
Ans X 1.18

& 2.14
X 3.16
X 4.12

Question ID : 264330115173
Status : Answered
Chosen Option : 2

Q.12 In 1866, who among the following founded the East India Association in London?

Ans X 1. Raja Ram Mohan Roy
«” 2. Dadabhai Naoroji
/< 3. Satyendra Nath Tagore
< 4. Sayyid Ahmad Khan

Question ID : 26433090584
Status : Answered
Chosen Option : 1

Q.13 Rukmini Devi Arundale won various accolades in which dance form?

Ans X 1.Kathak
25 2. Kathakali
«” 3. Bharatnatyam
2 4. Lavani

Question ID : 264330115845
Status : Answered
Chosen Option : 3
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Q.14 Which article of the Indian Constitution states that India is a ‘Union of States'?
Ans 7 1. Article 1

< 2. Article 2

< 3. Article 10

X 4. Article 11

Question ID : 26433089908
Status : Answered
Chosen Option : 1

Q.15 Yd® TRE 94 91¢ AT SIH aTe] "HeHRaeTiii e’ U6 ER 81
Ans X 1. @
X 2.d%
& 3.97

X 4.fig

Question ID : 26433094889
Status : Answered
Chosen Option : 4

Q.16 Pick the odd one out. (Hint: farm processes)
Ans X 1. ploughing

& 2. sowing

” 3. eating

& 4. spraying

Question ID : 264330115541
Status : Answered
Chosen Option : 3

Q.17 According to the Census 2011, which state has the lowest female literacy rate in India?
Ans X 1.Bihar

«” 2. Rajasthan

/< 3. Himachal Pradesh

5 4. Uttar Pradesh

Question ID : 264330116054
Status : Answered
Chosen Option : 1

Q.18 HRA & fopa BT Hofl 7 TdaR 2022 # YR RTSIT AUR A § Wit £fEar yaferad &1
3IgureH fear?
Ans 1 AREV0

2 2. fyeden Sarao
X 3. gIE0aH SRR
X 4. T RiSL

Question ID : 264330114954
Status : Answered
Chosen Option : 3

Download fapamanveMskeidsationTv.com




Q.19 Under article 100(3) of the Constitution of India, the quorum to constitute a sitting of
either House of Parliament is of the total number of Members of the
House.

Ans X 1.one-fifth
75 2. one-third
/< 3. half
«” 4. one-tenth

Question ID : 26433089913
Status : Answered
Chosen Option : 2

Q.20 Which of the following is a symptom of bacterial infection?
Ans X 1.cardiac arrest

X 2. fracture
< 3. heart attack

« 4. fever

Question ID : 264330115228
Status : Answered
Chosen Option : 4

Section : Part-C-Elementary Mathematics

Q.1 The total surface area of a cube whose side is 0.75 cm is:
Ans X' 1.3.735 cm?

X 2.3.357 cm?

«” 3.3.375cm?

X 4.3.537 cm?

Question ID : 26433073050
Status : Answered
Chosen Option : 3

Q.2 The compound interest, compounded annually, on Rs.30,000 at 9% per annum is
Rs.5,643. The time period (in years) is:

Ans X 1.three
75 2. Five

«” 3. two
< 4. four

Question ID : 26433075239
Status : Answered
Chosen Option : 3

Q.3 After the successive discounts of 10% and 12% on the marked price of an item, it is
sold for Rs.9,504, then the marked price is .

Ans 7 1.Rs.12,000
X 2.Rs.15,000
< 3.Rs.13,000
X 4.Rs.14,000

Question ID : 26433061306
Status : Answered
Chosen Option : 1
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Q.4 On a certain sum of money lent out at 40% per annum, the difference between the
compound interest for 1 year, payable half yearly, simple interest for 1 year is ¥200.
The sum is:

Ans X 134,500
X 2. 24,000

X 3. 35,500
v 4.35,000

Question ID : 26433090291
Status : Answered
Chosen Option : 4

Q.5 A vendor buys 20 apples for Rs.300 and sells them at 15 for Rs.300. How many apples
should be bought and sold to earn a profit of Rs.300?

Ans X 1.65
X 2.50
X< 3.55
& 4.60

Question ID : 26433080359
Status : Answered
Chosen Option : 4

Q.6 A scooter's value was reduced by 20 percent and is now worth Rs. 72000. What was its
original price?

Ans X 1.Rs. 88000
< 2. Rs. 94000
«” 3. Rs. 90000
#< 4. Rs. 100000

Question ID : 264330116795
Status : Answered
Chosen Option : 3

Q.7 The score of the eleven players of a cricket team is as follows. 12, 9, 52, 34, 30, 22, 0,
56, 16, 27 and 72. Find the average score of the team.

Ans X 1.35
& 2.30
X 3.27
X 4.34

Question ID : 26433075965
Status : Answered
Chosen Option : 2

Q8  Caleulate the volume of a cylinder having a height of 56 cm and a base radius of 28 cm. (Use n= %)

Ans X' 1 216135 cm?
2 2.154853 cm3
X 3.123962 cm3
o 4. 137984 cm3

Question ID : 26433080072
Status : Answered
Chosen Option : 4
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Q.9 Mohan and Sohan are going from same place at 8 km/h and 9 km/h respectively. If
Mohan and Sohan are going in the same direction, then what is the distance between
Mohan and Sohan after 4.5 h?

Ans 7 1.45km
< 2.5.5km
< 3.5.0km
< 4.4.0km

Question ID : 26433075688
Status : Answered
Chosen Option : 1

Q.10 Find the fourth proportional to 7, 4 and 7.
Ans X 1.9

X 2.6
& 3.4
X 4.7

Question ID : 26433080033
Status : Answered
Chosen Option : 3

Q.11 The cost of a washing machine is Rs.25,000. The cost was first increased by 20% and
later on it was reduced by 20%. The present cost of the washing machine is:

Ans 1. Rs.24,000
X 2. Rs.25,500
X 3. Rs.25,000
X 4. Rs.24,500

Question ID : 26433082362
Status : Answered
Chosen Option : 1

Q.12 Kapil, Mohan, and Raju can do a piece of work separately in 18, 36, and 54 days. They
started the work together but Mohan left the work 8 days before the completion of
work and Raju left the work 6 days before the completion of the work. Find the
(approximate) time in which the work is completed.

Ans X 1.19days
o 2. 13 days
/< 3.15 days
< 4.12 days

Question ID : 264330116875
Status : Answered
Chosen Option : 2

Q.13 Find the ratio in which rice at Rs.120 per kg is mixed with rice at Rs.155 per kg to get a
mixture worth Rs.135 a kg.

Ans X 1.3:4
K2.2:3
K3.1:3
o 4.4:3

Question ID : 26433074915
Status : Answered
Chosen Option : 4
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Q.14 Amol raised the price of their products by 20 percent. How much discount should they
give so as to sell the products on no gain no loss basis?

Ans & 1.50/3 percent
X 2. 22/5 percent
< 3.27/5 percent
< 4. 35/3 percent

Question ID : 264330116760
Status : Answered
Chosen Option : 1

Q.15 The HCF of two numbers is 6 and their LCM is 253080. If one of the numbers is 4218,
what is the second number?

Ans X 1.488
X 2.120
X 3.245
& 4. 360

Question ID : 26433080271
Status : Answered
Chosen Option : 4

Q.16 Ramesh and Naresh start running on a circular track of length 1920 metres from the
same point simultaneously in the same direction with speed of 40 m/sec and 64 m/sec.
After how much time from the start will they meet for the first time anywhere on the

track?
Ans X 1.60 sec

75 2.90 sec
«” 3.80sec
75 4.70 sec

Question ID : 26433075530
Status : Answered
Chosen Option : 3

Q.17 The highest common factor and the least common multiple of 432, 648 and 576 are
and , respectively.

Ans 7 1.72,5184
X 2.36,5184
X 3.36, 2592
X 4.72,2592

Question ID : 26433085417
Status : Answered
Chosen Option : 2

Q.18 By selling a computer for Rs.26,000, a man gains 4%. If he sells the computer for
Rs.19,000, then his loss will be:

Ans 7 1.24%
< 2.14%
&< 3.20%
< 4.16%

Question ID : 26433074986
Status : Answered
Chosen Option : 1
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Q.19 Samreen and Garima completed a piece of work together in 8 days. If Samreen can
complete the same work in 10 days working independently, in how many days will
Garima complete the same work alone?

Ans X 1.20
% 2.35
& 3.40
X 4.45

Question ID : 26433075566
Status : Answered
Chosen Option : 3

Q20 YWhich of the following fractions is the largest?
2% 1A
5'10"15" 20
Ans 11
71 15
13

X2 ——
20

Question ID : 26433080320
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 Select the most appropriate meaning of the given idiom.

Face the music

Ans X 1. Listening to melodies from music albums
5 2. Music for peace and health
/< 3. Dance according to the tune

«” 4. To face the unpleasant consequences of one's actions

Question ID : 26433072576
Status : Answered
Chosen Option : 4

Q.2 Select the INCORRECTLY spelt word.
Ans X 1. Sentence

«” 2. Tendancy
X 3. Artificial
< 4. Matrimony

Question ID : 26433073503
Status : Answered
Chosen Option : 2
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Ans

Q.3 Select the most appropriate synonym of the given word.

Queer

< 1. Expedite
5 2. Ordinary
< 3. Valid

«” 4. Strange

Question ID : 26433072189
Status : Answered
Chosen Option : 4

Ans

Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Some passengers misplaced their luggages before boarding the train.

«” 1. misplaced their luggage
75 2. No substitution

/< 3. misplaces their luggages
25 4. misplaced his luggages

Question ID : 26433093078
Status : Answered
Chosen Option : 1

Ans

Q.5 Fill in the blanks with the correct homophone.

of anything is destructive in nature.

«” 1. Excess
< 2. Access
< 3. Axes
< 4. Axis

Question ID : 26433092935
Status : Answered
Chosen Option : 1

Q.6

Ans

Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Land with unoccupied pc ion is pretending to be more valuable.

< 1. was similarly to be
X 2. are likely to be

/< 3. have likely to be
o 4.is likely to be

Question ID : 26433088506
Status : Answered
Chosen Option : 4
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Q.7 Select the option that expresses the given sentence in simple past tense.

A. Arun knew the concepts of geometry.

B. Arun had been knowing the concepts of geometry.
C. Arun had known the concepts of geometry.

D. Arun was knowing the concepts of geometry.

Ans 1. A
X 2D
X 3.C
X 4.B

Question ID : 26433073515
Status : Answered
Chosen Option : 1

Q.8 Select the correct option to substitute the underlined segment in the given sentence. If
no substitution is required, select ‘No substitution’.

She is married with a doctor.
Ans X 1.adoctor
75 2. for a doctor
«” 3. to a doctor
75 4. No substitution

Question ID : 26433090817
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the underlined word.
As a boy, Charles was a boor who bullied other kids in his neighbourhood.
Ans X 1. creep
< 2. blighter
«” 3. gentleman
< 4.scum

Question ID : 26433088840
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate synonym of the given word.
Competent
Ans ” 1. Capable
< 2. Overqualified
75 3. Unfit
25 4. Unskilled

Question ID : 26433086484
Status : Answered
Chosen Option : 1
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Q.11 Select the most appropriate meaning of the given idiom.

Royal road
Ans X 1. Achieving something by birth

5 2. Achieving something by truth
25 3. Achieving something by false means

«” 4. Achieving something trouble free

Question ID : 26433084754
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.

Perplex
Ans X 1. Comprehensive

25 2. Complex
o 3. Simplify
5 4. Classify

Question ID : 26433072272
Status : Answered
Chosen Option : 1

Q.13 Select the INCORRECTLY spelt word.
Ans X 1. Jeweller

< 2. Naturally
¢ 3. Maintainance

X 4. Laundry

Question ID : 26433073739
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option to fill in the blanks and make the sentence
meaningful.

She hurt her and
Ans X 1. heal; tow

< 2. heal; toe
«” 3. heel; toe
< 4. heel; tow

Question ID : 26433092102
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate ANTONYM of the word given in the bracket to fill in the
blank.

My stomach is so (empty) | couldn't possibly eat more.
Ans X 1.teeming

” 2. overfed
& 3. flush
< 4. drained

Question ID : 26433084613
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank 1.
Ans X 1.spreads

< 2. grows
X 3. sets
o 4. flows

Question ID : 26433090525
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank 2.
Ans X 1. extracted

< 2. reduced
o 3. traced
< 4. found

Question ID : 26433090526
Status : Answered
Chosen Option : 3

Download fapamanveMskeidsationTv.com




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank 3.
Ans X 1.crowd

& 2.army
«” 3. caravan

25 4. band

Question ID : 26433090527
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank 4.
Ans X 1.encroached

< 2. lost
/5 3. hindered
& 4. waylaid

Question ID : 26433090528
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank 5.
Ans ¢ 1. benefactors

X 2. beneficiaries
/5 3. recipients
< 4. sponsors

Question ID : 26433090529
Status : Answered
Chosen Option : 4

Section : Part-D-Hindi

Q.1 yIabTd B YR P B0l 71 B ureh §l
IR 91 ¥ ¥@ifhd Yeg P S ygigar g &1 994 fadpedl # § B

Ans p1.3fEH
X2.%@
X 3.9
< 4.941d

Question ID : 26433079720
Status : Not Answered
Chosen Option : --

Q.2 I TEl M F g S 3~
IR 1R § fobar W=t Ffe v FHafafed & @ s 91w &1 9g4 $ifr)

Ans 1. 3H TR 3 & o g Al
X 2.3 75T oM & faw gE A
X 3. 3 TET oM & forg 01 &
X 4.3 T8 o & e s 2l

Question ID : 26433066973
Status : Not Answered
Chosen Option : --

Q.3 Fufafed aea A YEifed W & WM R IugT Taigard e $1H-11 g
I HIE FRAR B

Ans X' 1. Yad
X 2. 3D
X 3.TEd

o 4. fgm

Question ID : 26433066899
Status : Not Answered
Chosen Option : --
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Q4 ! araT SIS 8l
FHWR 3T Y TRz & fi U qieg T B

Ans X 1.gdY
X 2.5
 3.g&

X 4. g

Question ID : 26433070058
Status : Not Answered
Chosen Option : --

Q.5 g a1 # ¥@ifPd Meg P WM W i< e BT 997 HIoC|
9 IR Rt ardl Suat A arelt wur alard gt 21

Ans X 1. RHATAGT
2.1
« 3. PgIad
X 4. g

Question ID : 26433065694
Status : Not Answered
Chosen Option : --

Q.6 ol 33 A o AT ¥’ I & T 577 A UG g BI-TT 82
Ans X 1. 3w

X 2.5

o 3. 3ie9

X 4. "GO

Question ID : 26433066886
Status : Not Answered
Chosen Option : --

Q7 divdR F 92 37 91g afigR e a1 areg ¥ g Wi § Sy ad aren e 82
Ans X 1. S5 94

o 2. 915 3R
X 3. Foad @
X aFrasfe

Question ID : 26433069699
Status : Not Answered
Chosen Option : --

Q.8 Higar oia HTYor S TSt o, TS| AT # P rpur ATl g W & B a1 59 arem o
WY HTHYr Weg PT e 51 82
Ans X 1. 3FTHYU
2. fauemeor
2 3. AUHY

4. faeor

Question ID : 26433069746
Status : Not Answered
Chosen Option : --
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Q.9

RHGICH r
Swdw a1 § ot R & e Sugad fawe fFa & & «am gme

Ans X 1. %73 B - UId T T ST
2 2. %1 3 § — 7 1 1 e
X 3. wraRfg -t T BTy
o 4. P13 g — Uil 1T BT o
Question ID : 26433067043
Status : Not Answered
Chosen Option : --
Q.10 FrafafEd gerav o1 Suge o T ghm?
BTSN 9IS ST
Ans 1. TSFTT HAQS BT P BT
< 2. 9gd Ue feran
X 3. TS T HRAT
7 4. 9gTS forars s
Question ID : 26433065777
Status : Not Answered
Chosen Option : --
Q.11 M A € e e 81
IR a1 § IGiTpd g $ I Wee 1 T4 Fpel 7 § FIRm|
Ans 1. 9DHRI
X 2.vd
X 3.3
4. FeEm
Question ID : 26433079747
Status : Not Answered
Chosen Option : --
Q.12 fFafafad s arat geTat o1 g fawl & @ Fifvm)
ot et &1 W wRuRT & Ay "en
Ans X 1. TG ORAT
X 2. e FERAT

2 3. S BT UgTS ST
4. AHR BT HHR gHl

Question ID : 26433070003
Status : Not Answered
Chosen Option : --

Q.13 fgfafad 3 § o[ areg S=-91 872

Ans

1. TS AT a7 &R gavd |
X 2. H S B gt o AT

X 3.3g A R & firers & |

X 4. 99 3R IH U WA B

Question ID : 26433066985
Status : Not Answered
Chosen Option : --
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Q.14 & F AP URA A Jud 3F 39 914 7 TS B
SR 91 § ¥@ifhd Vg P UM W HIGIP 3T g FT SR?

Ans X 1. 8f3@
X 2. &
X 3871
4. &t

Question ID : 26433062857
Status : Not Answered
Chosen Option : --

Q.15 3= A 954 SARIP 7 A= & g Al g @ -
Ans s 1 SR

X 2. qifesa

X 3. udifa|

X 4. 3fwsd

Question ID : 26433062332
Status : Not Answered

Chosen Option : --

Comprehension:

FafaRed T 7 ¥ $© W gel fau MU §1 A Y fAeed! &1 werar 3 Rad Rl 31 gfd
FIT | T WA & foTT Iuga fadhed &1 Ia- Hiforg|

TP IR fowell A SaHpR G H Y 1. SfgT e feam A A A 2. @ 3T g gan
| 3T A 3. TEH X SIS DI T DI DI FT| Afh 4. DR A
TIRT ST I & 819 ¥ ARFR g2 5. [

SubQuestion No : 16
Q.16 fYaa &I 1 3t gfd & e waifire Suged s o1 9a= Sifsm)
Ans X 1. TR

X 2.UH
X 3. d=
o 40P

Question ID : 26433079585
Status : Not Answered
Chosen Option : --

Comprehension:

Frafafed e # ¥ 39 Yea g1 fat MU B T T fwed ot weradr @ Red i 3 gfd
P YA AT & 1Y IUYH fddhed BT 70 S|

TP IR el 3 STPppR T H 9 1. sfer s feam A w A 2. o3 g gan
| 39 ¥ 3. TGHR GUR SIS DI A DI DHITIR B | Al 4. DI A
IR ST I & 819 ¥ ARFR g2 5. [

SubQuestion No : 17
Q.17 Yo R 2 B g & fore walfie Suge fawey &1 997 Fifvm|
Ans X 1.3
& 2.3
X 3.UPsl
X 4.9

Question ID : 26433079586
Status : Not Answered
Chosen Option : --
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Q.18

Ans

Comprehension:

Frafafed meme & 9 3o eg g fat MU 71 Ay Y s @t weraar § fead R 3 g
BT | Y WA o 1Y SUGeHRT fadhed &1 9T Hiforg|

% SR o A Sapax Al H 3 1. sterdrs feam A wf 3 2. a3 ga gor
| 3T ¥ 3. TGHR GUR 3T BT A BI DI B | Al 4. DI A
I SSISH H g AMReNges. |

SubQuestion No : 18
e = 3 @) gfd & fore watfre Sugea fawen =1 9= Fifve)
X 1. fog
XK 2.d®
X 3.4
& 4R

Question ID : 26433079587
Status : Not Answered
Chosen Option : --

Q.19

Ans

Comprehension:

Frofafed e & @ 3o W et iy e §1 fw e fased @t gerd & fad _i! Bt gfd
BT | Y W1 o 1Y SUGeR fadhed &1 9T Hiforg|

& SR ol 7 Sapax Al H 3 1. sterdre feam A af 3 2. @3 ga gar
| 3T T 3. TGHR GUR 3T B TIM BI IR B | AP 4. P A
GERT 3iST 3 & 7Y I RIR e 5. [

SubQuestion No : 19
Yo i 4 &1 gl & fore wafftre Suged fawen o1 79+ Fifvel
X 1.5
X 2.8
o 3.0
X 4. 39!

Question ID : 26433079588
Status : Not Answered
Chosen Option : --

Q.20

Ans

Comprehension:

faffed e 9 3o v et U e §1 faw 7Y s ot e & Rad wiF @1 gfd
BT | Jdeh WS o Y SUGH] fadhed BT 90 S|

T IR foeclt A ITFaR A H 1. SfeT s feam A A A 2. @ 34 @ gor
| 3T ¥ 3. TGHR GUR 3 B TIM BI DI B | AP 4. PR A
TR SIS I & 7Y § IRER e 5. [

SubQuestion No : 20
Yo A 5 @1 gl & fore wafftie Suged fawen o1 79+ Fifvel
X 1.
X 2.8
& 3.1
X 4T

Question ID : 26433079589
Status : Not Answered
Chosen Option : --
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Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

[Roll Number

Candidate Name

Venue Name

Exam Date 01/02/2023

Exam Time 9:00 AM - 10:00 AM

Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 T fAf¥a g YTaT & 'MARINE' ®1 100’ 3R 'NORMAL' Fi '126' & U & Heds fear
STt 3 1 I UTHT § 'REALM® &1 frd U R Feas farar smem?
Ans # 1.78

/5 2.88
< 3.98
X 4.70

Q.2 318 AR, D, E, G, H, M, N, Y 3R Z Tw el ufda o Iwr & iR @ o3& 99 g1 Y ufaa
¥ folt v RR W 33181 Y 3R 2 & g Faa di9 aafda 93 §1 E, Z & 13 3R g I
R Y3181 E 3R D & i Faa &9 aafda 93 81 G, D & a1 3R fohdft vb A R 3T 3,
AfrT ifFR & frdft MIRR WA 3818 1M, 2 F SF Ta AT ISTRI N, H F 318 3R
TR WM TR 3T 81 H & 913 3R fha safda 93 82

Ans 1 dF
xX2d
X 3.0
X 4. BT

Q.3 P 3ER-TYE & TS Tar & uHfIg (?) F RIF W MHT 4GaT B YUl A2
DKBN, ENWS, ?, GTMC, HWHH

Ans X 1.RQFX

X 2.QRFG
o 3. FQRX
X 4.GQFR




Q4 I fapey &1 99 FIRTT &t TR g | I UpR Hafta 8 ForT upR g3vT Weg ugd
e | Haftd 31 (reat o1 3yl e} & T4 A AT B 3R 3= Weg A SfeRIw~as!
P AW F MUK TR TH-gAR A Wafta T8 ST 1)
S : GRAT : WRAT: 2
Ans X 1.3
X 2.5iaT
< 3.3(d
& 4. ST

Question ID : 26433067976
Status : Answered
Chosen Option : 4

as & 12 AT F T guur ufafe @ Tue H F9 guur HY griw v

FFAR MN R @1 1 &

M
GRO36VEt

N
X 1. tEV3EOAD
X2 $1IV6EOAD
&3 tIV3e0Aaa

X4 tAIVOEORD

Question ID : 26433089460
Status : Answered
Chosen Option : 3

Q.6 i fw Tu Wt @1 MRd T @ 98 M & g fe g it faeet @) wreR
ST a1fgu?

72-6+2%x216 +24 =420
Ans o 1.- 3R =

X 2.- 3R x
X 3.x 3R+
X 4.-3R+

Question ID : 264330117561
Status : Answered
Chosen Option : 1




Q.7 iF ®yF R 1Y §, e a1 @i fAsed 1, 1 3iiv 1 fow e § 1| Fy= & 9o AEd g, va
& 3 I U F 79 a2l § U wdta 2 g, Ruifya w3 6 S fraed sy a1
difh U/ ARV BT /B g
DY
P U T &l
Tt =1 e €1
P90 v 2aa gl
e
I $O IR A 8
Il. $9 Ue Rewas g1
. $° feawas a1 81

Ans X 1. 9t FImY SEROT R §

X 2. Had FpY 111 3FTERUI BT &
o 3. Pacl B 11 3R 11l 38R B §
X 4. Pac ey | 3R 111 TRV B &

Question ID : 26433090996
Status : Answered
Chosen Option : 3

Q.8 faw 7T aftemRur # Wghra w3 F g fawel # fag e f5= 3 fagl &t e sgan
%Tzs+58x5—96=352
Ans g1+ 3R =
X 2. +3R—
X 3.+ 3R x
X 4.+3R-

Question ID : 26433082666
Status : Answered
Chosen Option : 1

Q.9 I ey &1 997 Y, Wit A1 e A S TR Yafid 8, o U R ugen v ga U A

Heiftra § 3R uieal ug 96 U & Hefla 31
104 :13::?:37::168: 21

Ans  # 1.296
75 2.248
< 3.304
75 4.280

Question ID : 26433074548
Status : Answered
Chosen Option : 1




1o 30 fased T F 0 FL S A & TS JplT A afAed g
(3T gA # IgAfa 7 7)

Fd

>

N

=)
N

X

o 3.

"
R
<

X 4

Question ID : 26433085744
Status : Answered
Chosen Option : 3

Q.1 u® A3 $e uTaT §, 'DANCE’ %1 'AECDN' & ¥ # forRaT 91T 8, "'MUSIC' &1 'lUCMS' &
Fq ¥ forar sirar €, I3t WTwT # 'SONG' FY $4 ferat smem?

Ans X 1.SNGO
X 2. OSNG
25 3.GNSO
& 4. OGNS

Question ID : 26433069654
Status : Answered
Chosen Option : 4

e b




Q12 Fimar faweT & T ToT F TeARRE (?) F TIH W AT FFA YT H 0T F1M?

Sm (28

Question ID : 26433078967
Status : Answered
Chosen Option : 2

Q.13 frafafaa & @ w19 a1 fawe &t w18 e § uy g (2) S ufawnfa s
103, 110, 105, 2, 107, 114, 109

Ans X 1.111

X 2.110
o 3. 112

/5 4.108

Question ID : 26433089445
Status : Answered
Chosen Option : 3




Q.14 g ¥} Fi9 @ w@&m < 7 y@ar 7§ vyg (7) & R™_E W mefte
2880, 480, 96, ?, 8, 4

Ans o 1.24
< 2.46
< 3.56
< 4.76

Question ID : 26433076748
Status : Answered
Chosen Option : 1

Q.15 : I - M, N, O, P, Q 3R R Ef201 #t 3R 7@ v th ffR A9 TIN, P iR Q & &
AL HARIO,RP TS AR P T A 21 M, PP aTE 3R St 97rar A 81 afe Q ufea & ar¢
RR W ITR, a1 0 F T 3R St T A HI 93182

Ans X 1.N
& 2. M
< 3.Q
K 4.P

Question ID : 26433079062
Status : Answered
Chosen Option : 2

Q.16 -7 &R-TYE <1 TS Tar B uyRE (?) F T U ATHT a1 $I gl H7m?
AZME, CYOG, ?, GWSK, IVUM

Ans X 1.FXQJ
& 2.FYRJ
& 3.FXRJ
" 4. EXQl

Question ID : 26433067939
Status : Answered
Chosen Option : 4

Q.17 ?Wﬁhﬁ%ﬂmwnﬁmw%ﬁwmﬁ%mmﬁm
?

1 pointed
2 pollen

3 populate
4 popular
5 podium

Ans X 1.53,1472
25 2.534.21
75 3.54,2,3,1
o 4.512,43

Question ID : 26433069298
Status : Answered
Chosen Option : 4




Q18 s @, 1, w, + Y GTer U & ury Fr & sreer-senr fRufant wr
gl I3 g '+ ST a9 o & A9l Gos W 9 A Sie|

Ans X 1.1
X2@
o 3.7
X 4 e

Question ID : 26433089512
Status : Answered
Chosen Option : 1

Q.19 I fapeu &1 99 B §il ufed ue A I UoR Hafid @ RO 1oR g1 ug g ug @
Tl @ 3R TuT ug R ug A Taflka 71
QUEST : VUGWS :: REACH : JECGT :: SOLVE : ?

Ans X 1.UQNXG
25 2. VONXG
& 3. GXNQU
25 4. GXNoV

Question ID : 26433087192
Status : Answered
Chosen Option : 3

P % Q BT E'P,QHTUE &'
P+QHTATZT P, QBRI
P=QH AT P, QBT
P#Q PTAF TP, QB UA &I
IRL+M%N=0#Pg, P, L fpH yoR Haftd 82

Ans X' 1. HH
o 2.qlal
X 3. Sffer
P SEAGIRYEIE]]

Question ID : 26433087004
Status : Answered
Chosen Option : 2

Section : Part-B-General Knowledge and General awareness




Q.1 1873 ¥, I TA-NYF THTST BT I | TgT 71 fHA HgT A1 8T 82
Ans f1.@ﬁ'®l’f@

X 2. MidexE pa

X 3.7 R SR

X 4. i Ba

Question ID : 264330115725
Status : Answered
Chosen Option : 1

Q.2 IquanT § HRTRA et 21
Ans }(’1_3%@

X 2.9

o 3. 3b-icl

X 4. UTERT

Question ID : 26433087891
Status : Answered
Chosen Option : 3

Q.3 YRA ¥ Sqy START & fapT, I@R@TE 3R UG B SEHTA B BT 872
Ans X' 1. HRdE 2T YT ol

X 2. YR fqumu wfdeRor

o 3. URAIT SfAER STemr ufeeor

X 4. R ST SR eI

Question ID : 264330115595
Status : Answered
Chosen Option : 3

Q.4 I fpae grRT forar war ur?
Ans }(1_3@3
& 2. Dife

X 3. TRAEN
X 4. faumaed

Question ID : 26433090572
Status : Answered
Chosen Option : 2




Q.5 59 @ T ASH UTY: STHR BT ¢ P & & U AareR 8 giar &, St 22 T
(20.12 HieR) FaT 3T 10 Wie (3.04 Hiex) AT Ea1 872

Ans g1 fdc
X 2. dF g
X 3. didield
X 4. IRGeAA

Question ID : 26433089937
Status : Answered
Chosen Option : 1

Q.6 YR & Tiay™ &1 Fafaf@a & 3 #19 a1 e 7o axmsi & Rrwar ok Aty &
HREOT Y& HAT 82

Ans X 1.3[J®53 35
o 2. TG 22
X 3. 3G 47
X 4. 3 J%G 10

Question ID : 26433086806
Status : Answered
Chosen Option : 2

Q.7 o o1 fyarfea afgarsit grRT g=mn SM arar Tork @1 aiffe der, &g ue
o 7T ST B

Ans X 1. @lfds

X 2. 31
X 3. BIEH
o 4.7

Question ID : 264330115105
Status : Answered
Chosen Option : 2

Q.8 2020 FoHBTN Wrcifis F fFH 71 7 Waife ol yges siar?
Ans g1 T

X 2. Ggad T AR

X 3. 3¢ focH

K 4.%F9

Question ID : 264330115924
Status : Marked For Review
Chosen Option : 2




Q.9 fgferfaa d § ®19 AT 3UTE H BT ISEIV & ?
Ans X 1. ftdl & forg fomm o

X 2. 3UBR dY
& 3.9 79, €.
X 4. FuRIT AR

Question ID : 26433054802
Status : Answered
Chosen Option : 3

Q.10 Jufeae TAIST AT, 98 44 8 Y TR IUHT, 3R ATIH F AWPH & 91
T & e Iuarsy gar 21

Ans o 1.9dd
X 2. AT 3R YT R
X 3. fawt o
5 4.919

Question ID : 264330115348

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.11 Jfg IR ASIgI B TReTd ¢ MR ATd PTH PY @ § Al a4 SAfdNad HeigR [y avg Pt
RIS & Hifsa §2

Ans X 1. 951G SRISATRT
o 2. T5H SRISATR
X 3. TATHD SRISHIRT
X 4. GIIIAT SRIGRTR

Question ID : 264330116091
Status : Answered
Chosen Option : 2

Q12 FAIURR, WA TEIEMRR s RAfdywu gl
Ans X 1. BicRH hiahe

X 2. Sicrray sfiRmgs

X 3. iR grelsiass

o 4. BIRTH FHEHT

Question ID : 264330115164
Status : Answered
Chosen Option : 4




T 3% AR & fore =T ywor & werfara faar war

Question ID : 264330115893

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.14 &R ard RieHy uz &1 PR AR
Ans X 1 ST

X 2. st
o 3.7t
X 4. Ui

Question ID : 264330115264
Status : Answered
Chosen Option : 3

Q.15 g & & a1 e e ot g 82
Ans o 1. TquUl

X 2.3 IoRa U8

X 3. 9qd faerg

X 4. s faam

Question ID : 264330115393
Status : Answered
Chosen Option : 1

Q.16 fmfifead wemdars # ¥ $19 Jars 2022 § WRd & Agufa 92
Ans X 1. JEAY DI

o 2. 30T

X 3. SRR BTG

X 4. =

Question ID : 264330114887
Status : Answered
Chosen Option : 2




Q.17 FfaAe R TsuTa F 9 Jud F THu Fel B
Ans o 1. TBIHA

X 2. T AP YT TN e

X 3. HgTead

& 4. T2 g1d 3y

Question ID : 26433089186
Status : Answered
Chosen Option : 1

Q.18 30 3iid, 2022 B N 341w THf WTE FT UGUR fFra Juren?
Ans  p» 1. HIS Ui

X 2. Ffe w_isa

X 3. fomia Sireh

X 4. TF g Rqul

Question ID : 264330115051
Status : Answered
Chosen Option : 4

Q.19 TdaR 2022 9% &1 FRAM F AR, YRa F FHefka Jaa1 3R TRIRwn, 3R gar Ry o
Qe 7 P 82
Ans x1.s@=ﬁ%w1a
o 2. 31 8 31
X 3. AR™UI I
X 4. oo Rfsg

Question ID : 264330114929
Status : Answered
Chosen Option : 4

Q.20 3R qeeh Fraferfad & A fea wreia 7o & ufaures 82
Ans 1 WRddeaH

X 2. DUDpdl

X 3. sffss

X 4. BUD

Question ID : 26433071666
Status : Not Answered

Chosen Option : --

Section : Part-C-Elementary Mathematics




Q1 TS HaSd B HHd § Uga IS Y & 5%, 2% P HH §1d1 § 3R ST a1 FrAa A
HIS =T A HART: 10%, 20% P! J Tt 81 MaTsa ot siaa # sifaw ufvads w32

Ans 223
v1.22-9
250 5

123
5 2. R |
2225{]3{1

. 153
& 3. RN |
1?250;{1

113
x4 210
21250 Yo

Question ID : 26433076073
Status : Not Answered
Chosen Option : --

Q2 T® YRrT AFISTH T IR T NoT HRar @ S ST 800 m 3t gt W 31 9fE 3w 8
kmllég%nlhﬁmﬁa@a?ﬁﬁ?ﬁqﬁﬁ ¥ e gfer it &t fpat gr
G ?

Ans X 1.4000 m
o 2.6400 m
2 3.5600m
< 4.4800m

Question ID : 26433073133
Status : Answered
Chosen Option : 3

Q3 %ﬁgﬁﬁﬁaﬁﬁmﬁs%aﬁq@aﬁm%ﬁﬁﬁ%wmﬁﬁﬁﬁmaﬂ
?

Ans 4 1.10.25%

& 2.25%
< 3.15.25%
< 4.18%

Question ID : 26433083059
Status : Not Answered
Chosen Option : --




5 7
— of — X6+ 15— 103l Tellpd A T &2

850
K1 —
64

425

128
425

64
525

64

Question ID : 26433081002
Status : Answered
Chosen Option : 3

Q.5 THM 9 &R U T FOR 450 , SaH T Yo IR U 3 g 120 B1 wfasra &
SHHE gfs & WeH d Y& Hafs ¥ I e
Ans x 1. 39
2 3.3%
K3 2.3%

x4 2%

Question ID : 26433080127
Status : Not Answered
Chosen Option : --

Q.6 TP R 15 m/s B ATe A ST Y= BT 8, 12 VP ale S 1¢ U gl 3! fazm
T 20 m/s T AT F TR ' UPHsA F AT P IR= Ha1 8| Rrasl &) TR I uwsa
P forg fpa Wiex a@ = usm?

Ans X 1.754m
& 2.720m
25 3.740m
X 4.744m

Question ID : 26433075694
Status : Answered
Chosen Option : 2




Q7 T He H, A 5 FRIG W U & Twar 8 3R B 3 RGN R Ve o gwar 31 Fuifva Fifse
5 919 3 T 1Y s &8 B A I 40 FRIG B U e A fova-n aug @

Ans X 1.10%c
o 2.56C
X 3.126¢
X 4.87%C

Question ID : 26433071340
Status : Answered
Chosen Option : 2

Q.8 Wil 7 T HiGTgd WBiF IS Bt 10% & ATH TR 34T, 9] A T ATAND DI 5% DI gI W
39 faam iR 3elt® A 3 Higd B 20% & a1H W 99 faar afe Mg sq 26,270 &
T, @ G-t & e Miarga &1 %9 9o (2 H) |1 912

Ans <~ 1. 24,650

2 5,000
X 3.%4,500
X 4. 75,500

Question ID : 26433075546
Status : Answered
Chosen Option : 2

Q.9 ¥ 3T 22,500 & TH Ade WG 32 & 3R 24,500 F 39 € & SAbe @A I3 &, a1 ge
gfa=rd 31a IR | (TP SAbe a1 3ifdpd Tea 22500 2)

Ans X 1.18 ufawd
o 2. 10 Ufc=rd
X 3. 12 ufa=rd
X 4. 15 ufa=d

Question ID : 26433080173
Status : Answered
Chosen Option : 2

Q.10 12, 25 3R 18 & faUTST 3 ST T TS TWT 3R 4 HPTT T DI TE&A & ot gof
SR F1d PR
Ans X 1.1200
X 2.600
& 3. 900

< 4.300

Question ID : 264330116646
Status : Answered
Chosen Option : 3




Q11 TH gHER [l avg ot Wiig R FaffEa & ge demsi @) givon swar g1 398 3
FI- AT UTed & e Wad o=t AT 872
A. 15% 3R 18% B! 3 AN B
B. 6 IXgU WIS 3R 2 Yo Tl
C. 30% &I T&h THd Je
Ans X 1.A 3R C G TSN THH Fe e Il 8

o 2. ST A
X 3.9 B
X 4.9ATC

Question ID : 26433075762
Status : Answered
Chosen Option : 2

Q.12 7f2 24 cm FHTE ATQ TP T G Lp BT AT 392 1 cm’ B, ) ST 7 g
AThd FT 82

Ans X' 11851 cm?
% 2.191 mcem?
% 3.163 mcm?

o 4. 175 1 cm?

Question ID : 26433076088
Status : Not Answered
Chosen Option : --

Q.13 3} wufeTal A 3R B & YR BT 3(UTd A 5: 3 81 TR A P YR A 5% Pt gi &) oT 3%
A TYT B BT FA HUR 15% TGHX 92 kg § 91T, @t B & YR H g Ufa=d-gies (Graed & 2
R 9% Y) I BIFTI

Ans 71 3167 Ulded

X 2.36.66 Ufa=ra
X 3.32.66 Ufa=ra
X 4. 30.66 Ufad

Question ID : 26433080162
Status : Not Answered
Chosen Option : --

Q.14 HHT: 50 3R 80 & M 3 AT BT DI 3 Hamait A IR B F) fa™ wR, wra sivra
3P 60 81 BT A 3R B & BT BT HHT: SJUTd F1d PIfTTI

Ans X 1.3:2
K 2.1:2
o 3.2:1
K 4.2:3

Question ID : 26433081009
Status : Answered
Chosen Option : 3




Q.15 TP Y=RIRT AT U & Tohqfes TR 3 T A 20% Ufray Bt &R A 214,112 T AT B
YFIRTIRT JTd PO

Ans X 1.%8,099.60
< 2.%9,166.87
75 3.%7,167.70
o 4.38,166.67

Question ID : 26433082722
Status : Not Answered
Chosen Option : --

Question ID : 26433079938
Status : Answered
Chosen Option : 3

Q.17 3 W B F1d £3,300 21 10 H B FHa (2 F) AT ERN?
Ans % 1.210,000

x 2. 12,000

»3 211,000
x 4 33,000

Question ID : 26433076010
Status : Answered
Chosen Option : 3




Q.18 gfe 12 739 a1 9 ARENE fpeft S B 36 7 A H TSI ¥, <t 16 oW 3 18 AlkaTy
It FT P R A | fHan a7 &1 9wg A

x1.1321
5

Ans

3

X2 14-
5

4

x4 122
5

Question ID : 26433082929
Status : Not Answered
Chosen Option : --

Q.19 Rs.1,00,000 BT TSP TR A GRT B BT 6% & @IH U 9T ST & | B TR 9199 A B 3% B W)
AT B 1 R AT | A T ATHRT 1 82

Ans X 1.Rs.2,280 &I gl
2. Rs.3,280 &1 g1
3. Rs.2,802 BT ATH
& 4. Rs.2,820 &1 @Y

Question ID : 26433076373
Status : Not Answered
Chosen Option : --

Q.20 TP Pias A 3 BRI g1d &1 TH. H19. # 500 A | 450 BT UMY §U, Wafe TH.T. & 2000 BT
#1500 BT UTH §U| HIael o1 TYad UTH Ufa=rd &1 82

AN X1 76.75%
X2 75.5%
v 78%
X 4 79%

Question ID : 26433082497
Status : Not Answered
Chosen Option : --

Section : Part-D-English




Q.1 Select the correct idiom that can substitute the italicised group of words in the given
sentence.

Prof. Ram Prasad was an environmental activist, and apparently, he became annoying
and irritating to leather factories over the years.

Ans X 1.avexed question
25 2. aslow coach
#5 3. an uphill task
" 4. athorn in the flesh

Question ID : 26433084762
Status : Not Answered
Chosen Option : --

Q.2 Select the correct option to substitute the underlined segment in the given sentence. If
no substitution is required, select ‘No substitution’.

Slow and steady wins the race.
Ans X 1. will win the race

«” 2. No substitution
25 3. had won the race

25 4. won the race

Question ID : 26433090808
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate synonym of the given word.

Blend
Ans X 1. Scatter

75 2. Disunity

«” 3. Fusion
75 4. Destruction

Question ID : 26433072072
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate homonym to fill in the blank.

This nation is to each of its citizens.
Ans X 1. fur

” 2. fair
75 3. fare
X 4. feel

Question ID : 26433088790
Status : Not Answered
Chosen Option : --




Q.5 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

It is quite comprehensible that now young people's minds are constantly being
reshaped by the media's constant meddling of certain unfathomable ideas and moral
standards.

Ans X 1. Constantly
75 2. Meddling
& 3. Comprehensible
75 4. Reshape

Question ID : 26433092863
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate synonym for the underlined word in the given sentence.

The moral failure was the result of his lassitude.
Ans X 1. luxury

5 2. derision
75 3. indulgence

«” 4. weariness

Question ID : 26433073752
Status : Not Answered
Chosen Option : --

Q.7 Select the most appropriate synonym of the underlined word.

A leading actor has said in a new interview that nepotism does not matter, and she is
the best example of that.

Ans X 1.unbiasedness
75 2. objectivity
75 3. neutrality
«# 4. favouritism

Question ID : 26433088839
Status : Not Answered
Chosen Option : --

Q.8 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The shield used by the / warrior have been one / made of strong iron.

Ans X 1. No error
#5 2. made of strong iron

" 3. warrior have been one

75 4. The shield used by the

Question ID : 26433099906
Status : Not Answered
Chosen Option : --

ol -1




Q.9 Select the correct spelling of the word to fill in the blank in the given sentence.

Shyam an letter from his employer.

Ans X 1.reseived; knowledgement
25 2. recievid; acknowledment
#5 3. recieved; aknowlegdement

w# 4. received; acknowledgment

Question ID : 26433084767
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

The robber showed a clean pair of heels when the policeman came nearer.

Ans X 1.stole and ran away with heels
25 2. showed how clean the heels were
25 3. stood so as to show the heels

«” 4. ran away

Question ID : 26433072234
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate ANTONYM of the given word.

Truth
Ans X 1. Reality

& 2. Lay
/< 3. Loyalty
w# 4. Falsity

Question ID : 26433072859
Status : Not Answered
Chosen Option : --

Q.12 Select the option with the correct spelling of the underlined word in the given
sentence.

They waited for him in the adjcent room.

Ans X 1.adgencent

" 2. adjacent
5 3. adjacentt
#5 4. addjacent

Question ID : 26433073610
Status : Not Answered
Chosen Option : --




Q.13 Select the most appropriate option to fill in the blank.

He seized a thief by his and forced him to answer.
Ans X 1. colour

< 2. caller
#5 3. choler
w# 4. collar

Question ID : 26433087942
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The teacher asked me to tell him what is his name?
Ans X 1.whathe is called is.

25 2. what the name is.
" 3. what his name was.

< 4. what name is he?

Question ID : 264330102392
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate option to fill in the blank.
The child not guilty of shoplifting.

Ans X 1. questioned
75 2. said

«# 3. pleaded
75 4. nagged

Question ID : 26433085599
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence

without changing (2) meaning. Such changes can be in the form (3)
changes from negative sentences into assertive, interrogative or exclamatory

sentences and vice versa (4) change in narration or change in voice or changes

from simple to (5) or complex sentences.

SubQuestion No : 16

Select the most appropriate option to fill in blank number 1.
#5 1.change
X 2. of change

#5 3.to change

w# 4. changing

Question ID : 26433088564
Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)

changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.

SubQuestion No : 17

Q.17 Select the most appropriate option to fill in blank number 2.

Ans

o 1.its
X 2. her
5 3. his
X 4. their

Ch

Question ID : 26433088565
Status : Not Answered
osen Option : --




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)

changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.

SubQuestion No : 18
Select the most appropriate option to fill in blank number 3.

X 1.in
< 2.0n
X 3.at

o 4. of

Question ID : 26433088566
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence
without changing (2) meaning. Such changes can be in the form (3)

changes from negative sentences into assertive, interrogative or exclamatory
sentences and vice versa (4) change in narration or change in voice or changes
from simple to (5) or complex sentences.

SubQuestion No : 19

Q.19 Select the most appropriate option to fill in blank number 4.

Ans

25 1. but

o 2. 0r
X 3.s0
5 4. yet

Question ID : 26433088567
Status : Not Answered
Chosen Option : --




Q.20
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Transformation of a sentence means (1) the words or forms of the sentence

without changing (2) meaning. Such changes can be in the form (3)
changes from negative sentences into assertive, interrogative or exclamatory

sentences and vice versa (4) change in narration or change in voice or changes

from simple to (5) or complex sentences.

SubQuestion No : 20

Select the most appropriate option to fill in blank number 5.

5 1. negative
75 2. assertive
#< 3. positive

¥ 4. compound

Question ID : 26433088568
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi

Q.1

Ans

SRA ST

Iudad gerar A fraa @i @) gfd Sfa wisg gr1 Fifsrw)
o 1.8
X 2.d@
X 3. 75 R

X 4. et

Question ID : 26433069689
Status : Answered
Chosen Option : 1

Q.2

Ans

Prafafea ey ¥ Re we arde e 9wl
S 3% g1

1. fawd
X 2. faggay
X 3. fa@rt
X 4 fagfa

Question ID : 26433062739
Status : Answered
Chosen Option : 1




Q.3 ggret wich St "y A
SWITd a1 | Irelifred’ Wsg & ThTdf 2reg A a1 guf Fifsre)

Ans }(1.%2@?{
o 2. STYRTT
X 3. 3
X 4. 3rqEd

Question ID : 26433079241
Status : Answered
Chosen Option : 2

Q4 fafafea ¥ A s TR P AT R?
Ans X 1. 3797 3T TS

X 2. YT 3B TSP R
X 3. 7Y 3D qSHI B
o 4. T 3D dSHI 8|

Question ID : 26433080931
Status : Answered
Chosen Option : 4

Q.5 frafafed e o & e ue aren § g4 & uanT g ey 82
Ans X 1. T ST | G 3T g ATE ST B

o 2. 35% gy A ol A B, U8 A R

X 3.5 U B R ferm

X 4. T A 7o 4 Fl, T R 99 | & °S 918 S|

Q.6 3 e fRwl & 3 B9 a1 s i@ o & Yaifed e &1 wafgard T8 82
YR S & St Aran SRy Sia war @) a9 & w0 § geH #

Ans X 1. ggdrfer
X 2. fawan
o 3. Tl
X 4. TRaT

Question ID : 26433091339
Status : Answered
Chosen Option : 3




Q.7

Ans

PR AT TS0 31 39 ar # Rraa R 96t g 1 ves g1 i)

X 1. g™
X 2. e
X 3.gue
o 4.9

Question ID : 26433080906
Status : Answered
Chosen Option : 4

Q.8 g arix & T Suga U g &1 99+ fadeul § A i

Ans

il g A RR wAT
X 1. 99®

X 2. g5
X 3.399
o 4. TR

Question ID : 26433070092
Status : Answered
Chosen Option : 4

Q.9

Ans

o T B Yaiferd 2reg & ®IF W Taityd faee gf)
g8 3§17 R W IgE T B

o 1. gEl
X 2.arh
X 3. mied
X 4.z

Question ID : 26433084962
Status : Answered
Chosen Option : 1

Q10 AyiawE_

Ans

mﬁﬁmﬁﬁwm%mmﬁwﬁaﬁﬁwﬁmv
X 1. 9 sifyyura faarg gd forw I ara dfa-Rarer 9 8

X 2. T AU g 1 & fore e o ard Hfa-Rawr a4 ®
X 3.9 U I TSR A BT B
o 4. 3 ST RIen & JHTE R 5T oF 9 AR A @

Question ID : 26433067049
Status : Answered
Chosen Option : 4




Q.11 FT U ST THRT Alfed IEDIE BT AUTI’
SWRITT a1 & 5 W & Srguged XMeg HT WANT faar T 32

Ans X 1. 9ifgd IdIC
o 2. T3 AT SR
X 3. @MU
< 4. BHRT

Question ID : 26433062804
Status : Answered
Chosen Option : 2

Q.12 '3[ I5d YR ASDI &I
IR 9T | Y@ifhd e T 82

Ans f1.ﬂﬁ'~‘?l’&'UT
X 2. fa=mor
X 3. favsy
X 4. forarfaRyor

Question ID : 26433063053
Status : Answered
Chosen Option : 3

Q.13 fgfifad v & 9 vafgarh s &1 994 el § I Fifvm|

Ans X' 1 U
< 2.9
o 3. QI
X 4. 3rbor

Question ID : 26433066940
Status : Answered
Chosen Option : 4

Q.14 fgfafaa § @ wrar o1 gaEmd e 7 3-
Ans X 1. A

o 2. a0

2 3. 3faT

X 4.7

Question ID : 26433085081
Status : Answered
Chosen Option : 2




Q.15 frafafaa gerak ¥ fie Suged arde e Fam ghme
ST R T

Ans X 1. 9gd IR 8T
o 2. SEE g

X 3. ST
X 4.3sd @

Question ID : 26433065769
Status : Answered
Chosen Option : 2

Comprehension:

o T & oo el @ ger foar ¥ u T et @t g 3 fad i @ gl

DI | TP HBAT & T ¥ IUG fahed BT 99 Difoid |

faem a9 1. Bl 81 9 ¥ & BIs aafad freh s & 2. TE BYaT| 3T
& GRI oS g dTal oafad o 3fufd 3. S S1d €1 O U8S @ ol il 8, 31T I
3R 3ifer 4. ST AIe, R P AU SIS 1 g B 5. @

<t =7 st off Geve 21

SubQuestion No : 16
o =T 1 3t gfd F forg wed Suge faweu &1 99+ s
K1R
& 2.0
X 399
X 4. 9%d

Question ID : 264330111071
Status : Answered
Chosen Option : 2

Comprehension:

frofafed mew ¥ oo real &1 ger faar mar 31 fiu U fawmedt @t weTaar & fad wi & gfd
DT T ST & o1 T IUGad fadhed ol I8 o

e snarg A 1. Bl 81 51 I € BIS afa fpdll pr 2. eI ST 3nary
& GRI oS g et oatad o 3fufd 3. S 1 S U8 § ol 81 €, amrme%
3R e 4. AR, R AP A IR S WA € T Bl

e & 7Y fen o geba 21

SubQuestion No : 17
Q.17 fyga R 2 # gfd & forg we Sugaa fawer &1 9a+1 S|
Ans X 18R
< 2.3749
X 3.9
o 4. TR

Question ID : 264330111072
Status : Answered
Chosen Option : 4




Comprehension:

frafafed e ¥ oo sl &1 ger faar mar g1 fou TN faw el ot weTaar § fad =il &1 gfd
DI | T =T & [T T IUGad fddhed &1 ag Hiforg|

o= sna 9 1. B g1 o A & PIS Afad forsdt A H 2. eI BTl 31T
& GRI oS g el oafad o 3fufd 3. S S1d €1 O U8 @ oI 81l &, emrme%
3R 3fA 4. wé‘cn% PR A TR R o §1 a5

o & 7Y Ster S ST g1

SubQuestion No : 18

o =T 3 3t gfd & forg wad Suge faweu &1 9g+ s
X 1. HHIR
o 2. §3aH
X 3.9

X 4. 3T

Question ID : 264330111073
Status : Answered
Chosen Option : 2

Comprehension:

fofafea mew ¥ oo reel &I ger foar m 1 fau U fawmedt ) weaar & fad wi &t gfd
DT TS H=T & o1t T Iugad fadhed &1 T8 S|

faem snara A 1. B 81 51 I € BIS afe fpdl pr H 2. el gl enary
& GRI O g et oatad o 3fufd 3. S A ¥ S U8d § ol 81 € s{wms%
3R i 4. wé‘cn% RS 3P AU S oA &1 A B

AT 7 T aten o WapelT 31

SubQuestion No : 19

Q.19 ¥ I 4 3t gfef & forg Wt Iuged fevey &1 707 P
Ans X 1. 3R

X 2. Fogd

X 3. e

o 4. XA

Question ID : 264330111074
Status : Answered
Chosen Option : 4




Comprehension:

frafafed e ¥ oo sl &1 ger faar mar g1 fou TN faw el ot weTaar § fad =il &1 gfd
DI | T =T & [T T IUGad fddhed &1 ag Hiforg|

o= sna 9 1. B g1 o A & PIS Afad forsdt A H 2. eI BTl 31T
& GRI oS g el oafad o 3fufd 3. S S1d €1 O U8 @ oI 81l &, emrme%
3R 3fA 4. wé‘cn% PR A TR R o §1 a5

o & 7Y Ster S ST g1

SubQuestion No : 20
Q.20 fYyad = 5 @1 gfd & g Tad Suged fawer &1 994 S|
Ans X 1. f2ren

X 2.7
x 3. g

o 4.0

Question ID : 264330111075
Status : Answered
Chosen Option : 4
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Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

IRoll Number

Candidate Name

Venue Name

Exam Date 01/02/2023

Exam Time 11:45 AM - 12:45 PM

Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 fafifed ¥} $19-0 e § 7 @ § vy-RE (2) F A R
1,5,17,53,?

Ans X 1.157
o 2. 161
75 3.145
X 4.178

Q.2 IH 9 FT 997 ¥, et s@mnsi & dta die a8t @ey 7, St sey Fwifea agwal
o demsi § 7

(FAe: SBT3 B IS geP Sidt | fawriora ey fm, gof wemsit w & irdta wissarg
P ST AR Y 13 - A AT 13 WR ity fsramd SR fF 13 A SteA"eTAon
BT 31T fopar ST Hpar 81 13 B 1 3R 3 H AsH iR e 1 aﬁiswwﬁrcﬂuaﬁmm
B D1 gAfa T 21)

(40, 175, 15)
(30, 133, 11)

Ans o 1.(25 91, 12)
X 2.(29, 110, 13)
X 3.(25, 108, 10)
X 4.(17,45,10)

Question ID : 26433076547
Status : Not Answered
Chosen Option : --

Q.3 us fAf3d ®e YT, 'PEOPLE’ #1 'QEOQME' for@T SiTaT 8 3R "MONKEY' %1 'NOOLEZ'
fora wirar 21 I YT § 'SILVER' S ferar srem?

Ans X 1. TIWMSE
o 2. TMWES
X 3. TWJMSE
X 4. TIWMES
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Q.4 ?ﬁﬁmﬁﬁyﬁr@amﬁmaﬁmﬁmw%ﬁwmﬁ%mmﬁm
N
1 universe
2 unicorn
3 understood
4 unhappy
5 uniform

Ans X 1.32145
X 2.32154
o 3.34,251
X 4.34512

Question ID : 26433069323
Status : Answered
Chosen Option : 3

Q.5 frafafad d @ $i9-a1 g & 75 J@ar # wy-Rg (?) F R R e
BSWG, CTXE, DUYC, ?, FWAY

Ans X 1.ZVEA
o 2.EVZA
X 3.AAZV
X 4.VEAZ

Question ID : 26433068981
Status : Answered
Chosen Option : 2

Q.6 Uh pc ‘J-I'I'ElTﬁ, ‘our son’s car’ &I ‘fu da be’ %wﬁ‘mﬁmm%, ‘son’s birthday
today’ P ‘la fu ja’ FEY ﬁ'wm SITdT % MR ‘today our match’ P ‘he da la’ P &Y
H ped f5ar ST ]| /g ‘car match’ & 1T Fe & g2

Ans  # 1. he be

X5 2. lahe
< 3. dahe
X 4.fube

Question ID : 26433086986
Status : Answered
Chosen Option : 1

Q.7 g sigen ¥ uy-Rig (7) R W S W T@w e
63, 60, 66, 57, ?

Ans  # 1.69
X 2.70
< 3.55
< 4.65

Question ID : 26433068473
Status : Answered
Chosen Option : 1




Q.8

Ans

376 AfRT &) UHTGR Ufdaal #, wele o 4 safde & 3R, 39 UPR 93 ¢ b Smad

el & o P g3 FHH 2

R 1 - A, B, C 3R D 33 §, 3% 31 Wit &1 g3 aféror 9t sk 31

RN -v, X, Y 3R 233 §, 3 37 It &1 g SR @t 3R B

B, A® 97 H 93T UHHIA AR 8, 3R A, Y & Sl |19 9071 81 V 39+ ufe & sifew

g?ﬁwhﬁ,aﬁ?c$aﬁ$vm?r%l D, C & T 3R 1% T7a #, 3R X & 1% I
|

Y & 9T 3R 1% e # Pi9 do1 87

X 1.X
2.7
X 3.A
X 4V

Question ID : 26433068746
Status : Not Answered
Chosen Option : --

Q.9

Ans

fFrafafaa & ¥ S19-a1 ug & 78 J@ar § uy-fg (2) F R w e
ZLJI, XJHG, VHFE, ?, RDBA

X 1.RFDC
o 2. TFDC
X 3.TFDE
X 4.TFEC

Question ID : 26433068633
Status : Answered
Chosen Option : 2

Q.10 T: AR A, B, C, D, E 3R F TH JUTHR A & URG: B & $5 31 3R T $IP 93 81 E,
B%?iﬂ'{@ﬁ?gﬂ%@ﬂwaa%l F, B 3R A% &% S7Tad A 93131 D, F & aT3 3R ¥
Ic

Ans

R TR 93T F e IR P T | S 3T 22
X 1.A
o 2.E
5 3.B

X 4.D

Question ID : 26433081515
Status : Answered
Chosen Option : 4




AN g Rmey T T, St SEge T # sERiRa ¥ (A sawe A

Question ID : 26433069351
Status : Answered
Chosen Option : 2




Q.12 f HY= F arg T e 1, 1 3R 1 g e 7 | =t B I 7 ge, yd €
U A 7 aat A i welta g g, Fofa e i SR fFeed syt &1 aifés =

A
. PO U UC &I
I1. |aft 7 v g1
. O T Y 8
Ans X 1. %dq fhY | SFERU FHRaT B
X 2. B 1t Frepef SrgeR0r TE BRar
X 3. Pad FIpY 11 3FERUI BT B

o 4. P I 111 STERUT BT B

Question ID : 26433081793
Status : Answered
Chosen Option : 4

Q.13 I fyed &1 T4 F¥ ol Uigd SH&R-TE | S THR Wafd § oy THR gorT sigR-
TG TEd A&R-T9E A Feftra § 30T DT 3&R-GYE N 3eR-Tqe A Hefed g
KBT : PEU:: UQA: ZTB:: FJR: ?

Ans X 1.KMQ
& 2. KMS
< 3.JMU
5 4 LNT

Question ID : 26433057746
Status : Answered
Chosen Option : 2

Q.14 wﬁmmmaﬁﬁwﬁ?ﬁaﬁwﬁwﬁwwﬁm%ﬁmw?ﬂwm
3

g O Hafta 8 (Wrsgl 3t Srfyuf gl & = u & urn S AR ofk wsg ® sregRi/eiel
Qﬁaﬁﬁm%mmwuwﬁﬁﬁﬁmqﬁmmm@)
W:Gﬂ?‘ﬁf::ﬁﬂ?:
Ans & 1.dT5
X 2. 959
X 3. IR

X 4. TR

Question ID : 26433078825
Status : Answered
Chosen Option : 1




Q15 4 paper is folded and cut as shown below. How will it appear when unfolded?

Question ID : 26433089785
Status : Answered
Chosen Option : 1

Q.16 A@B &1 Y8 ‘A, BHT UM’
A&BHT IS ‘A B AR
A#BHT I 2 A BB TR
A% B34S ‘A, B BT TG 371
ER#P@W % F & K®, @ R, K ¥ {59 o Tafta g2

Ans X' 1. gral
o 2. TR 55
X 3.4
X 4. Hdren

Question ID : 26433069616
Status : Not Answered
Chosen Option : --




Q17w o1e feredl F § 30 Hp0 & 9899 H A Ao ed Ear #

geaTEe® R (7) &7 T & Thar Bl

f T .1 o
)

o ol °

Question ID : 26433080501
Status : Answered
Chosen Option : 4

Q.18 o 7y Feficeor & * gl B Bie U A gqar 3R Fefiew F dai (TE) FA
e Fafafed faeen & @ 1w gl & 98t Suies o1 999 #¢)
45%15* 13 %52 % 26 * 37

Question ID : 26433087191
Status : Answered
Chosen Option : 2

Q.19 ?@Wwﬁwﬁnﬁﬁumﬁaﬁmﬁ%ﬁqﬁﬁﬁﬁ%aﬁwm

112-14+40+4 x18 =40
Ans X 1.+ 3R x
X 2.+ 3R+
X 3.-3R+
o 4.+ 3R -

Question ID : 264330117507
Status : Answered
Chosen Option : 4




Q20 o7 7 frs # RET 3ERX MN R W& 3 T & 7€ s &
gaur gfafee & a3
M

mwrtfnhkl

XtiAddntrtamw
x2lAdnirtywm

s iAddultrrwm
v+ IAddntrwm

Question ID : 26433082332
Status : Answered
Chosen Option : 4

Section : Part-B-General Knowledge and General awareness

Q.1 SFRTOMT 2011 & AR YRd P fpw Tsa § wiedm WieRed o 9ad &4 82
Ans 2 1 ORI

X 2. fearaa e

X 3.f9®R

X 4. WU

Question ID : 264330116054
Status : Answered
Chosen Option : 4

Q.2 Fyfifad d @ fFd YRa &1 wTET R S8 o 82
Ans X 1. TifgR Rig

X 2. 3rofia e g

X 3. fex Rig

o 4. i Rig

Question ID : 264330116259
Status : Not Answered
Chosen Option : --




Q.3 1950-51 H, TPl O SUTe A NI & H1 aNTe Ty fpeam ufara u1?
Ans  # 1.11.8

< 2.152

< 3.6.2
< 4.224

Question ID : 264330116140
Status : Not Answered
Chosen Option : --

Q4 fFafafed d 3 o9 sdad= & Ra) $i3 ok ghala & a@s A2
Ans 2 1 SUMHE

X 2. difce™

X 3. IERRR

X 4. 3mvE

Question ID : 26433089126
Status : Answered
Chosen Option : 2

Q.5 YRT & TAUT b A5G 100(3) F d8d, T & fhat 1t T &) IoF FTBAFA &
1T Smaxg® TUYfd, YA F A P AT B U &l

Ans X 1.U& §¢ gigat
o 2. TP §¢ gqai
X 3.3

X 4.1 fagis

Question ID : 26433089913
Status : Not Answered
Chosen Option : --

Q.6 Y% IRE 94 qT¢ AT §F a7l HeH&ESIHIS' TH R el
Ans X 1.9g

X 2. R

X 3.fég

o 4.5

Question ID : 26433094889
Status : Not Answered
Chosen Option : --




Q7 S YR A== Bt & UHE SRAHH & dgd Al-d BT T[T AT
Ans X 1. 9Oy U9 FEIT HATT
X 2. ¥ Td ASAIR HAT

o 3. DA e IR IJgw=iierar waed

X 4. gI1 U4 YR AT

Question ID : 264330116191
Status : Not Answered
Chosen Option : --

Q.8 Ffyolt I ervsa A fpw Tou Akt A fAf e ofta 82
Ans o 1. WRRdITIH

X 2. HYdat

X 3. BUYD

X 4. drquft

Question ID : 264330115845
Status : Answered
Chosen Option : 1

Q9 YR WU F 5 srgsde | w1 T R % URa srufq $fEan <ot &1 @w ghme
Ans X 1. 3®q 2

o 2. TG 1

X 3. 3G 11

X 4. 3fJ=¢ 10

Question ID : 26433089908
Status : Answered
Chosen Option : 2

Q.10 1866 H, Tig H 3¢ §fgur THRITRA Ft wrvAr Fufafad # @ feaa ot A2

Ans X 1. XS XY HigH I
X 2. s Y TR
X 3. 3w 3gHT WA
o 4. TTCTHTS AR

Question ID : 26433090584
Status : Answered
Chosen Option : 3




Q.1 YRa & fFa Fkha vt A 79a% 2022 H YR SR Py IR A A wrdl $Ean wafem= w1
IguTe faar?
Ans  p 1 TR0

X 2. fden dtaryu
X 3. SRI0IH SARiER
X 4. foxur RS

Question ID : 264330114954
Status : Answered
Chosen Option : 2

Q.12 YRa ¥ giva wifd o1 Aqa & & foram e ur?
Ans X 1. TgrET Mielt

X 2. @R o e

X 3. AT IRamT

& 4. TOUY WA

Question ID : 264330115416
Status : Not Answered
Chosen Option : --

Q.13 gpTaa B! AT Gftd 31 & RIT T Whersd Ugadd & T 3vA ufig=< & v
fora 8w g1 TTfRe?
Ans 4 1.10
X 28
X 3.14

X< 4.12

Question ID : 264330115934
Status : Not Answered
Chosen Option : --

Q.14 IR-ydf ya- wgi A IUA gt 82

Ans X 1. TRl TIidTs, & SWI Biesdia o ge sfedy
X 2. zferol mand & IwT By 3= are Biedy
o 3. I M & Juwrsicadia 3= g dicay
X 4. <l mand & Ui 3= gE By

Question ID : 26433087883
Status : Answered
Chosen Option : 3




Q.15 SIS PT AT ST b1 37

Ans

X 1.18
o 2. 14
X 3.12
X 4.16

Question ID : 264330115173
Status : Answered
Chosen Option : 2

Question ID : 26433086564
Status : Answered
Chosen Option : 2

Q17 ATEHIGIEAY B I el suffe St emawaear

Ans

X‘l.mza?ﬂ
X 2.8t
X 3. gERM gt

o 4. 751 gial

Question ID : 264330115294
Status : Answered
Chosen Option : 3

Q.18 ZfIT e Pi-dia 2022 H, Tad G TaHSY & & | fod FeT-rd fomam mar?

Ans

X 1. e fidifEan

X 2. 3Td AR Harkda
X 3. sifdpar g

& 4. 9aiar ¥g

Question ID : 264330114997
Status : Not Answered
Chosen Option : --




Q.19 fmfafEa & A 1 A1 SaT] AHHUT BT TH AT 82
Ans X 1.geuxly

X 2. R

o 3. TTR

X 4 Ra®wrdr

Question ID : 264330115228
Status : Not Answered
Chosen Option : --

Q.20 fwH &1 9= B | (Hhd: HIY ufshany)
Ans X 1. fss®a

o 2. T

X 3.99%

X 4. ST

Question ID : 264330115541
Status : Answered
Chosen Option : 2

Section : Part-C-Elementary Mathematics

Q.1 it avg & Siftrd o IR 10% 3R 12% P AP Fe & 91¢, I Rs.9,504 T IT W14 &,
ot 3Tt Sifdd e gl

Ans X 1.Rs.13,000
o 2. Rs.12,000
 3.Rs.15,000
% 4.Rs.14,000

Question ID : 26433061306
Status : Not Answered
Chosen Option : --

Q.2 g B3l BT HgH THTIGAD (HCF) 6 § 3R ST TYIH THTIGE (LCM) 253080 B
gfe Td TWAT 4218 §, Y gt W= 1 ghft?

Ans X 1.488

% 2.120
X 3.245
o 4.360

Question ID : 26433080271
Status : Not Answered
Chosen Option : --




® frgfifed 33 P 0 e TR a3

3
5!

Question ID : 26433080320
Status : Answered
Chosen Option : 2

Q.4 HIET 3R g TP & I I HHAR: 8 km/h 3N 9 km/h B 1A A Iad & 1 TS AT MR
e U € o= A w1 3R €, 4.5 h & q1g g 3R A & 9 3 gt Fan gt

Ans  # 1.45km
#5 2.5.0 km
75 3.4.0 km
X 4.55km

Question ID : 26433075688
Status : Not Answered
Chosen Option : --

Q.5 TS fpdpe 0 & WRE f{NSU 31 TR 12, 9, 52, 34, 30, 22, 0, 56, 16, 27 3N 72 31 A
BT 3N TR [1d P

Ans X 1.34
o 2.30
X 3.27
X 4.35

Question ID : 26433075965
Status : Answered
Chosen Option : 2




Q.6 HfUa, Mg 3R IS TP ST B AT-3(TT 18, 36 3R 54 &1 & B3 Yo &1 I TH
1Y BTH FR= a1 Afe Al A o8 R 1 A 8 7 ugd o ois faar iR I A o
W@ﬁﬁsﬁ?%ﬁWWM|ﬁW(mm)mﬁﬁﬂﬁww§;%|

Ans g1 132q
X 2.15f
X 319
X 4.12fF

Question ID : 264330116875
Status : Answered
Chosen Option : 2

Q.7 u® fashar 20 A9 Rs.300 F WedT & 3% 15 V9 Rs.300 ¥ I9aT 21 Rs.300 BT @TY Afdfa
Fe & forg fraq J TR o 97 oim =nfge?

Ans X 1.50
5 2.55

o 3. 60
X 4.65

Question ID : 26433080359
Status : Answered
Chosen Option : 4

Q.8 9% aififes F1 G | a1ffer YR TR Iehgfax T ATk Rs.30,000 BT Ahglek ST Rs.5,643
a1 81 9 JHY 3rafy (@uf #) 3d P

Ans K1.?ﬂ7-f
2 2.9R
X 3.0f@
& 4.3

Question ID : 26433075239
Status : Not Answered
Chosen Option : --

Q.9 3 A YA IeUTG! BT e 20 Ufa=rd F Fe1 faar| 7 a4 = g1 & 3MYR W Irgl ot
S & forg 3% et ge ot e

Ans X 1.22/5yfderd

& 2. 50/3 Hfa=rd
X 3. 27/5 ufa=ra
X 4. 35/3 ufa=ra

Question ID : 264330116760
Status : Not Answered
Chosen Option : --




Q.10 ve e 7 ST AT Ao fSEHr FaE 56 cm H#R 3R B3 28 cm § (1r=2—7ZEFr
ST )
Ans X 1123962 cm®
X 2.154853 cm®
& 3. 137984 cm®
X 4.216135cm®

Question ID : 26433080072
Status : Answered
Chosen Option : 3

Q.1 T IR TRUT TP A1y Fras ue &1 3t 8 fa § 1 #vd 71 afe awdi= srbd v
mﬁgﬁaﬁmﬁmﬁﬁﬁwwuﬁ%ﬁnﬁmaﬁaﬁmﬁmﬁﬁﬁﬁ
B2

Ans X 1.20
X 2.45
< 3.35
& 4.40

Question ID : 26433075566
Status : Answered
Chosen Option : 4

Q.12 40% aTi® & ¥ IYR & 1% ve fFAifda a1 wy, 1 af & frg, aﬂm%aa%ﬁ%a EE |

1o, 3R 1 94 P oI ATUROT ATsT & ot T 3ia 2200 &1 MM
Ans X 1. 24,000

X 2 24,500
X 3. 5,500
v 4 25,000

Question ID : 26433090291
Status : Answered
Chosen Option : 4

Q.13 T T@e B BIA A 20 U= B HH 75 3R 3F TS BIAG 72000 FUT & | IHDT
T e T UT?
Ans X' 1.94000 34T

% 2. 100000 ¥UT
& 3. 90000 3T
X 4.88000 ¥UT

Question ID : 264330116795
Status : Answered
Chosen Option : 3




Q.14 432, s4s?57smwmmﬁsmawmm:_aﬁ?
[

Ans X 1.72,2592
o 2.72,5184
#< 3.36,5184
75 4. 36,2592

Question ID : 26433085417
Status : Not Answered
Chosen Option : --

Q.15 qg 3JUTd 1 BIOTY, FORIH Rs.120 WA kg AT AT9A BT Rs.155 Ul kg AT A1GA & A1
firaTeR Rs.135 Ui kg 3 <R arer araq-firgor ure farar wan gt

Ans X 1.3:4
5 21:3
53.2:3
3

o 4.4

Question ID : 26433074915
Status : Not Answered
Chosen Option : --

Q.16 THTT 3R T TF &I fig A 1920 Hiex A9 Tw FAGR Y W TS 1Y FAM &= & 40
misec 3T 64 m/sec B! ATA T SISAT ARH Hd 8| 3RY I fha" ¥HT 91¢ § Ugeh aR
7Y IR Hgl fHe?

Ans X 1.90 sec
5 2.70 sec
«” 3. 80 sec
75 4.60 sec

Question ID : 26433075530
Status : Not Answered
Chosen Option : --

Q.17 T TIRAT T T G4 Rs.25,000 31 T F UgA 20% Pt gfS B 7 3R a1¢ A 39 20%
w4 fobar T iR 7= @1 ada gea g

Ans ¥ 1 Rs.25,000
v 2 Rs.24,000

< 3. Rs.25,500
< 4 Rs.24,500

Question ID : 26433082362
Status : Answered
Chosen Option : 2




Q.18 7, 4 3R 7 BT IGUTIUT Fd P

Ans 1.4
X 27
X 3.6
”X 4.9

Question ID : 26433080033
Status : Answered
Chosen Option : 1

Q.19 TP HUEX B! Rs.26,000 N T TR TH TR B 4% HT ATY g1 31 AfS 98 S o1
Rs.19,000 ® 39aT B, @t 39 faraeit gify gfie

Ans X 1.16%
x 2.20%
* 3. 14%
o 4. 24%

Question ID : 26433074986
Status : Not Answered
Chosen Option : --

Q.20 I T &1 HqUl YT &= 2, et Y= 0.75 cm B
Ans 1 3375cm?

X 2.3.735 cm?

X 3.3.357 cm?

X 4.3.537 cm?

Question ID : 26433073050
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 Select the correct option to substitute the underlined segment in the given sentence. If
no substitution is required, select ‘No substitution’.

She is married with a doctor.
Ans X 1. No substitution

" 2. to a doctor
#5 3. adoctor
#5 4. for a doctor

Question ID : 26433090817
Status : Not Answered

Chosen Option : --




Q.2 Select the most appropriate meaning of the given idiom.

Face the music
Ans X 1. Music for peace and health

« 2. To face the unpleasant consequences of one's actions

/< 3. Listening to melodies from music albums

#5 4. Dance according to the tune

Question ID : 26433072576
Status : Not Answered
Chosen Option : --

Q.3 Select the option that expresses the given sentence in simple past tense.

A. Arun knew the concepts of geometry.

B. Arun had been knowing the concepts of geometry.
C. Arun had known the concepts of geometry.

D. Arun was knowing the concepts of geometry.

Ans X 1.C
o 2. A
X< 3.D
K 4.B

Q.4 Select the most appropriate synonym of the given word.
Queer
Ans 1. Strange
75 2. Expedite
#< 3. Ordinary
< 4. Valid

Q.5 Select the most appropriate synonym of the given word.
Competent
Ans X 1. Unfit
«# 2. Capable
75 3. Overqualified
25 4. Unskilled

Question ID : 26433086484
Status : Not Answered
Chosen Option : --




Q.6
Ans

Select the INCORRECTLY spelt word.
75 1. Naturally

75 2. Laundry
" 3. Maintainance
5 4. Jeweller

Question ID : 26433073739
Status : Not Answered
Chosen Option : --

Q.7

Ans

Select the most appropriate meaning of the given idiom.

Royal road
75 1. Achieving something by birth

75 2. Achieving something by truth

25 3. Achieving something by false means

" 4. Achieving something trouble free

Question ID : 26433084754
Status : Not Answered
Chosen Option : --

Q.8
Ans

Select the INCORRECTLY spelt word.
X 1. Sentence

X 2. Artificial
«# 3. Tendancy
25 4. Matrimony

Question ID : 26433073503
Status : Not Answered
Chosen Option : --

Q.9

Ans

Select the most appropriate ANTONYM of the underlined word.

As a boy, Charles was a boor who bullied other kids in his neighbourhood.
5 1.creep
25 2.scum
75 3. blighter

" 4. gentleman

Question ID : 26433088840
Status : Not Answered
Chosen Option : --




Q.10 Select the most appropriate option to fill in the blanks and make the sentence
meaningful.

She hurt her and
Ans X 1.heal; toe

75 2. heal; tow
5 3. heel; tow
«” 4. heel; toe

Question ID : 26433092102
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate ANTONYM of the word given in the bracket to fill in the
blank.

My stomach is so (empty) | couldn't possibly eat more.
Ans 4 1. overfed

75 2. drained
75 3.flush
5 4. teeming

Question ID : 26433084613
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Some passengers misplaced their luggages before boarding the train.

Ans X 1. No substitution

75 2. misplaced his luggages

#5 3. misplaces their luggages
«” 4. misplaced their luggage

Question ID : 26433093078
Status : Not Answered
Chosen Option : --

Q.13 Fill in the blanks with the correct homophone.

of anything is destructive in nature.
Ans X 1.Axes

«” 2. Excess
X 3. Axis
5 4. Access

Question ID : 26433092935
Status : Not Answered
Chosen Option : --




Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Land with unoccupied possession is pretending to be more valuable.
Ans X 1. are likely to be

25 2. was similarly to be
" 3. is likely to be
5 4. have likely to be

Question ID : 26433088506
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate ANTONYM of the given word.

Perplex
Ans X 1. Complex

o 2. Simplify
< 3. Comprehensive
#5 4. Classify

Question ID : 26433072272
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank 1.
Ans X 1.sets

75 2. spreads
" 3. flows
75 4. grows

Question ID : 26433090525
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 17
Select the most appropriate option to fill in blank 2.
«” 1. traced

& 2. found
25 3. extracted
25 4. reduced

Question ID : 26433090526
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th

century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank 3.

Ans 4 1. caravan
25 2. crowd

< 3.army
5 4.band

Question ID : 26433090527
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 19
Select the most appropriate option to fill in blank 4.
& 1. hindered

«" 2. waylaid
#5< 3. encroached
< 4. lost

Question ID : 26433090528
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The oldest hub of carpet weaving in India is Mirzapur in Bhadohi district of Uttar Pradesh. The
Ganga (1) past this town with its ghats, ancient temples and waterfalls. The genesis
of carpet making in Mirzapur can be (2) to the Mughal emperor, Akbar, in the 16th
century. A (3) of Persian carpet weavers, it is said, on its way to the Mughal court
was (4) and injured by dacoits on the Grand Trunk Road. The weavers were rescued
and given shelter by local villagers. The master weaver of the group decided to settle down
here and share his skills with his (5) . That is how the renowned carpet industry of
Mirzapur took root.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank 5.

Ans X 1.recipients

75 2. beneficiaries
75 3. sponsors
«” 4. benefactors

Question ID : 26433090529
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi




Q1 il A & sRlE ar HIH-91 872
Ans X 1.9 ffesar o) firers
X 2. ¥ §9u- o a8l o ol
o 3. TS Afad Hidd gl HR abd |
X 4. 99 3R T4 U TRA T

Question ID : 26433066985
Status : Answered
Chosen Option : 2

Q.2 3y g1 # @ifed Mg F I W alfUd Ueg BT 997 PIU|
T R Rt ardt Sue Vo areht wur afivard g 21

Ans # 1 Felad
X 2. IATRADT
X 3. %8t
X 4.7

Question ID : 26433065694
Status : Answered
Chosen Option : 1

Q.3 fFafafEd o A YEifed e & WM W) ITgF waigar qsg Bi--91 gH?
I HA PRITR gl

Ans X 1.3d9d
X 2.Yad
o 3. g

75 4. 3[dd

Question ID : 26433066899
Status : Answered
Chosen Option : 2

Q4 «IY 9T 3 & frg St g
IR ar | fopar Tia=it Ffe ugames Fafafed ¥ @ 3 a1 &1 9949 S|

Ans X 1.39 TgT M & @ §ar
X 2.3 T81 3 & o O g1
o 3. 3 TET 3 & fore Fg &l
X 4.3 Tel 3 F faw gaar el

Question ID : 26433066973
Status : Answered
Chosen Option : 2




Q5 &9 ® AP YR & Juy 3T 19 91d g1 T B
IR a1 | ¥@iTPd Ueg & TITH W HIGdIS HT Ued T GRIT?

Ans

X 1. &b
o 2. &3l
X 3.8ta
X 4. &g

Question ID : 26433062857
Status : Answered
Chosen Option : 4

Q.6

Ans

Frafafaa geray &1 Iugaa o Fm ghm?
PO TS ST

X 1. UgTs forams o

X 2. YD YA DHRAT

X 3. 9gd UgHT fera

& 4. T8 Gadd &1 B0 B3l

Question ID : 26433065777
Status : Answered
Chosen Option : 2

Q.7

Ans

fFrafaf@a o are gerar &1 7= fawe & @ Fifve)
ot aafea &1 QR URURT & A1y g

X 1. et FgRAT

o 2. ADR BT HDR gl
X 3. 303 BT YIS §MFT
X 4. O gRAT

Question ID : 26433070003
Status : Answered
Chosen Option : 3

Q.8

Ans

%ﬁgmm%mmﬁmﬁaﬁﬁwﬁm?
o 1. P13 g - Ui F P oA
X 2. %1 31 g - i 1 1 Afad
X 3. P afg-dA T HY

X 4. %1 31f § — A T BT 3BT

Question ID : 26433067043
Status : Answered
Chosen Option : 1




Q.9 yrasTa ® YR B fB0 7 B Ut |1
IR a1 | ¥@ifPd ee & IFAd qufaarh e &1 99+ faweul # | S|

Ans X 1.339
X 2.9
A 3.9d1
" 4.3

Question ID : 26433079720
Status : Answered
Chosen Option : 1

Q.10 -JT=1 | Fga AP’ 39 T F e ardfe e 2 -
Ans X' 1. gifed

X 2. udiféa

& 3. SRl

X 4.3f3q

Question ID : 26433062332
Status : Answered
Chosen Option : 2

Q.11 wfgar g Yor 2 3 <ft, IS rarer H v T U7’ A A | #1991 59 Aty §
T "ATHYT Teg BT faey T 2

Ans K1.ﬁ$5fUT
% 2. SN
" 3. [Aumsu
X 4. UGB

Question ID : 26433069746
Status : Answered
Chosen Option : 1

Q.12 fie 91 & NS 3 918 3= e e 1’ a1 & fobry WFT o gl T+t ara 2reg 872
Ans X 1. F ST

X 2. Fea @

o 3. TG 3R

X 4. G

Question ID : 26433069699
Status : Answered
Chosen Option : 3




Q.13 S 33 A 7 AT ¥ IR & T 3790 | IuYad g BT 8?2
Ans X' 1. HAIS

X 2. 3

25 3. 9[qd

o 4. SIS

Question ID : 26433066886
Status : Answered
Chosen Option : 4

Q.14 IeH A & FGear fred 21
IR a1 | ¥W@ifPd Ueg & fIeH g 1 g9+ faweul # | Fifvmw)

Ans f1.ﬁ%—¢f—]ﬂ
X 2.3
X 3. 96RT
X 4.79d

Question ID : 26433079747
Status : Answered
Chosen Option : 2

Q.15 P! ATe-T HIS 81l
SR T MY arwRniwr & e U Wsg T e

Ans X1.§ﬁ1-l

X 2.3
X 3.5\
o 4.309H

Question ID : 26433070058
Status : Answered
Chosen Option : 1

Comprehension:

fafefad e ¥ @ 8 s ger fou T §1 AT U fawent @t geraar ¥ Rad wirl @ gfd
BHIT | YA §T & fo Sugerd fdehed bl 9o i .

o IR faeil 3 STppR A H A 1. e drs fean A A7 2. AV
BT I ¢ 3. TGHR G 33 P TAM P HIRIA B | Wb 4. PR A
IR 3fET I & g1Y ¥ R ge 5. |

SubQuestion No : 16
Q.16 f¥aa w1 B gfd & fore waifie Sy faee &1 997 st
Ans X 1.1UM4
X 2.dH
& 3.9R

ST

Question ID : 26433079585
Status : Answered
Chosen Option : 4




Comprehension:

fFofafed e o ¥ $© sz gel U U 71 AU T fased! &1 werar 3 Red Rl &1 gfd
BHITTY | Yedeh IS b foTQ Iugerd fdeped bl =T By | .

T IR foecht 4 STHPR ST H 4 1. g1 drs feam B ar A 2. q3AgE
BHTI 39 ¥ 3. TGH QAN 7S P Ta DI DI Bi | Al 4. CalRig:f
GIRT SIET I & g1 ¥ IRPR ¢e 5. |

SubQuestion No : 17
Q.17 f¥aa ®IF 2 3t g & g waifte Suga fawed o1 997 sifom)
Ans g1 oWl
X 2. 0P
X 3.
X 4.9

Question ID : 26433079586
Status : Answered
Chosen Option : 1

Comprehension:

frafofed T & ¥ 7o W go1 T U §) U e foweat @1 wemar @ fad it &1 gl
DT TS =T & o1l UG fadhed &1 T8 S| .

% R foceh A STH A H I 1. 31 dre fean A A A 2. drsd g
FoT| 3T ¢ 3. TGHR G 38 P TAM DI HIRIA B | Afh 4. PIRE G
GO 3787 I & 1Y A RSB e 5. |

SubQuestion No : 18
Q.18 fyaa w3 ¥t gfd & e walftre Suge fawer &1 99+ i
Ans X 1. & fau
X 2.4
/5 3.d®
o 4R

Question ID : 26433079587
Status : Answered
Chosen Option : 4

Comprehension:

fufafed e ¥ ¥ $8 Uss geT fou U g1 fou T fawent ot weradr ¥ Rad wir ot gfd
DI | TP HBAT o o1 Iugad fdahed o1 997 Biforu|

TP IR faeeh A SappR Al H I 1. e drs foan A A7 2. A3 gy
BTl I ¥ 3. TGPR GER S Pl T BI DI BT | b 4. CaIRig:f
GERT 3fST I & 1Y H Ra e 5. |

SubQuestion No : 19
Q.19 fyad = 4 ¥t gfd & g walfte Suge fawer &1 994 i)
Ans X 1.399
X 2.39fT
X 3.39a!
o 4.39

Question ID : 26433079588
Status : Answered
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Ans

Comprehension:

Fraferfed e ¥ 9 oo v et iU §1 fa e e @5t werar § Rad ®i @ gff
BHITTY | Yedeh IS b foTQ Iugerd fdeped bl =T By | .

T IR foecht 4 STHPR ST H 4 1. g1 drs feam B ar A 2. q3AgE
BHTI 39 ¥ 3. TGH QAN 7S P Ta DI DI Bi | Al 4. CalRig:f
GIRT SIET I & g1 ¥ IRPR ¢e 5. |

SubQuestion No : 20
Q.20 fYyad == 5 ®1 gfd & g walftie Suge fawer &1 394 Fifvm)
X 1.gan

& 2. T
& 3.7
X 4TS

Question ID : 26433079589
Status : Answered
Chosen Option : 4
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Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

[Roll Number

Candidate Name

Venue Name

Exam Date 01/02/2023

Exam Time 2:30 PM - 3:30 PM

Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 T e famedl & & I &R-THE T 991 SIFC it 7 e & y=a-fug (7) FRE R
AT T |

GSLC, AMOF, UGRI, ?, IUXO
Ans X 1.DSTN

X 2.0ULC
o 3. OAUL
X 4.DPGE

Q.2 3 U aHiwRu &) Agfed a3 & e fawe | & 75 {51 g Semnsi(siat & 8 &t
TRER Fa-T gHM?
56 + 16 x 8 + 45 x 13 = 697

Ans X 1.83R13
X 2.83R45
X 3.16 3R 45
o 4.16 3R 8
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Q3 Rw 7w RBeedt # @ 3@ T F 0= H o FEafataa g &

JoTaTEE e (?) T T of Far Bl

o o]
L ]

o
Ans

F

[
X 2.
O
X 3.
O
o 4.
L)
Question ID : 26433080503
Status : Answered
Chosen Option : 4
Q4 fafafaa & 3 F9-0 e & 18 s ¥ uy-fg (2) F ®E W e 39 guf Hfte
125, 88, 63, 46, ?

Ans X 1.35

K 2.37

& 3.33

X 4.38

Question ID : 26433069595
Status : Answered
Chosen Option : 3

Download from www.MsEducationTv.com




Q.5 YUY H 9 Fy= feu mu &, foras a1e o) freed 1 3fix 1 3w e &1 Sy ) 9@ A
TT, Yd & 3 Fdgma aut | s wedta g g, Fofa it [ s fsed sy=t o1
b U | SFHRT BT 3/3ATT0 B B |
DY:

Ans 1 AT FISHY | SR A 11 SFTERUT R B
X 2. Fpy | 3R 11 ST SRR FRd B
X 3. 59 FsHY | STER0T Bl 5
X 4. Fad (B |1 SR TR

Question ID : 26433070387
Status : Answered
Chosen Option : 2

Q.6 uw fAfa Be UTOT A, ‘EEXAM’ B 625214’ 3R “TEST’ &Y 2162021’ & & | forar wrar 21
ST e WIT | ‘ASSESSMENT’ &1 fordy bR & forar s

Ans X 1.22020620201461512
o 2.22020620201461521
2 3.22020620201465121
X 4.22020602201461521

Question ID : 26433087254
Status : Answered
Chosen Option : 2

Q7 7: faendf v gureR A9 & uRa: A9 & F5 31 3R @ HIF 9 § 1 frarn, ard & o
SR R RIF R 33} 81 Bfered, A1 & 18 SR gk RIM W 9371 71 ¥, foramm 3R
FRIR & St aa A 71 9, o & a1 ok TR R W 93T 71 e, T F
TS AR g VI R 33} 31 3MHAT 3R U & g A HIH 3371872

Ans X 1. 99
& 2. foar
X 3.7
* 4. Bioeg

Question ID : 26433081782
Status : Answered
Chosen Option : 3
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Q38 %vﬁam%mmaﬁ St TR T | I THR Wt B, R 7R gIRT Mg U Mg
| B
(rea @Y 3rfyuf qregl & T B WHT 9T ALY 3R 37 Weg H S1&RY F1 W1/ oAl B
TSI | TRl BT HEI & YR TR TH gL A WIS g 161 1 A1fge 1)
fRre : sreaTU® = ITER : ?

Ans 1 RfPa®
X 2.5d%
X 3.7
X 4. SrEara

Question ID : 26433079472
Status : Answered
Chosen Option : 1

Q9 fmfifad ® & #19-a1 ug & 7 saen ® vy-fig (7) F R w s
2, LSEO, NRDN, PQCM, RPBL

Ans 1 JTFP
X 2.PFJO
X 3.TFPJ
X 4.FPJI

Question ID : 26433068983
Status : Answered
Chosen Option : 1

Q.10 ﬁ%ﬂmﬁqwmﬁwﬁmﬁ%mmﬁﬁﬁﬁmwﬁwm

24-36%x5+108+18=18
Ans X 1. +3R-
X 2. —3R+
o 3.+ 3R x
X 4.+ 3R+

Question ID : 264330117523
Status : Answered
Chosen Option : 3

Q.1 IY AT BT 79 BN, o HE S veR Hala &, o v Frafafa ag=t

P =TT B

(ATe: TS B IS ged S 4§ fauTior e fam, guf semnsi uv §t ity |
P S RTI S 13 - A1 AT 13 R AT wiFa SR fF 13 W SearaeAn

FT 31 foraT o1 THar 8113 B 1 3R 3 & AsH 3R R 1 3R 3 W nfvredt wferany

B BT 3gafa TE 21
(25, 280, 45)
(18, 192, 30)

Ans X 1.(13,168, 54)
o 2. (12, 148, 25)
X 3.(14, 192, 24)
X 4.(12, 156, 24)

Question ID : 26433076481
Status : Answered
Chosen Option : 4

Download from www.MsEducationTv.com



Q12 zdor @ A= T aw BT F EER MN T T S W& I A
1 guur # e @ gfafes =af@a Hifsw
6ZkBMVd

M

™ x bVM8ASa

v @YXKBINACY
~@XIBINAY

~~R@ZAIBINAY

Question ID : 26433080798
Status : Answered
Chosen Option : 1

Q.13 & fAfia ge T H,
A+BPTAFEfH A BB TR,
‘A-B BT HA g fH A BB Uarg ik
‘Ax B BT 3 g fh ‘A, BPTHTS 2.
IfeQ+R-PxN-Sg, dlRPIS A T HaY 72

Ans X' 1. d&MAMNT
X 2.4
X 3.fuar
o 4.2

Question ID : 26433070370
Status : Answered
Chosen Option : 1

Download from www.MsEducationTv.com




Q1 o e @ A e s ®9 & HiZ #R HET S §1 Geld W I8 HE

ferg w2

—l I

' (p

qNiip,
iy

02/C
qip

020
00/

COICY
(PP

Question ID : 26433089787

Status : Answered

Chosen Option : 3
Q.15 fgfafad # 9 SH-0 Ten § 7€ sa@ar § uy-fig (2) F A w snwft?
5, 31,161,811, ?
Ans X 1.4825
& 2. 4061
X 3.4444
X 4.4500
Question ID : 26433082010
Status : Answered
Chosen Option : 2

Download from www.MsEducationTv.com




Q.16 ?ﬂﬁmﬁﬁaﬁ@aw&‘fma‘s’mﬁmwé, fora w9 A 3 3ol TsgHIw # 3ma
?
1 riddle
2 river
3 rightful
4 ring
5 risk

Ans X 1.12453
o 213452
X 3.12345
X 4.13245

Question ID : 26433069325
Status : Answered
Chosen Option : 2

Q.17

foafofée fwed & ¥ 39 sl & 999 & Gad &= & o8
Hrpfer e & (3mpfey 1 A St At 7 2))

<

Ans

SHH©

Question ID : 26433069535
Status : Answered
Chosen Option : 3
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Q.18 wﬁ@a YTYT #, FATHER ®! IFWMHW’ fr@T ST @, 3R SISTER &Y ‘VNVYHW’
?ﬂﬁqz—cwﬁ ‘UNCLE’ &1 frd yoR forar s

Ans x 1. XSHQ
X 2. XSGQH
o 3. XSFQH
X 4. XTGRH

Question ID : 26433067989
Status : Answered
Chosen Option : 3

Q.19 % g URaR & ©: Gew fave, diy, TR, fii, JuA iR aRA ts qureR AW & uRa: O
F Fg P 3R T F> 3 81 favw, w%a’ésh?zﬂwwﬁ%a%lﬁw farmer SR
Y I & St T7ra A A37 71 g, faRTe & 21 iR TR WA RIS 81 R, B & a1
IR g WM R 33 31 778 | I Y 3R v & St e & Sa1/91 32

Ans X 1.dRA
X 2.9
X 3T
o 4.9

Question ID : 26433068866
Status : Not Answered
Chosen Option : --

Q.20 I Aoy T 994 FIT &l Ui 3HeR-THE A W 7R TalE 8 R 1or 3ER-
G U H&R-HE A Wafld § 3R I iaR-wwg Fe eR-"g A wala g
TIDE: RRAU :: REST : PVPF :: GAME : ?

Ans 1. EZJU
/< 2. TZNN
75 3. HBNF
X 4.1COG

Question ID : 26433057485
Status : Not Answered
Chosen Option : --

Section : Part-B-General' Knowledge and General awareness

Q.1 ﬁgﬁr?aﬁﬁaﬁqmaaamﬁguﬁﬁ&mmaﬁ%mu-m%@mﬁmw
HAT 82

Ans X 1. giferaH
X 2. fafmw
X 3. fm

o 4. TIEIoH

Question ID : 264330115175
Status : Not Answered
Chosen Option : --
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Q.2 YRd ¥ FHIUHT F Hey H, NPR $T qof 9 o1 82
Ans . 1. National Population Register (TRl U= {Ir?rNCQ)

2 2. National Population Record (=-d GrEaiR Rebia)
X 3. National People Record (A=Hd Hud Raprs)
< 4. National People Register (WW? \;ﬂEQ)

Question ID : 264330116030
Status : Answered
Chosen Option : 1

Q.3 frafafea & 3 fFaa segar 2022 # YR & 2 gy diow feam v g o
Igure fFar?
Ans X 1. oY Rig

o 2. 5 HIdt
X 3. fFfan drarwur
X 4. S e

Question ID : 264330114956
Status : Answered
Chosen Option : 3

Q4 giad 3R qaPHRM ity &1 gz 6w 7 & e w ganm u1?
Ans @'1.?’13731

X 2. Memast

X 3.Fwn

X oa.Tm

Question ID : 26433089128
Status : Not Answered

Chosen Option : --

Q5 YR A gt IR TRRTS Jal &1 smar 5w adf far war Ut
Ans 7 1. 1982

X 2.1941

X 3.1978

X 4.2015

Question ID : 264330116249
Status : Not Answered
Chosen Option : --
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Q6 HAEHIGREAT TP qar gl
Ans X 1. Gfedar IdTe

X 2. 3dred
& 3. fadi
X 4. SRS gaie

Question ID : 264330115310
Status : Not Answered
Chosen Option : --

Q.7 8 3R, 2022 | WHTHY, AFTT SawTAT fawuIvwr U9 fdPT™ §% (NaBFID) & T U§y
ez P &2

Ans X1.{[&IF|T81HT[
X 2. U oH
X 3. 30 HAR g
o 4. ISHROII™

Question ID : 264330115013
Status : Not Answered
Chosen Option : --

Q.8 HTT AT g U ¥ fRifded #§ wRd & Fafafea § & e wger gr1 w=mn s g2
Ans X 1.Rm@

o 2.9
X 3.feg
X 454

Question ID : 264330105968
Status : Not Answered
Chosen Option : --

Q.9 2018 #, ARG & T id ATe® bt RIHR fha= sftar?
Ans X 13797 4R

X 2. HIGH geHuaH gt

X 3. UgHfd ImfenT TRt

o 4. 3@ qeft et

Question ID : 264330115821
Status : Not Answered
Chosen Option : --
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Q.10 4y F} dear Aru & forg et wa frar wrar 82
Ans X 1. dfgrer

X 2. TR

o 3. R Wa

X 4. 39 YW

Question ID : 264330115993
Status : Answered
Chosen Option : 3

Q.1 fag Fafafee 3 3 e = &1 defi g 32
Ans X 1.3

X 2. AT

o 3.3

X 4. dfteTg

Question ID : 26433071420
Status : Answered
Chosen Option : 3

Q.12 W4 § Wad ¥ § IfSd Harg® Aferdl & ¥ # fhas vy ffifa g 82
Ans X 1.3IR

X 2.U=

X3

4

Question ID : 264330115204
Status : Not Answered
Chosen Option : --

Q.13 YRa # gia wifa = Frafafea 3 fFae sae & afs o
Ans 1 TE

X 2. ®d

X 3.3

X 4. FUH

Question ID : 264330115418
Status : Answered
Chosen Option : 1

Q.14 10d} vafg g Ft ety Far A2
Ans X 1.2004-2009

o 2. 2002-2007
X 3.2007-2012
X 4.2005-2010

Question ID : 264330116120
Status : Not Answered
Chosen Option : --
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Q.15 fEgwam Afie RufreT THfieR™ (HSRA) St AT fReewft s #gs 4t
Ans X 1. TTE e

o 2. TSI Bieal

X 3. WIS DT ABHRT

X 4.1 fopa

Question ID : 26433089888
Status : Not Answered
Chosen Option : --

Q.16 gﬁzgzﬁ,m‘kvﬁwmaﬂﬂ?%,wﬁsﬁ?w%maﬁ%?mmmﬁmmkgm
?
Ans 1. T3- 7.26 kg AfRTI- 4 kg
X 2. 9%9- 7.5 kg AfZ- 4.5 kg
X 3. 4¥Y- 7.3 kg AfRAI- 4.5 kg
X 4. 939 - 7 kg AEAT - 4 kg

Question ID : 264330115942
Status : Answered
Chosen Option : 2

Q.17 UPSC & Hew| BT Prd®Td ATl
Ans X 15793165 Y Bl 3

X 2. 438162 T BT MY
o 3.6 T a1 65 T8 Bt oy 7 ot TgA B
X 46357162 T BT MY

Question ID : 26433089963
Status : Not Answered
Chosen Option : --

Q.18 W P! W HA AR IEHA Y ITA RIP A NS R qaR G dIseE
¥ ded AT g1

Ans g1 Td Gadl
X 2. 9d SHIBRI
X 3. Az Rigiar
X 4. AU BT URdTa

Question ID : 264330115628
Status : Not Answered
Chosen Option : --
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Q.19 =M gRuUgy &1 ifaw d&g

1Y gt Seprepvor JARd S 81

Ans X 1.7
X 2.Uu=
3.3
X 4.3

T4 B g aF & Tl & fag Tt uasy FAdl &

Question ID : 264330116167
Status : Answered
Chosen Option : 2

Q.20 I |7 &7 HIRA H TIHT 60 U= WY (dispensaries) TaTdl 82

Ans X 1. TgHRI&ax
X 2. adef® &
X 3. 9gad &x
o 4. ol &m

Question ID : 264330115557
Status : Not Answered
Chosen Option : --

Section : Part-C-Elementary Mathematics

Q.1 uw f&EHT Rs.950 & @IGT WITaT & 3R Rs.1140 ® IT ST § | @14 WI=Ia 91 PIIg|

Ans X 1.16%
X 2.21%
X 3.19%
o 4.20%

Question ID : 26433075144
Status : Answered
Chosen Option : 4

Q.2 9% 9 IS 1A JTd Y, A 1780 3R 2452 FY fauiford w31 R Tde RAUfTH 4 v

CECIE]
Ans X 1.24
W 2.48
X 3.16
X 4.52

Question ID : 26433081468
Status : Answered
Chosen Option : 2
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Q3 %wa'@ﬁ Rs.15,000 # 39 W, YR B Rs.2,000 1 I gell § 1 W1 Wferra g1
?

Ans X 1. 11%
X2 10%

v 3 1129
17

x4 1020
17

Question ID : 26433080305
Status : Answered
Chosen Option : 3

Q4 25 BT B TH F&l & YId 31 uen F ofa 3w 64 §1 e Fi BT F il H1
YT HHTT: 54, 64 3R 67 B VI TR Terd! H 44, 46 3R 61 U erar T g, @

e} 3fTd BT AT B |

Ans X 1.65.45
< 2.64.55
o 3.65.36
X 4.64.54

Question ID : 26433076220
Status : Answered
Chosen Option : 2

Qs !Ti%Rs.%,;)ﬁ)%ﬂﬂﬁrzaﬁaﬁ?ﬁ%ﬁmﬁﬁﬁamaﬁmﬁﬁeﬁ?wmmﬁ
EET | , 1 Tehgfg saTel § 9T e’ §I?
Hie: gxmWaa it Apean guife o fard|
Ans o 1.Rs.66
X 2.Rs.46
% 3.Rs.166

/< 4.Rs.196

Question ID : 26433075075
Status : Answered
Chosen Option : 3

Q.6 zx B Y=RIRT 3 T UgA 5% AP B T gfex A G W IUR ot 7€ <A, 5igi st arffes
U Tphgiex ATl e IYR it 7S ¢RI BT aefur= U 218,522 8, ) x BT HIF FT 82

Ans 1. 216,000
X 2. 215,000
X 3. 215,500
X4 716,500

Question ID : 26433075562
Status : Not Answered
Chosen Option : --
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Q.7 T Tiew Ferd H 90% TG GO & 3R Ay Afeme § 1 gl #Y 3id Hars 170 cm 3R
nfgarsii 1 id FHATS 165 cm &1 79 S TS| BY HaTS J1d P

Ans X 1. 1705
2. 1695
X 3. 1675
X 4. 1685

Question ID : 26433075905
Status : Answered
Chosen Option : 2

Qs zsu%%mﬁwﬁ%mwmmﬁﬁmgsm FUY §) Wl & | a¥g 1 Sifra gwa
HTE?

Ans X 1.11640 30T
o 2. 12680 IUT
 3.10850 ¥UY
 4.10200 ¥UY

Question ID : 264330116736
Status : Answered
Chosen Option : 2

Q.9 §a1 TP &1 Bt 14 = A X TPl § 3R i I Bl B 21 3 § B Tt 71 Hear
3R a1 It B Bt T A1y R B F A @7 A

Ans X 1.68
X 2.88
3.84
X 4.64

Question ID : 26433075700
Status : Answered
Chosen Option : 3

Q.10 Ts gAY BT $of YHIT &TEE 4200 cm? B 1 TS TATY B a1 3R ST 15 cm 3R 16
cm &, @ 99TY 1 FaA1S F1d S|

Ans & 1.60cm
X 2.70cm
/< 3.62cm
< 4.3720 cm

Question ID : 26433085494
Status : Answered
Chosen Option : 2
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M 44243 2R 6 —3+/3 BT HAMUN fhar 8
Ans X1 m

X2 V5

X 3. m

o

Question ID : 26433081026
Status : Not Answered
Chosen Option : --

Q.12 gfg Ua &t BHa A 40% P G 8 et 8, O 39 Wud H! fora wfa=ra (1 I=wwa
R a% QuUIfepa) HH fHar sH1 a1y, arfe 9eid R T J9H w82

X1 25.7%
X2 40.5%
X3 35.5%
& 4 28.6%

Ans

Question ID : 26433082780
Status : Not Answered
Chosen Option : --

Q.13 %Nwaﬁmsatrm4 : 53 3R ITHT HEWH FATIGAD 6 3| STHT TTH FAIG FT
?

Ans X 1.168
W 2.120
X 3.72
X 4.88

Question ID : 26433091517
Status : Answered
Chosen Option : 2

Q.14 48 km/h T A | e dTel R GRT 3 G 15 fiFe & au ot 75 g8t @ S|
Ans X 1.145km

X 2. 154 km
% 3.165 km
o 4. 156 km

Question ID : 26433076199
Status : Answered
Chosen Option : 4
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Q.15 &1 3T AT BT 30% HISH W, AT BT 30% ST TR Ed HId! g 3R AT Rs.4,900 ST
I A BT AT AT R?

Ans X 1.Rs.6,000
o 2. Rs.10,000
 3.Rs.8,000
% 4.Rs.12,000

Question ID : 26433076033
Status : Answered
Chosen Option : 2

G 1 em o ST dTe] eI T HYU1 GHIY &A% JId Hifog | (’n =%

Ans X 1.1232 cm?
X 2. 308 cm?
X 3. 2156 cm?
V4 462 cm?

Question ID : 26433075747
Status : Answered
Chosen Option : 2

Q.17 A HEMIP IR QSAUPR & fh P P 8% 3R Q F 4% BT AT P H 5% 3R Q H 7% P TN
1 G1-fagTS 31 3UId P : Q I B

Ans 1 711
X2 4:9
¥ 3 Di_

4 1:7

Question ID : 26433081573
Status : Not Answered
Chosen Option : --

Q.18 212,500 TR 10%, 15% 3R 4% P} HAF Fe frad IR 82
Ans 1. 23320

X 2. 74,150
X 3. 25,240
X 4. 34,520

Question ID : 26433080221
Status : Answered
Chosen Option : 3
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Q.19 A TS H1 B! 18 f3T § &Y Tha1 81 B 50 B P 24 &) # BT a1 21 A 3P B
IR= Hedl 3| fpa Y & a1 B &Y 39 1Y Je-11 A1y, arfe & 15 fa & qum gt
Se?

Ans X 1. 13feT

X 2.14fF

o 3. 1113

X 4.19f

Question ID : 264330116851
Status : Answered
Chosen Option : 1

Q.20 garfa A fig A ¥ fdg B @ 475 Wew/fe @} ara & a1 11 e gor ganfa fig B ®
, T 18 B & W |1 B 1.6 A1 91T A a1 §8, Fore =rer @ gantar 3 gy 1 o6

ﬁgcw 19 B AT LA C A TP 99 B TS ToT gt 45.6 km Y 3R STa&
gufa TAT ARY T 3R w9 o1 fig ¢ W ug=h a9 aw foran war wwg 75

e, aAsﬁ?B%aﬁaaﬂgﬁm'—ﬁ%?
Ans o 1. 19km

X 2.17 km
2 3.18 km
725 4.20 km

Question ID : 26433075295
Status : Not Answered
Chosen Option : --

Section : Part-D-English

Q.1 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
| am been working_here for the past ten years.

Ans ¥ 1. have been working here
< 2. was been working here
< 3. is been working here

< 4. having been working here

Question ID : 26433091372
Status : Not Answered
Chosen Option : --

Q.2 Select the INCORRECTLY spelt word.
Ans X 1.Potable

«¥ 2. Maticulous
/< 3. Erroneous
/5 4. Enterprising

Question ID : 26433073507
Status : Not Answered
Chosen Option : --
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Q.3 Select the most appropriate meaning of the given idiom.

Public enemy number one
Ans ¥ 1. Someone who is the greatest threat to a group or community

/X 2. One who helps the poor
#< 3. The opposition party leader

75 4. A person who always smiles

Question ID : 26433072573
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to substitute the underlined segment in the given
sentence to make it a meaningful sentence. If no substitution is required, select ‘No

substitution’.

One must not only have the ability to read voraciously but have the necessary training
in comprehending and remembering all the relevant details.

Ans X 1.not only have the ability for read voraciously but also have

X 2. not only have the ability to read voraciously but also had
& 3. not only have the ability to read voraciously but also have

#< 4. No substitution

Question ID : 26433092045
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate option to fill in the blank.
Scientists are able to quickly the outbreak through a new immunisation.
Ans X 1.quest
& 2. quash
< 3. scatter
< 4. quench

Question ID : 26433060336
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate ANTONYM of the given word.
Dignify
Ans X 1.Cure
< 2.Adorn
X 3. Oblige
«" 4. Condemn

Question ID : 26433090781
Status : Not Answered
Chosen Option : --
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Q.7 Select the most appropriate synonym of the given word.
Fascinating
Ans X 1. Revolting
5 2. Dominating
75 3. Intimidating
" 4. Interesting

Question ID : 26433073982
Status : Not Answered
Chosen Option : --

Q.8 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully:
Shakespeare was both a dramatist (better than) a poet.

Ans  # 1. and
5 2. when not
/X 3.as wellas

X 4.or

Question ID : 26433088798
Status : Not Answered
Chosen Option : --

Q.9 Select the INCORRECTLY spelt word.
Ans o 1. Frekquent

< 2. Ferocious
X 3. Collide
75 4. Coherent

Question ID : 26433073731
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate ANTONYM of the word given in brackets to fill in the
blank.

The company of friends made her feel (cranky), as she was all alone in
apartment.

Ans X 1. awful
< 2. wishful
X 3. fearful
«” 4. cheerful

her

Question ID : 26433089747
Status : Not Answered
Chosen Option : --
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Q.11 Select the most appropriate ANTONYM of the given word.
Symbolise

Ans X 1.Link
X 2. Align
X 3. Slide
& 4. Hide

Question ID : 26433066088
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate homophone to substitute the underlined word in the given
sentence.

These ornaments are coated with gold.
Ans X 1.guild

X 2. gilled
< 3. gel
o 4. gild

Question ID : 26433074013
Status : Not Answered
Chosen Option : --

Q.13 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

She have / left by the time / | reach home.
Ans  * 1. She have
75 2.1 reach home
75 3. left by the time
5 4. No error

Question ID : 26433071860
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate meaning of the given idiom.

Silver tongue
Ans X 1. Speaking to discourage people

o« 2. Speaking with an eloquent expression to convince people
25 3. Speaking to annoy people
< 4. Speaking to bore people

Question ID : 26433074442
Status : Not Answered
Chosen Option : --
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Q.15 Select the most appropriate synonym of the given word.
Splendid
Ans X 1.Authentic
< 2. Enticing
& 3. Spectacular
X 4. Stationary

Question ID : 26433087913
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank no. 1.
Ans X 1. adult

& 2. audience
< 3. association

< 4. accomplice

Question ID : 26433091359
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank no. 2.
Ans X 1. choice

< 2. briefing
X 3. catch
«" 4. hindrance

Question ID : 26433091360
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans X 1.accorded

" 2. experience
< 3. keened
X 4. saved

Question ID : 26433091361
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans X 1. money

X 2. profit
75 3. merit
¥ 4. confidence

Question ID : 26433091362
Status : Not Answered
Chosen Option : --
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Q.20
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.
SubQuestion No : 20
Select the most appropriate option to fill in blank no. 5.

< 1. happiness
X 2. trick
«" 3. nervousness

& 4. childishness

Question ID : 26433091363
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi

Q1

Ans

P A fAwe ¥ Ao / 99 Uraaras W vl # Jfe 32
o 1. I, HiaT, gefe
X 2. i, e, =R
X 3. TS, foere, Fgrar
X 4. 9H@, 3UATIH, R

Question ID : 26433063030
Status : Answered
Chosen Option : 1

Q.2

Ans

fFrafaf@e are ¥ Y@iferd s & R R Iuged vafgar e H19-91 gm?
IR & Ay & I THEA @it

X 1. 3l

o 2. T

X3

X 4.3

Question ID : 26433066901
Status : Answered
Chosen Option : 2
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Q.3 3o fordhe & Qe A Aifga A TR fermi
o w91 gff Sfia 2rsg gRT A gerak 3 R iR

Ans X 1.3

X214
o 3. e
X 4. gl
Question ID : 26433062612
Status : Answered
Chosen Option : 3
Q4 R Ry wisg & fore S areizn fow e faweul & & gfAw)
Iafee
Ans 2 1 NI AS HIAE
X 2. R 3if&rd 3rese de @
X 3 SiguAE HEl
X 4. S B SEATE
Question ID : 26433062391
Status : Answered
Chosen Option : 1
Q5 fofafEd e ¥ R Suge ade s 8-
R ¥ Ay #9 aren
Ans 1 aid
X 2.3
X 3. YEaH
X 4.
Question ID : 26433065750
Status : Answered
Chosen Option : 1
Q.6 st T 7Y FxMier ¥ Vo F e Rurer &) fae= F =u d aim)
19 ® Ugad Vg [AUTHR $1 waigar v 8-
Ans @ 1 TG
X 2,981
X 3.Rig
X 4.TF4a
Question ID : 26433080858

Status : Answered

Chosen Option

1
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Q.7 ‘qeigY Yeg b forw IR areaiz 8-
Ans X 1. fSO@T M dET g

2. a1 I e @

X 3. st 7dT wet 8

X 4. %1 IYR da1 gl

Question ID : 26433065870
Status : Answered
Chosen Option : 2
Q8 fmfafed & 3 sxs are Hi9-a1 82
Ans X 1. G50 ORI EA ST 1
X 2. 59 77 e ueTs 31
o 3. N WPUT B
X 4. TR Sidd R WER B
Question ID : 26433085138
Status : Answered
Chosen Option : 3
Q9 m@am%ﬁwmﬁmmwwm?
AT G §Y ol WAt o & Ay CEEIETY
Ans g1 SRS
X 2.T3
X 3.3
X 4.3
Question ID : 26433066736
Status : Answered
Chosen Option : 4
Q.10 Fyfafad fawel A | #149 a1 v a1 frar-faRiver ¥ Frawr t@ar 82
Ans X 1.8 uHar g ffelt amul
X 2. fay &1 Fm
X 3. SIfdar 3M1ar Il
o 4. TR TET AL B
Question ID : 26433062955
Status : Answered
Chosen Option : 3

Download from www.MsEducationTv.com




Q.1 g1 A YW@ Weg F T W FaII Xeg BT TG DI
WA AT TAIR B A% TR I 71
Ans X' 1. ®H
X 2. I
o 3. 4R
X 4.8

Question ID : 26433065696
Status : Answered
Chosen Option : 3

Q.12 Wg Mg & fadH | 2T U arew F Rad wiF &t gff Fifcm)

T U= T A $9R P AU HAT ALY
Ans X 1. AR
X 2.fm
X 3.7
o 4.3TaA

Question ID : 26433063088
Status : Answered
Chosen Option : 1

Q.13 greg ¥ ¥Wifhd Weg Y 3T 7T 3<g) & A IR g A 72|
SATETETG & AN & SMYRIT W IYAT 7t IR g 511 o )
Ans #1318
X 2. foma
X 3.
X 4. 3MeW

Question ID : 26433074411
Status : Answered
Chosen Option : 1

Q.14 e sryfat 7 ve aren are gl
Ans X 1. 43 BT T HIAT R

X 2. 5=, 08 aral gl

X 3. 39 HREAEI H §gd AR 5|

o 4. T4 8 9 &1 g |l

Question ID : 26433063065
Status : Answered
Chosen Option : 1

Download from www.MsEducationTv.com




Q.15 wg ral ! AT WA raar g iR Tea e
TudA & ey e | a1 guf 11

Ans

2 1. SRIHSY
X 2. AN
o 3. Ry

X 4. 3|y

Question ID : 26433080875
Status : Answered
Chosen Option : 3

Comprehension:

e Tere §  $9 s ger fau MU 7 U T fawent 3 Teraar I fead =i #) gff
P | UAD HAT & fo7T Iugerd fadbed 1 70 S|

gﬁmfrarqw HRAST 2. BYIHI & TR TP A ST § | ARE-RG
_ aeRiAGRIBIdeE AN 4, GHMER-UA BYA 8d 8| 39 9 el A
5. , &R |

SubQuestion No : 16
Q.16 Ry = 1 ) gfef & fore walffe Suge fawen &1 aa+ S
Ans X 1. 99
X 2.9
X 3. %9
o 4.TH

Question ID : 26433079597
Status : Answered
Chosen Option : 2

Comprehension:

frofafed T § 9 $o s ger fau e 71 fau T fasedt & weradr & Rad wiml & gfd
BT | YD TEAT & oY IUGe faebed 1 =g Bifv|

gﬁmfm’m HASI 2. BUGHI &1 §OIRI TP A ST & | dRE-RG
R deeN BlaeR AN 4, GHER-UA B4 64 & 37 999 o &
5. , 3ER |

SubQuestion No : 17
Q.17 Ry ®IH 2 3 g & fere walfRe Suge fawen &1 9a+ S
Ans .z 1_11’{%[3';
X 2. gl
X 3. uRumm
X 4.710

Question ID : 26433079598
Status : Answered
Chosen Option : 1
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Comprehension:

fFrafifea meiw § § 3o e ger fau e ) o T e ot gerar ¥ Rad R @ gfid
DT | TP T & oY IUGe faebed 1 =g Bif|

g o 1. RIS 2. U YH! €1 TSR THidh A DU €| TRE-RE
3. 3R H oIRI Y dTeTe B I 4. THTER-UF BUd I8d & | 7 995 ga H
5. , JIER |

SubQuestion No : 18
Q.18 Ty wI 3 & el & forg walfe Suga faswed o1 aa=1 S
Ans 1@
X 2.1
X 3.d
X 4. @

Question ID : 26433079599
Status : Answered
Chosen Option : 1

Comprehension:

fFrafafed mer 7 4 $o W ge1 U MY 81w 7 faded @1 Jerar ¥ Rad RT3 gfd
DT | TP T & oY IuGed faebed 1 =g Sif|

S & 3 1. Fe! 2. BU P! 7| TR G I B! & | TRE-RG
3. 3R H gOIRI P dTeTe B I 4. THTER-UF BUd I8 ¢ | 7 99 ga H
5. , JIER |

SubQuestion No : 19
Q.19 Y ®I 4 & gl & fore waifRe Suga fawed o1 9a+1 S
Ans X 1 it
X 2.d®b
K 3 W
o 4.7

Question ID : 26433079600
Status : Answered
Chosen Option : 4
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Q.20
Ans

Comprehension:

fFrafofed T 3 9 T e ge1 iU MU §)1 e T e @t werad @ Rad Rl @1 gfd
BT | e JSAT o Q1Y IUYeKT debedl bl T I

FERICEER RIS 2. TP ¥ 59N TR 7 DU 1 TRE-RE
3. 3MeRIH gl Bl drere d jIe 4, FHER-UF BYd 64 § | 7 99 7o |
5. | &R

SubQuestion No : 20
feaa T 5 91 gfd & e waifis Suge e &1 9= Fifvm)
1.8
X 2.8
X 3.8
X 4. FifS

Question ID : 26433079601
Status : Not Answered
Chosen Option : --
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Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

[Roll Number
Candidate Name
Venue Name

Exam Date 01/02/2023
Exam Time 5:15 PM - 6:15 PM
Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q1 9 Y F 91¢ ) fepy fE T 1 FYT P I A=d §Y, HA 8 3 I 9 9
it A i uelta 819 g, FAvfa &% 7% 1 91 ey sy=1 &1 aifde 0 SR
FHIAIIA 2R |
DY
Tt A DS §
it awg de §)

B3 U T T8 81

s

1. 9t e o< 8 Tha &
2. 79 Ye WA |

Ans X 1. frsHe 1 SR 2 ST SITIR0 FRA B
o 2.7 Fpe 1 3R A E 2 STWRU FRAT & |
X 3. Fad fspef 1 STIR0 BT B

X 4. Faq fspe 2 SR BT B

Q.2 fyfifad # ¥ H19-0 we §f 7€ g # uy g (?) =M W smwtt?
16, 23, 34, 47, 64, 2, 106

Ans X 1.90
< 2.98
o 3.83
X 4.86
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Q3 3: A m, N, 0, P, Q 3R R & Hieh tfdd & S #1 3R g@ P 93§ 1IN F 918 3R
FAaANT AR IS IO, NP IS IR SP TA A ISTRI M 3R P, Q P S1p T A 59
TR 96 2, fo M, 0 & a1 3R TN VI W 1 R BT 981 82

Ans X 1.0 % T3 3R TR _H R
X 2. M TE 3R 3P T H
o 3. P& A3 R TR AW
X 4N TR 3R TN AR

Question ID : 26433074526
Status : Not Answered
Chosen Option : --

Q4 IF fawmer o1 997 HIRT o TR Teg A I yopR Tafla 3 FoRT ToR gkt Teg Uga
TTeg A Hafa B (gl P 31yl 2rea} & =0 B AT § 3R I Weg H SgRI/eiw= 1Ry
B TEI F YR TR TH-gON | AaTerd T8 F181)
SIS : U :: SITUT= ; 2
Ans 177
X 2.
X 3. =R
X 4. T«

Question ID : 26433067369
Status : Answered
Chosen Option : 1

QS5 wF & or@ #ir & areer-areer feufeat g T E E R e 1 ¥ 6 Mgy F = A
2T AT §1 'S g aTel Wew & Ui ek W TTUd ST A fifSw)

Ans X 1.6
X 2.1
X 3.2
44

Question ID : 26433085524
Status : Answered
Chosen Option : 4
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Q6 & a1 3P 3 T ouioT IR 7 T Y T GUOT P MN SR T ST ST R ) gaire s

M
hiEraRchYI
N

- YraAs13id
<= yrafAs13in
<> YHoAsAJir

<+ yHafAs13in

Ans

Question ID : 26433085560
Status : Answered
Chosen Option : 1

Q7 R fE Tu afievr ot T E U 9 96 a9 & e e g iited fEl o e

FEo-T ATeu?
44-96x4+3+58=30

Ans 1+ SR x
X 2. +3R-
X 3. x 3R +
X 4.-3R =+

Q.8 HIF-T A&R-TYE &t TS JTar & uyiRig (?) F RIF W ATH 4TAT B QU B2
ACEG, BDFH, ?, DFHJ, EGIK

Ans X 1.CEHI
< 2.CFHJ
«" 3. CEGI
< 4. CDEF

Question ID : 26433067710
Status : Answered
Chosen Option : 3
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Q9 ?ﬂﬁmﬁﬁaﬁf@amﬁmﬁmﬁmwiﬁmmﬁ%mmﬁm
|
1 power
2 pour
3 powder
4 pointed
5 polite

Ans X 1.42531
X 242315
X 3.4352,1
W 4.45231

Question ID : 26433069283
Status : Answered
Chosen Option : 4

Q.10 3 fawper T 999 &, o) Urad] T | I yHR Wafta 8, R yor gt wemn, gt
TE A et g iR e wem, TRt T @ wafta 3
15:4::21:6::42:?
Ans X 1.8
X 2.12
X 3.1

o 4.13

Question ID : 26433069416
Status : Answered
Chosen Option : 4
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a1 7 fe fry gfv, S wege B F AR ¥ (e aeEe A
?)
N\

I\

N
au
1

x 3.

x 4.

Question ID : 26433069334

Status : Answered

Chosen Option : 2
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Q12 JfE sger AN WA § A HA-UT FHid w2 Bea (7) F TFE W

HTEf?
C B|S 2|4 B|S C
4 C z 4 ?
S 214 BIS 6 B
Ans > 5
1 C
5 4
/ B
X2 S
4 C
4
x 3. C
B i
C S
X 4. B
4 z
Question ID
Status

Chosen Option :

: 26433076635
: Answered
1

Q.13 P9 3AH&R-THE & TS far & vafg (2) F RIF W TS J@dr B quf Ham?
CJEZ, 2, WFYV, TDVT, QBSR

Ans 1. ZHBX

# 2. BHAY
X 3.AGCX
& 4. BGAW
Question ID
Status

Chosen Option :

: 26433068039
: Answered
1
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Q.14 wﬁﬁrcr YTHT &, "ARGUE’ 1 '22620926' 3R ‘BEACH® P! '1924262225' & =7 §
?ﬁﬂwmﬁ "ACCEL' ® {9 UR & foram wimem?

Ans x 1. 1524242426
X 2.1252242426
o 3. 15622242426
75 4.1522226426

Question ID : 26433069553
Status : Answered
Chosen Option : 3

Q.15 I fIwer 1 g PR o T Feg & It yoR Wafta 3 o voR govT g et
Tee | Tafta B1 (Rrea Y 3rfyul Rredl F 0 & AT § 3R I Vg W feRYagw R’y
aﬂm%mmwugﬂ%ﬁmﬁaqﬁm%n
AR : STYFOT :: ?

Ans X 1.3d

X 2.3
X 3. guge™

o 4. Saefd

Question ID : 26433069582
Status : Answered
Chosen Option : 3

Q.16 R faw T Ffte~ur &t TRy v F T8 M F g e Temnei(eiat @ a8 Bt

TRER geaT 91gu?
108 + 9 x 16 + 12 - 27 = 126

Ans X 1.27 3R 9
X 2.16 3R 9
X 3.12 3R 27
o 4.9 3R 12

Question ID : 264330117492
Status : Answered
Chosen Option : 4

Q.17 Bg AR J, K, L, M, N 3R O TP JOTHR Al & URG: 5 B IR @ P 9581 J,NF
€ IR G WF W I3 O, Maﬁv ﬂiaﬁmmﬁa'o"r%m L & 915 3R gu &I
RIS 0 P arE 3R S Ta # S 7182

Question ID : 26433069479
Status : Not Answered
Chosen Option : --
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Q.18 g simen ® wy-RIg (?) F ®ME W 49 @ WEw etz
1,5, 7,25, 41, 61

Ans X 1.8
X 2.10
313
X 4.12

Question ID : 26433067842
Status : Answered
Chosen Option : 3

Q.19 Tw Ay Be UMW, *heart games' @Y "alarm coffee’ & TU | Hea a1 o1 8,
'wrap' ®) 'bottle’ B U H PcdK foan srar % 3R 'wrap games' @] 'bottle Coffee’ B =TT
W peaw far STar 81 'heart' & T Be Wsg T gRI?

Ans o 1. alarm
5 2. wrap

X 3. coffee
X 4. bottle

Question ID : 26433079365
Status : Answered
Chosen Option : 1

Q20 ‘A+B HTHSE'B, ABT AT
‘A-BHT A3 'B, AP AT ?
‘A@B BT A8 'B, APTHE &
A*BHTAfEB,ABTIIIE
gfEA*B+C@D-E %, @ E, A 5T yeR Tdfta 32

Ans o 1.9
X 2. 987
X 3.9
X 4. unh

Question ID : 26433068532
Status : Answered
Chosen Option : 1

Section : Part-B-General Knowledge and General awareness

Q.1 T R B frde AER, o gfe, _dAgEgEd
Ans X 1.1944-1945

o 2. 1934-1935

< 3.1953-1954

X 4.1950-1951

Question ID : 26433089922
Status : Answered
Chosen Option : 2
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Q.2 2013 FT AT TIeT 3R Y& ATUFTIT (NFSA2013) HIRT BT AT S1aTdt & ol

FfY aTeT WreTs UG $dr 2|
X 1.85%

% 2.65%
o 3.75%
X 4.95%

Ans

Question ID
Status

1 264330116156
: Not Answered

Chosen Option : --

Q.3 37T MR A 2018 & T wifta Are® AUFTeH RIPR Sitar|
X 1. Sffe

X 2. #fogd

X 3. PUD

o 4. W

Ans

Question ID :
Status :
Chosen Option :

264330115876
Answered
1

Q4 fFE URd & 509 g7 AT & =0 § 39y ot 32
Ans X 1.3qU I dferd

X 2. YT dobe 30
& 3. YoIT IRGd dgdS

X 4. TR 3R ATs
Question ID : 264330114982
Status : Answered
Chosen Option : 3
Q5 FumE @9 [RER w1 feam wimar 31
Ans X 1. A9 % edl
X 2. 89 F vaH
X 3.9 % g9y faarst
o 4. T F DA
Question ID : 264330116290
Status : Answered
Chosen Option : 4
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Q6 ﬁmaﬁmwmmaﬁémummmaﬁ%mﬁ S 9= P RIS &8 T
? a8 Siarfa Iwerd g

Ans ¢1_faﬂzﬁ“\r¢zm&ﬁ€rﬁw
X 2. g SHISR sifAfgw
X 3. g e sifefaw
X 4. HRTT fferge sifdfan

Question ID : 264330116222
Status : Answered
Chosen Option : 1
Q.7 TRuUTIHTSN B i, MGR 3R IReia f5a st & siafa oma 82
Ans X 1. 10df
X 2.13dl
X 3.11dt
o 4. 1241
Question ID : 264330115614
Status : Answered
Chosen Option : 4
Q8 ufteht awidir awaTe & SR AR & we A ST T R Bt
HEEdr | Heg el gl
Ans X 1. U (frost)
X 2. 9a T (wind)
X 3.3 (fog)
o 4. gy (precipitation)
Question ID : 264330115526
Status : Answered
Chosen Option : 4
Q9 g & | P AT 3Uge BT gaRT TR0 32
Ans X 1. faged
X 2. ggEEYaT
o 3. Feme
X 4. g
Question ID : 264330115252
Status : Answered

Chosen Option :

1
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Q.10 B |1 URATT @16 31 & T R 3¢ T F3A & g RrdeR 82
Ans o 1. BT THAT FAEOT G

X 2. i (NIT1) SRt

X 3. ST e ST §Ta

X 4. VRGT IR SR SR SHIUMT SR BT B

Question ID : 264330116076
Status : Answered
Chosen Option : 4

Q.1 Ryder 1948 H, WRH /AT A 30+ gEa&Y gRT forsy RRama W aifreR wufa o feran
Y12

Ans X 1 fAgY
X 2. o
o 3. 3@
X 4. FTRUY

Question ID : 264330115688
Status : Answered
Chosen Option : 3

Q.12 fofefad o 3 forg 9hf I 3 Y Y S[TURT D1 @B g I91aT Y12
Ans g1 SEH

X 2. fdgur

X 3. 950

X 4.3RY

Question ID : 264330115452
Status : Answered
Chosen Option : 1

Q.13 T IUHYT, St TRy § YRT B SURRITY BT qa o7 Tpar 8, A FETH
ST ST 81

Ans X 1. 3flsiHier
X 2. TieHex
¥ 3. TR
X 4. gRUIR

Question ID : 26433089647
Status : Answered
Chosen Option : 3
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Q.14 {5t uda & ufauas fezn & fRya &6 YA & &7 &) |1 Hgd 82

Ans 1 aufdfd em
X 2. TS &
X 3. 3rgard fa=m
X 4. vfauas fa=m
Question ID : 264330115981
Status : Answered
Chosen Option : 1
Q.15 7% 2022 # ford Aifae a1 A U A F 1Y FAUG! F TeAd HRA AP S OIS
&
Ans X 1. Ao @S
X 2. AR YT
o 3. DUd Resa
X 4. i mieh
Question ID : 264330114914
Status : Answered
Chosen Option : 1
Q.16 15 HTH, 1950 P TISHT ATART BT TS & remerar H forar T Ut
Ans X 1. UON 3fegd HAM
X 2. guu I 9
o 3. SRR d1d g%
X 4. Sfer e
Question ID : 264330115380
Status : Answered
Chosen Option : 3
Q.17 wfyultye arfes ud % yfd ITReErd g1t 31
Ans 1 TIEH U
X 2. gurd
X 3. T
X 4. g™
Question ID : 26433086672
Status : Answered
Chosen Option : 3
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Q.18 T WP a¥gY SR FaTy Wit WY IuviiFarsit wt =gt At et §, Iarevor & forg vanm

Ans

M, s 9 # A fFas siafa wifea o) ot §2
o 1. TS Iy

X 2. ot awqe
X 3. TE a¥gy

X 4. TP THY

Question ID :
Status :
Chosen Option :

264330115279
Answered
1

Q.19 3R7H ¥ fFa UPR F fIg Ia 7T o1 &2

Ans 1.3
X 22
X 3.6
X 4.5
Question ID : 264330106203
Status : Answered
Chosen Option : 2
Q.20 Hrarl Ffa, Traasor s fra uRda et T Akt | T&lia 82
Ans X 1. PfagE!
X 2.9
X 3. WRadreH
o 4. BUBl
Question ID : 26433069902
Status : Answered

Chosen Option :

2

Section : Part-C-Elementary Mathematics

Q.1 ?Wﬁwmﬁ%%?sooﬂs‘fﬁ@rzuﬁstmlﬁs‘fﬁmﬁuﬁmaﬂi’rm
?

Ans

o 1. 19 TfaRrd
X 2. 22 ufaw|
X 3.21 ¥faw|
X 4. 24 gfa=ma

Question ID : 264330116826
Status : Answered
Chosen Option : 1
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Q.2 99237 T 7

2021
a0 - P ATHA 1 HIY

Ans X 1.0
o 2.1
X 3.4
X 4.2

Question ID : 26433080385
Status : Answered
Chosen Option : 2

Q.3 AP I B B ATd A 30% P 21 AT AMRB, M7 madt e A NS A g, A D!
aﬁgaﬂggﬁmmmsaﬁweﬁaﬁﬁwﬁﬁam,masmw
T ?

Ans X 1.117m
2 2.90m
/< 3.36m
W 4.27Tm

Question ID : 26433080051

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 U® fe 8 9 & 320 kms%m%, 54 H 40 kms ITSfha garar g o fibe 7 4¢ &
40 kms TodT 2 | ITCTh DI IGEIGE: Y|

Ans X 1.22 kmph
< 2.22.22 kmph
< 3.18 kmph
o 4. 20 kmph

Question ID : 264330116686
Status : Answered
Chosen Option : 4
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Q5 T GPTER U I H 5T Y4 W 10 V=T 3 11 W F=ran 3 b 30 vformra w0
oI & STC BT STUNT BT 3| SHPT ATH FT 82

Ans 3
X120 FIGEG
5
X2 252 PIGEIG]
4
X3 21 EIGEG]
4
v 28 FIGEG
Question ID : 26433079864
Status : Answered
Chosen Option : 4
Q.6 2l af Ugd, TP WEX B FHBAT 66000 2 | Tgd af A SwE A 5% B g g 3R g
¥ & 5% B F g5 | MER B AN TG T4 BT
Ans X 1.65583
X 2.63855
o 3.65835
X 4.68553
Question ID : 26433075196
Status : Answered
Chosen Option : 3
Q.7 15% 3R 25% Pt Gt AP Fe & WIaR THd ge fda- ghft?
A
"X 1.382%
v2 36 i %
X3 2129
.
X 4 253 %
Question ID : 26433061070
Status : Answered

Chosen Option :

2
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Q.8 uw e wft el uR 20% B e UG Fal 21 98 S USH! $I HH §s PHd W 5%
Pt Sfafked ge UM HdT 8 S Thg YITdH $d & | Th UT8P Rs.1,800 &1 S areit
fEar & g Tovg # frd=n Y sym?

Ans X 1.Rs.1,225
X 2.Rs.800
% 3.Rs.1,532
& 4.Rs.1,368

Question ID : 26433083041
Status : Answered
Chosen Option : 4

Q.9 Rs.500 @I A, B, C 3R D # 39 a¥g & fautiora S1ford o/ A iR B 1 ¢=R1i frames,
C 3R D F! frarex fiyeht em=1Rr &Y 9 11 81, B &Y 4=RIf ¢ Ft e RIRT F 4 AT Y
3R ¢ Ft 4RI D F} ¢RI F 1.5 AT 81 B F R o1 94 710 @y

Ans X 1.Rs.125
X 2.Rs.75
< 3.Rs.250
& 4.Rs.300

Question ID : 26433076038
Status : Answered
Chosen Option : 1

Q.10 Ts afH & Ja-1 A Ugd 40 Ula=ra &) it &) ot § 3R b 40 ufamra 91 g & ot
21 99 # ufowa s | 82

Ans X 1.15Yfazd
& 2. 16 U=
X 3. 18 ufa=md
X 4. 12 gfawd

Question ID : 26433079854
Status : Answered
Chosen Option : 2

QM TH APTHR T & ATYR B} 35971 5 cm 8 3R TP HAE 24 cm 3 T A R I
T A WRT g3 81 39 U $l U VA PR ga-1 | ST Si1aT 2 Forrss SR 3t B
10 cm 81 STATPR T A U=t F} TeE T g2

Ans X 1. 1cm
X 2.4cm
o 3. 2cm
& 4. 3cm

Question ID : 26433075213
Status : Not Answered
Chosen Option : --
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Q.12 p I H1 B Pl ¢ a1 Q 3R R fAaHT H T &1 P 3R Q frass v od # 8
e 3T 24 fire A % P d € 3R R 3V 42 92 A X IHdT 8| 98 I (Yl H) J1d B &
Q B! 34FA B B & fore =nfgul

Ans X 1.24%Q
X 2.20%¢
o 3.216¢
X 4.22%62

Question ID : 264330116906

Status : Not Answered

Chosen Option : --

Q.13 TP I FT $d YFIT &A% d J1d ST FoRIaT Sa18 8.5 mm 3R SMTYR ART 10 mm &1
Ans X 1.855mT mm?

X 2.67.5m mm?
o 3. 1357 mm?
X 4.120m mm?

Question ID : 26433080249

Status : Answered

Chosen Option : 2

Q.14 9 ATRIER A, B 3R € 3 To U T3 51 SR oy Y HwR: 2: 3: 5 rgura
diet &1 e fan) afe B &1 f3m Rs.7,50,000 &, 9 $& a1 Ft 70T BT

Ans X 1.Rs.27,00,000
& 2. Rs.25,00,000
X 3.Rs.20,00,000
X 4.Rs.24,00,000

Question ID : 26433075976

Status : Answered

Chosen Option : 2

Q.15 T fAf3a A W 5 auf & 7% arifes BT & F Rs.4,016.25 PT AR TS YT gl 2
o R T Piforg?

Ans X 1.Rs.10,475
o 2. Rs.11,475
< 3.Rs.11,400
X 4.Rs.9,475

Question ID : 26433075237

Status : Answered

Chosen Option : 2

Download from www.MsEducationTv.com




Q.16 YUY 4 UTpd WSS & T BT A 1 G2
Ans X 1.100

o 2.25
X 3.50
X 4.75
Question ID : 26433075718
Status : Answered
Chosen Option : 2
Q.17 7fe 6 T3V IT 8 ARETY 21.5 fef H U W F1 HeTE B THd 8| 14 T3 3N 10 Afgane
3 Preq # foran vy |2
Ans X 1.9f
X 2.8fc
X 3. 12
o 4.6
Question ID : 26433076209
Status : Answered
Chosen Option : 4
Q.18 192 3fX 480 BT AYTH THTIG X & 100 AT & 60 AfUH ¥ | X BT A FT 3?2
Ans X 1.18
X 2.12
X 3.6
4.9
Question ID : 264330116631
Status : Answered
Chosen Option : 4
Q.19 TH g1 ), SEXTAl B) BISHT UH ¢ ®1 I1d 90 km/h ©, 3R SETE! & HIY TH DI 914 36
km/h §1 98 ¢ Ufd ¥e fpan fiFe & R war 82
Ans X 1.54 fiFc
X 2.40 e
X 3.42
o 4.36 e
Question ID : 26433074939
Status : Answered

Chosen Option :

1
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Q.20 4T Rs.12,000 ¥ T {1 BR Tlleal @ 3R 3§ Rs.14,500 A 99 St &1 SHPT ATH
FRI=Id (G=TIEa & 91g &1 3% aF YuIiied) J1d Biferg|

Ans o 1.2083%
X 2.14.50%
X 3.22%
X 4.18%

Question ID : 26433074920
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 Select the most appropriate word to complete the meaning of the sentence.

The new owners of the newspaper had changed the completely.
Ans X 1.outlet
o 2. layout
< 3. outlay
< 4. outlook

Question ID : 26433088875
Status : Not Answered
Chosen Option : --

Q.2 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

For the last three years, / Sunita had been running / private hostels near this
university.

Ans X 1. For the last three years
< 2. No error
#< 3. private hostels near this university

& 4. Sunita had been running

Question ID : 26433073763
Status : Not Answered
Chosen Option : --

Q.3 Identify from the following options the word which is OPPOSITE in meaning to the
given word.
Opaque

Ans X 1.Intangible
o 2. Transparent
< 3. Shadowy
X 4. Reflector

Question ID : 26433088816
Status : Not Answered
Chosen Option : --
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Q.4 Select the most appropriate option to fill in the blank.

The skeleton of an unknown person has been hanging on the tree last
Wednesday.

Ans X 1.about
X 2. through

X 3. for
o« 4. since

Question ID : 26433074364
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate meaning of the underlined idiom in the given sentence.
The second wave of the pandemic left everyone in the doldrums.
Ans  # 1. In low spirits and despair
< 2. In deep sympathy
< 3. In need of help

75 4. In confusion

Question ID : 26433073759
Status : Not Answered
Chosen Option : --

Q.6 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

Too much bureacracy suppresses creativity.
Ans X 1.Burocracy
75 2. Bureaukracy
& 3. Bureaucracy
5 4. Burreaukracy

Question ID : 26433073555
Status : Not Answered
Chosen Option : --

Q.7 Select the most appropriate synonym of the given word.
Hesitation
Ans X 1. Creativity
75 2. Readiness
& 3. Reluctance
X 4. Prudence

Question ID : 26433073465
Status : Not Answered
Chosen Option : --
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Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She couldn’t get over with Thomas due to his addiction to alcohol.
Ans X 1.get rid with Thomas due to
75 2. get at with Thomas due to
« 3. get along with Thomas due to
X 4. get off with Thomas due to

Question ID : 264330100989
Status : Not Answered
Chosen Option : --

Q.9 Select the correct word for the blanks in the given sentence.

There is a provision of delivery in every courier service whereas a child can
his feelings at the age of 2 years or so.

Ans X 1.normal
X 2. slow
o¥ 3. express
X 4. fast

Question ID : 26433060536
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

His ancestors are native to this place.
Ans X 1. Community

X 2. Innate

" 3. Foreign
X 4. Enemy

Question ID : 26433072240
Status : Not Answered
Chosen Option : --

Q.11 Select the INCORRECTLY spelt word.
Ans X 1. Doubtful

o 2. Willfull
< 3. Powerful
X 4. Grateful

Question ID : 26433072458
Status : Not Answered
Chosen Option : --
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Q.12 Select the most appropriate synonym of the given word.

Colossal
Ans X 1.Fantastic

& 2. Immense
/5 3. Joyous
X 4. Entertaining

Question ID : 26433088997
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate ANTONYM of the given word.

Dream
Ans X 1.Fancy

< 2. Imagination
/5 3. Delusion
o 4. Reality

Question ID : 26433072208
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The mob broke up the norms of the country.

Ans X 1.disturb
< 2. damaged
&* 3. violated
< 4.invade

Question ID : 26433086464
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate meaning of the given idiom.

Where the shoe pinches
Ans X 1. Tight fitting shoes

5 2. Where the comfort is more
X 3. Expensive shoes
" 4. Where the difficulty lies

Question ID : 26433072221
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1.span

o 2. cycle
< 3. story
X 4. time

Question ID : 26433072056
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. differ

< 2. correspond
< 3. tamper
o 4. react

Question ID : 26433072057
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans 1. hue

X 2. fibre
X 3.seed
& 4. flesh

Question ID : 26433072058
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans 1. with

& 2. from
< 3.over
X 4.by

Question ID : 26433072059
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans X 1.brought to

X 2. fallen into
< 3. turned down
" 4. broken up

Question ID : 26433072060
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi

Q1 Fufafed o § Y@ifed e & I g &1 v w3a Reawi= 31 gfid $ife-
qIed | YT B FEHTGET B § gI 8, WIS q1ed 991 & IRaa® §1

Ans X 1. gH
X 2. 3R
< 3. ®ral
o 4. 90g

Question ID : 26433091346
Status : Answered
Chosen Option : 1

Q2 <fedt & forg vafy v Fra & @ r ghmr?
Ans X 1.4l

o 2. e

X 3. af¥r

X 4.

Question ID : 26433069943
Status : Answered
Chosen Option : 1
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Q.3 e Wit & 77 3R ufar 7 3 AT & o 3 @ W A A B2
Ans g 1. 3R
X 2.9ya
X 3. FdANT
X 4. fqyar
Question ID : 26433092245
Status : Answered
Chosen Option : 1
Q4 TG S IR AR TR & g de e &-
Ans X 1. IRGHNI
X 2. IRENT
o 3. TR
X 4. 94
Question ID : 26433062227
Status : Answered
Chosen Option : 3
Q5 fmfared o & foa ds A o=fs 82
HeTed! adi 981 sftdd pafafy H
Ans X 1. Sidd
X 2.
o 3. Ba
X 4.5
Question ID : 26433066750
Status : Answered
Chosen Option : 3
Q.6 Far 7 Wk F WU F IR § &) 91 FE 8, 98 3 WE B
SR ar # fraa == @1 gfif 3 geTat gy sk
Ans X 1.9R8
X 2,38
X 3. TR
o 4. 9178
Question ID : 26433062616
Status : Answered
Chosen Option : 4
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Q.7 g are & Y@ifea s & e i geraw g 7 e § @ 3w
ST 3= 3P| A UTH g1 4T, Hi & 7 ) Wifd el

Ans g1 Gaioll 8T8l

X 2. Haq dren
X 3. ool Rga
X 4. BT R B
Question ID : 26433062302
Status : Answered
Chosen Option : 1
Q.8 SR A @HET @ATI”
IR a1 BT 30T TAATHSBTA § FUTAROT FIT FRI?
Ans o 1. SRS M W16 &
X 2. G SR AT @ R 8l
X 3. S A G W gh|
X 4. SR Y WHT @ IET e
Question ID : 26433066977
Status : Answered
Chosen Option : 1
Q9 fFufafea & & = ar &-
Ans o 1. Tied T BT 3T Ry B
X 2. Tigd T o 3iden Ry B
X 3. Hig Ty T 3y Ry g1
X 4. e ™ B 30em R 8|
Question ID : 26433066840
Status : Answered
Chosen Option : 1
Q.10 FPuRifEd W< # | S 1 Weg ST g 22
Ans X 1.Te®H
o 2. 94
X 3. R
X 4. T
Question ID : 26433091317
Status : Answered
Chosen Option : 2
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Q.11 fFufafEe e & e oe ardfe e w1 8m?
S gBT P AT

Ans X 1. 3%
X 2. 3MMd
v 3. U@
X 4. SR

Question ID : 26433069987
Status : Answered
Chosen Option : 3

Q.12 $19 A fawer & uRn: e He fhar o1 gt g faar mar 81
Ans o 1 R S

X 2.9, foraen

X 3. ¥, A

X 4. gL A

Question ID : 26433063046
Status : Answered
Chosen Option : 3

Q13«1 ITd PGS fear)”
IWIF IR H FRS T~ Jfe vgaa: Hufafed & I s 9 &1 99+ Sifv|

Ans X' 1. oM U4 B GEIS |
X 2. goTg 99 &1 g o
X 3. o A 9 &1 G 18T |
o 4. g 71 19T B THH 41|

Question ID : 26433066964
Status : Answered
Chosen Option : 4

Q.14 Frafifee are & Yaifra werdf e 3w o1 Suged 3 gang|
TR 7ia & fiud & U-aw IS 7

Ans g 1 SO
X 2. TIfd-=mUd
X 3. Uy
X 4. QIR 9IG-91d

Question ID : 26433091331
Status : Answered
Chosen Option : 1
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Q.15

Ans

SMYFF TN MR B FH Ugd & 8
IR 9T § TR & Iedl 3T DI AT UG TN B2

X 1.9gA
X 2. 3fed
X 3. gt
o 4.

Question ID : 26433062689
Status : Answered
Chosen Option : 4

Q.16

Ans

Comprehension:

FIT | T e & fore qa) Iugad faswed &1 9a4 Hiforg|

YR P YL 1. B TgT B YT ST 2. TR 31 PR 3T
ST BT TTeM § 3R T8 FaI g1 HUF 3 off 3. T Ed 8| T 3% =B 9
Tg faaTs T 81 § 1 YRA &1 fFaM 30T soaam Siges 4. B 3R UFTEI R TR
Wt TR R 7Tt 3 st BT Y TR 31T 4 5. Gaikd

SubQuestion No : 16
feaa w1 91 gfd & e T Sugad faweu &1 994 Fifvm|
X183
X 2.R
W 3.3
X 4.3

Question ID : 264330110981
Status : Answered
Chosen Option : 3

Q.17

Ans

Comprehension:

Fafafed maw ¥ $o wsal @ el foar mar 81 3 e e ot weraar 3 fad it @t gfd
FINT | T e & fore qa ISugad fdeed &1 9g- Hiforg|

YRA Y YL 1. 81 TeT BT SHfYHTRT STaT 2. IR 81 B S ITDT
SHifaesT 1 T 7 SR I8t SIaw § | b 3Tt ot 3. T a1 8| T 5 axd! A
g faarg < @1 § b HRA &1 b1 U1 AT BISR 4. B SR YT T 81 IR
"t TR SR TITal & offa Bt Yy IR 31T ot 5. Bt 8l

SubQuestion No : 17
feaa w7 2 91 gfd & e e Sugad faweu &1 994 Fifvm|
X 1. 99y
o 2. 9dt
X 3.uda
X 4.9CH

Question ID : 264330110982
Status : Answered
Chosen Option : 2
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Q.18

Ans

Comprehension:

Fufafed T § $2 wsal & el foar mar 81 3T e st ot weraar 3 fad it @t gfd
FIT | T BT & foIT qad ISugad fdeed &1 9a4 Hiforg|

HYRA B YU 1. T TeT Y AMYBT ST 2. Fat 31 P & ST
ST BT TTe § SR F5] Iaud g1 H 31l i 3. o 35 7| T T8 RS ¥
75 s 3 361 3 b WRd @1 5 ST ooau Sl 4. @1 3R YT XET 31 R
1t TR 3R 7iTa & o BT ufiy W 311 ot 5. B3I

SubQuestion No : 18
fraa = 3 91 gfd & g Tad Iugad fRAwer &1 9g+ Fifv)
X 1. e
X 2.fay
o 3.711a1
X 4.3

Question ID : 264330110983

Status : Answered

Chosen Option : 3

Comprehension:

Fmfefead e § g gl &1 ger f3an M 81 fou T fawedt @t weradr 9 Rad -t o g
FIT | Y HBAT & foIt Tad Iugad fdawed &1 Tg- Hiforg|

YRA S Y 1. B TgT Y ARSI ST 2. Fet 8| B & ST
ST BT TTeH § 3R T6T Hau 81 HUD 3 off 3. o B ¢ | T 58 axd! ¥
75 fowTs & @1 ] 6 WRd &7 5 ST oo Sisa 4. BT 3R YT IET R 1 R
1t TR 3R TiTa & o B ufty IR 31t ot 5. LI

SubQuestion No : 19

Q.19 fYad T 4 Ft gfd & forg we Iuged fawew &1 7= S|

Ans

X 1. g R
X 2.4
X 3.9l
o 4. TR

Question ID : 264330110984

Status : Answered

Chosen Option : 4
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Comprehension:

Fofafed T ¥ $2 wsal & el foar mar 81 3T e st ot weraar @ Rad it @t gfd
FIT | T B & fort Ga Iugad fdswed &1 9a- Siforg|

YRA S YU 1. B TeT Y AMYHT ST 2. Fat 81 P & ST
et o7 A § SR T8 U § | U 1t oft 3. H G 7| T TS a1 9
75 s ¢ @1} 6 WRd &7 5 ST soaum SIsa 4. BT 3R YT B 1 R
1t TR 3R TiTa & o B Uiy o 311 ot 5. B3I

SubQuestion No : 20

Q.20 f¥ad T 5 F gfd & g we Iuged fawew &1 7= S|

Ans

X 1. UBdS
X 2.¢@®
o 3.3l

F S RCICIE]
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